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 !�7
 � �'��%
�
 #
�� 
:�,��  �  <�+
  � 
:�, 6��
 #
�� #""�4<�+���"  

  �G�
�� 
��!� #� 
:�, ��
�� ����8� �=  ���� 1� D���� ��")������ ��>��� ( #
�� 
:�,��  �  <�+� ��
�'��%
�� .  

 
��9�! 
:�, ��
�� �'� ���
 ��  �G�
�� 
��!� #� *
���+ 
��! ?�
�
 K��0��� ;��Ei  �  �+� ��  
 �'��%
�� #
�� 
:�,��) ��>������!�� (�4<�+��� ��7�%� #� 3!�7=  ��� 4 ���.  

5 ����+��  ��+
�� )
+�023(  
,���  


��� #� ����+��  ��+
��� ����+�� 1���
�� ��'��� 
���� 
���%� 6�. ,����� ��" N!'�  .  
 E
�
�� ���Z��L����� �   

����+  ��+
 R!+�........ 
���  9�! ��L 
����
�  
����� ,�%� 1� �����+
�9���� 
����� ,�%� 6�. 
3!�����. 
����� /�0
 1= 6�.  ��+
�� ��"  0��
� 
����
� �����+  
����� ,�%�  �� 1��
 V�� 
��! 

 
��! 1= ��!�7  �%� � 3���+��
�>
�� 
����� 3���+ .  
5S1
������  
��9�!�� 
:�,�� 
����+��   

� 
��+� ���

 #
�� 
������� ������ 
��9�!�� 
:�,�� ����� �����)3���+�� 
��! ( 
������ �'����
 
��9�!�� 
:�,�� 
����+��  

 E
�
�� ���Z��L����� �   
  � ��������G
 #� 3!��� ��� 3���+ 
��! #� *
:�, 
��9�!�� .  
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%�
�
��� ?�� ���( )
+�028(  
  

1���
��2 :  
 ����8��� ������� ���
�            ���
���  

  
  
  
  
  

�8(=
 :  
S �����!�� ?�� 6
+ �= ��'��� 1��� ��� 
7�%� #� 3!+��  � 3������ 
+�����  ���
 1��� 
������ 2�" #� 

3!+�� 
7�%� #�  ���  ���
� ��'��.  
SI�9= 
7�%� #� *�� M��9�� /����  ���
� 
7�%� #� *����
 1��� ����� N���� 
������      .  
  

1���
��3:  
� ��+ ,�%�  ���  K��0�  ��
�4 
%������ 
���>��� 
�����  

     
         

  
  
  
  
  

 �<����� �<�!� ��+�� ,%�� ��!�7)�����!�� (*��7 N������ ,�9�� 
,���� , ����
 !X��� ��!� ��!�7 ��98� ��"�
��98� ��"  �
��� K��0� �'�� !������ 
�����'��� 3��!�� ���� .�� R�� *���
�� !�7 -#�� �7���. K��0�

 ,�+���)
��G�� (19�� �= ��98� ��" 3���+ 
��! #� D��
�� �'>� ���.  
  

1���
��4 :  
����
�� 
��:�,��� 
���>��� 
������  ���
  

  
  
  
  
  

1���
��12:                       
 1� 3!�%���� 
:�,�� 1Z� 
����� 1������ 1� 
������ 
����� 1= ���

 �'��
�� ��� N�,�9O� �����.  
����� 1� 
:�,��  %
�
1 ����� 6�. ;��2 ����+  ���� .Q  

  
1���
16:  
1S 
��9�! 
:�, 1<�9
 V����. 
2S D���B�� ��;9�� 6�. V���� 1� 
:�,��  <�+

  
3S 1�,��� ,�+��� 6�. K��0��� 1� 
:�,��  <�+

 : 3���+���� D���B��) 1X9��� -#�� K��0���

,�+���( 
4S  
��:�,�� 
����������
�� 

@�
 

A
�(� 
BC��% 

%C�� 
��3 +O2 

  

���2 Q ���1 

@�
 

Ei 
Q   

Ei 
��3 +O2 

  

'��
 

����  

 �(�

 +
�
��  �
����  	����

�#�
�C�  E��,
 

F��� 


��� 

F��� 


��� �(�
 :
(� 

�0G� 

����� 

%BC�� 

@#"� 

%C�� 


�( F��
� 	�(
 E��,
 

	$�� 

F���
 
���
 

H0G� 
����� 

BC��% 

@#"� 

%C�� 
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������:  
  

                                                                                            
                                                                                            

     

��:�,�� 
������:  

  
  
  
 
  

1���
17:   
1S � -����*
���+ 
��! #� ���G
 R!+ *�8 
��9�! 
:�, ��
�.  
2S  3���+��� -���� 6�. 
���%��� 1� 
:�,��  �+

Q) ����+ ,��( 
3S 
����� ��
�� 	
��:�,�� 
��0+��  ���
 :-����  

  
  

    
 1���
19:  
1S ��,8� 3!+�� (����� ,�G>�� 
��: 6�. ��5��� ���� .  

 1
������ ������ (����� ��" 1�� ��. )��
�� (V����� N�, 1� *��7 
%�,��� 3�%�� 
��: 6�. ���� *�Z� .  
S 
������ 
:�,�� V�%� 1= ��5��� ��'� 1���� (����� ,�G��� ��!%�� ���

 
������� 
������ 
:�,�� 1= ���

 
:�,�� 3!+�� M�!�� 
�������) ����.(  
2S V�%�4 ��'��� ��" 
%�%+�� #� "3�: "�� 1= 1��� 1��� �7;���7;�� N�, 1� 3!�%���� 
:�,�� 17 ��.  


>+;�:  
 
����� 
����� 6�7 �7;�� !� N�, 1� 
%�,��� 3�%�� ��+�� 1���
�� ��'� �%+4 !��� 1= ����
�� 1���



��� 3�: 
��+ #� !��� 3�: ���$
 �+
 
����� �'
�,: #
�� 
������.  
3S
��:�,�� �;��+
�� K���  �� 
��:�,�� 
������  ���  ����
  
 
  
  

S 
��9�! 
:�, �7;�� !%�� 
����� *��!�. �������  ��+
� 
����� 6�. �7;�� 1� 
:�,�� 2�"  �+

# 
 (����� #� 
����� 
���� 
:�, 6�. 
���+�� 
:�,�� 2�"  <�+

 �� 
���+ 
:�, 
����� ��
�
�

#�������  ��+
� . 
  

 1���
21:  
����
�� 
��:�,�� 
������  

  
  
  
  
  
  

Ei2 Q 

@�
��  
Ei1 

�����  

9
��� =C�� ��
��  	�(
�*
G��  E��,
 
@#"� �B0GH BC��% 

@#"� 

�I��J�  %C��  F)��  

Ei Ei  

9
��� ��=C ��
��  	�(
�*
G��  E��,
 
Er We Q    

Er   

 Ei  Ei  

?����� Wm 

Ei 

��
��� �6=�� 
Ec Epe 

Wm 

:
(
�� +
!=����  

Q 

Ei 

� !���G�� ��
A�
�(;�  %����+O2 

Ei Ec 

Wm �
�����  Wm 
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1���
22:  
R!+
 #
�� 
��:�,�� �4<�+
��� �;��+
�� 1���
� 
���!��� 
����� !�!+
� 1���
�� ��" /��� .  

•  
:�,��  ���=  
)"���              

��
���  
A B  C  


�����  S Ec  S  
(�����  S  0  Epe  
 
��7 +(�8�  EPP  Ec  S  
 
��7 +(���  0  Ec  Epe  
 
��7 + (�8� + (���  EPP  Ec  Epe  

  
• ��0+��
��:�,�� 
:  

1S
�����   :
�����  
 ?���� #�A  ��
�
 �!+�
 �'��
 !�7� 	
:�, 
�= 
����� ���
 4 
���+ 
:�, 

  %��� 3�:  �7 17 
�
��) ��+
#������� .(  
2S
�����  : 
����� + (�8�  

 
����� ���

���%� 
���� 
:�, ?���� #� A?����� 6�� 
�����  0
 ��!�7� B  
<�+

 �� 2�"  6�. 
:�,
���+ 
:�,
����� #� �'>
 .  


>+;� :  
S ����  �� 
��:�,�� 
��0+��  ���
  ������ ��" 6�7 ����
��  0��� .  
S 1�
%������ 1�
>+��� 1�� 
��:�,�� 
��0+��  ���
 A��� *�� ��,� 1= 1�+
�� 

 1������� A� C ��!+ #
�� �4<�+
��� �;��+
�� 
���� 1� 1��
� 6
+  .  
 

��
1�23S  
1S ����
�� 
�%�>��� 
������  ���
  
2S  
��+�� #�2
:�, 
����� ���
 4 . 
3S 
��+�� #� ���3 
7����� ���

 
���+ 
:�, 
����� ���
 

(����� 1� �'
��
�� . 
4S  
��+�� #� 
����� 
���� 
:�, (����� 1�9�2�<����� 1� �'��
�� ,�G��B� ��!%�� ���

 . 
5S ��� 
6S  (����� 1� 
:�,��  �+

#�������  ��+
� 
����� 6�.. 
7S ����
�� 
��:�,�� 
������ 
8S  ?��� 1�+ 
��!�� (����� 
������� 
������ 
:�,�� /�0


#�08� *��, 6�. (�����. 
9S  (����� 
������� 
������ 
:�,��  �  �+

 R�+ 
��+�� 2�" #� 
��>7= 
����� 
���+�� 
:�,�� 1��



����� 
���+ 
:�, 6�.. 
10S ,�� 
��0+��
��:� : 

 
����� ��
�� )
��7+(��� ( 
 
��+��      4 *��, 6�. (����� D��� 
>+�  ��
 

#�08�  
  
  

��
��� 
EcA 

Wm 
EcB 

��
���+?
7� 
EcA 

EcB EPPA 

EPPB 

?��� ��
6 

��
� :
(�� 

:
(� 

?��� ��
6 

EPe Ec 

Wm 

 ���	�� K��" %��� ���( 

��
���+?����� 
Ec2 

Ec4 EPe2 

EPe4 

Wm 

��
���+?����� 
Ec2 

Ec4 

EPe2 

EPe4 

 ���(���� ���	�� K��"  
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11S  
:�,�� >��+�� 
�!���     
 ���� 6�7 �
�
 
:�,�� >��+�� 
�!��� 1= ����:  

 
����� 
���!
�4� ��:�,�� D���� + 
��%
���� 
:�,��– 
�!%��� 
:�,��  =
����� 
���'��� 
:�,��  
      S
�!����� 1��
 
:�,�� D��� !��� �!7 
��+ #�   :+ Epe4 Epe2 = Ec4  

                                                         =  Epe2  - Epe4 = -∆ Epe  Ec4  
         1���0= Epe41�. 
����,�� *
��+ 6�. ?�� (����� 18 := Epe2      Ec4  

    S� D��� !��� 
��+ #� 
�!����� 1��
 
:�,�       :    Epe2 - Wm = E’c4  
12S  
%����� >��+�4� 
�!��� ��+: = Epe2    Ec4 ?���� #� 
���+�� 
:�,�� 1Z� 4 
:�,�� ����
 

 ?���� #� 
������� 
������2  �5��� �%+� �� ��"�  9.  
  

1���
��27S  

������ 
:�,�� ���+� ����� (�8� /,� ���
9�� 
���%���  � 6�78� �+� *��� ��
��
�� ��+�.  

S 6�+���� 2 
���%��� 
������ 
:�,�� 6�+�� �" EPP ��!�7 18 h P:��

 EPP P:��

  
S  6�+����3 
���+�� 
:�,�� 6�+�� �" Ec ��!�7 18 h P:��

 Ec !���

  

 6�+���� 6�7  0+� 1���+���� 
>+�  � #� ����� ��. *�= >+;�1 6�+���� ��" 1�. 	  1�
:�,�� D���� �"
 1= #��� ��" 
��+�� 2�" #� 

��� 
��: #"� 
���������� 
:�,���  6��� ��  ��� �'� 
���%��� 
������� 
���+��

���:�, 
����� 
�����  1= 1�. E
�
�� 	
���+ 
:�, 6�.  �+

 
������ 
:�,��  �. 
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 ��(���2 :  ���	�� � �
���� ���
(�)(�� ���(����(��L� ��
(  

��� 3�:  �7 ��" 1�
�%� 3!+��� 2�"  ��

 3����� 
���= 
���%� � 
��%
���� 
���+��4� 
��+�� 
��+ #� 


:�,�� 2�" �'� ���

 #
��  ������ 
���! ?� 
���+�� 
:�,��.  
�� ,�%�  �� 1��� R�+ 
���+��4� 
��+�� N���
� /��
 
��%
 
:�,�� 3!+��� 2�"  '
��  D��� V�� 
���

 
7����v   
1S 
��� 3�:  �7
 )
+�034(  

1-1  3�:  �7 ��'�� 
 �7 
���� #����� ����
�� � ����� ����
�� 1�� !������ ����� 6�7 ����
�� *���.  

������� #� ��
��- �'%��,
 
,%� ��%
�� ��. ;�7 ����= 3�: 1=   
1-2 
��%
�� 
���+��� 
��+ 
��+ #� 

��� 3�:  �7  
 ,���1N!'�� 
��7 6�7 ���$
�� 
���� 
���! �" ,����� ��" 1�  )3�%�� 
'�      (  

 N�:�
 #� 1�+= �'
�����  1��
 #
�� 3�%�� #" ��
أ            ����� A��+
 � . 
����� 6�7 ��$� 1= ����
��  ��+�
 1� �'��+�� ��'��� N�
9� #� ����� N����A 6��  B.   

        ,���2  
  ��� �" ,����� ��" �'
����� ��+ �'�
�� � ?��8� I�%�� 
����� ����
�� *�� 1��%� R�+ ������ ,�����

������ ,����� 6�7 �!�
�� 
����� A��+
 #� . 1�+= ����
 #
�� 
+�%��� ��:;��� 1�� 1� ���� ��
 2��
9� ���� ��
�
�� K��
 � 3�:  � 
�����  
���� � A�+���  ���� N���
 ,����� ��" #��      ���,
  �� 6�7 ���%���    

      ��L�����  ���Z� E
�
��  
   A�+
� 6�7 
%�,��� 3�%�� 1��
 #�
'�
��+��  3!7��� 2�"  �7 3���. 1��
 � *
��+�  3�%��


���� ;�7 2�7!� � ���+�  
  A�+
� 6�7 
%�,��� 3�%�� 1��
 #�2��
4�V������  �
��+� 
%��� 2�"  �7 3���. 1��
 � *
��+� 
%��3� 
���� ;�7 2�7!� � ����%�  

1S3 %���  �7   
 %���  �7 3���7 !���. �" ,����� ��" 1� N!'��   .�
+�
%��� 1�
��+�� #�  ���� ���+�1  0�
� 

 D��
�4�� ���
�  � A�+
��� ����� ���
� 4  %���  �7 1= 6�. ����
��h����:�� 
7�,%��� 
������� �=  .
�
�� N>�� 1= ����
�� 1���
��
��� 6�.  0�� ��������� #� *
�� .  

 ��L�����  ���Z� E
�
��        
 4  %���  �7  ���
� ���,��� A������ ���
�  � A�+
��� N�, 1� 3!��  %��� ������ D��
�4� #� h 

 ?����� 1��#��!
�4� ?������  #��'���  �= ,%�  :W  = P.h    
  

2S �  ����  
���+�� 
:�,��)
+�037(  
      ,���1 : 
���+�� 
:�,�� 3����� 
���= 
���%�  

�����
 ����. �" 
���
�� 2�" 1� N!'��   � ��!%��� 1= MV2 

��� 
��:   
 3��  � #� �'��+� #
�� 
:�,�� V�� 1�9� �'� 1�. ��!%��� V��� 3��  � #�  �,
�� (����� 1$��     

#�08� *��, 6�. *�� ?��� ���� ?����� #� 
����� 6�. #� 
����� 
7�� ��+�  ���
��  ���
��� ��� 
 
,%���B #�08� *��, #� (����� ?�� 3��  � #� ����
 #
��   

  ���
�� -!�  �: ,����� 6�7 
,%��� 2�" !�!+
 1���  
S
7���� ���+ :  

 
,%��� ����� ��
9� B  1���� ;�� �4��� 
���=  τ = 4 (0,01)s  .  1��� 4B  N0
�� #�  ��
+  
 ?����� #� 
����� 
7�� #" ��
9���  ����� #� 
7���� 1=  �%� �  �����B  #�����  ����� 18 

 ��
9���τ
���� ��G0  .  
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 #����
��  ���� ��'� �'���$� ���;
�� ��%� 1= K�
%�)��;�� 3�'�= 3!�� 1.
��9��� #�  (  
   Y #
�� 
��:�,�� �4�+
�� J:��
 
���
�� 2�"  

��� ��" ��
�� 
��:�,�� �4�+
�� � �;��+
�� 1���
 	
����� ���
9� 
�:���� 
��;� 
������ 
���� ,�

:�,��  ��+
 ,���= � R!+
 #
�.  

     ��L�����  ���Z� E
�
��  
��!���� ���	�� @����       A���� 6
B� C�=�
$ � C���!  ��*#��� ?� �*�	  
����� Mv2 �D���$= ��!�� 

 +!��� �� :Ec = Kc. Mv2  E��  Kc 
����� +���� +��� ��$�� ���� .  
   

,���2 :  ������ !�!+
 6�. ,����� ��" N!'�Kc  


��� 3�:  �7 3���7 � 
:�,�� >��+�� 
�!��� � 
��:�,�� 
��0+��  ���
 N�>�
 6�7 ,����� ��" !�
�� .  

 6�+���� ����Mv2 
�4!� W   ������ E
�
��� Kc .  
����  ���Z� E
�
����L�  

 ���! �" 6
B  �
�� ��*�=M�=�
$ v   ��!���� C���	 ��!� Ec=1/2Mv2   
 ��G

:�,�� 
���+�� ����� 1����� 1�� 
�����  �7 3�%��1������� 1��" 1�� 
����� 2�" #�7 3��5��� .  

�
�C
 �
6 )
+�041(   

��%�� 3��G
� 
�
� � 
�����  ��
�� ��'� ?�0 ���9���  ���� ��" #� K�
%�   

S
���� ��+�� 3��G0 
���
�;� 3����:  ���
�� 6�7 ��'��� ��" !�
��.  
= (3��G
��� 
�
��� ��'�  


������ 3��+�� 1� ���!=  ���
�� ����
�� 1��� ,���G��� 3����%�� E��!
� *� /��
.  
 
������ 3��+�� 1�  ����� ����
�� 1��
�� -���� 
���+�� 
�
��� 
����� )
�7�= ( *� /��
 1� ����� �0�

 �� ��+�� 
����� -����   	
�%+) ...biberon,seringue…. ( 1� ����� 1�� 1����  ���
�� *� 1��� ���
����%�� #� �'�0� -����3M<�!�� .  

 
�
��� 3!+�� M�!� ��'�  7  0+� ���"�(g)   

����  
��� ��: 6�7  0+� 
���� ����
�� 6�. -����� 3����%�� )��.  

� (�� ��'�
����  
  ��
���� 1����� #� 
���8� 
������� 
��: 
����) 
�0���� ������� N/kg9.80 g= ( 3����%�� E��!
� /��


I�%�� 3!+�� 3���� 2�" (N)R�+    (P=mg) ����%�� )� #��� ���"� 3 
��:  7  �0+�� 1��� I�
�� 6�. 
 
���� 3�: 

M (3�������  
� (��� 3����� 6�. 
���
�� 2�" N!'
����%�� N�>�
� #,�,� ,�9 3 #��+�� ����
�� 1��%� 
���
�;��� 


�,9  �,
�4Z� 3�%�� 
:;7 ���
7� 1��� I!� �= 6�. 
�,�,��� ,��9�� 
������ E
�
�� �� 3�������.



 20 

  
                                                       %�
�
��� ?�� ���( )
+�046(  

�
���  
1���
2:  
1S :  �7

��� 3�  Fdcosα.  
2S /�+0 
3S A��
+4� 3�:  �7 W=-Fd R�+ d
7�,%��� 
������  �, �" . 
4S /�+0. 
1���
3:  

 1� 

��� ��L  %��� 3�: 18 
:;��� 2�'�  ���� 17 ����
�� 1���4 A 6�. B , 18g 
���8� 
������� 
��: 
 1�� 

��� ��LA � B , (�8� /,� 17 D��
�B�� ���

 �'�8)� ����
������� 
��: �0%� D��
�4� !�.(  

1���
 7:   

��+  � #� 3�%�� 3<!� ���+  

                  W=F.AB.cosα   ⇐    F=W/AB. cosα     ⇐    F=100/ 10 cosα  
                                                                   

=0    α        F =100/10 cos0  =10N   
  α=30     F=100/10 cos30 =11.5N   
  α=60        F=100/10 cos60 =20N  
  


>+;�      :3�%�� 3!� �!�� 
������ 
��: �!�� ����  *�= >+;� 	
������ V��  ;9  ���� V�� ����B.  
1���
 8:   

1S ?��  � ��� 3�%��  �7 ���+ :  
���  ?����  AB :WAB=F. AB        

 ��� ?����   BC    : WBC=0      ن�:         
 ��� ?����  CD:    WCD = F.CD.cosЛ = -F CD  

��� ?����  DA   :WDA=0          ن�:          
2S  3�%��  �7F   ��G��� ������ ���  ABCDA  1��� ���!��  

 WAA= WAB+ WBC+  WCD+ WDA= 0 
  

 - 3�3�%�� ?�0
 ��!�7 ���,9�� V�� ?�
  F  
���� °α=30  ?�
�,%��  
��%
����
 AB    

 ���+�� !�� !�� WAA=0 
1���
9:  

  :D=8ب ا/Ul I-f ا/68Lت ا/0/84+
1. 80/K78t `=./ا ylر   

 3�:  A��" 1= �= 
�>
�� 
��%
�� ����� 
��+ F R�+� 
��+�� 
'� #� ����� 6�7 
%�,�  
 3�%�� 
��+�� 2�" #� 1= �= 
��,��� =!�� ��+ ��0 ����� I�%�� D���� ����� 6�7 
%�,���

 %��� 3����� V���
  
  W1=F.h= P.h =980.10=9800J   

BC      F 

A B 

D C 

F 

F Л 

F 

300 300 

300 

300 

A B 

D C 

F 

F 

F 

F 

DA      F 

A 

B 

P 

F 
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2. #%�= ���, 6�7  ����� �+� 

1�
�%�� #��7  P و   N   ������ 6�7 1��!��7 ��'�8 1���!�� 
#���f    3�: 3!� ����
 �'
!� 3�: ��,� ���= �= A��
+4� 3�: 

A��
+4� . 
W2=F.d=300.10=3000J 

3. �+������   ��� �
�� 6�7  
         

W3=F.d=980                 
Ul ه�H ا/K7 �0;9P o.J +/8Lة 8fPآ\ K7ة ا8d4D6ك و ?jآ;+ ا/{>I أي أن ه8Aك 

I<}/8آ\ اfP ةK7 I-N 8ك وd4D6ة اK7 \8آfP ةK7 I-N ،]0,-N  
WAB= F.AB= f.AB + P.d  

WAB=300 10 +980 6  =5880+3000=8880 J = 8.88 KJ    
 

5S 894i8/+اD Iآ Ul ةK</ا +N 
 z0DW و3Dة اN894i6+ هU ا/Kاط          fZ   :P=E/t,` أن
z0D       :E   ة أيK</ا I-N K8/+ هL/ا �Hه Ul ي وK789/ا IJKL4/ا Kه E=W  

              tزE/ا/�?[ ا K8م  هAه I-f/ا اH8ز ه.Zu  :∆t=55s       
  

+/8L/178.2=9800/55     :            1ا W=   ∆t P=W/ 
+/8L/54.54=3000/55      :           2اW =  ∆t P=W/    
+/8L/161.45=8880/55         :      3ا W=   ∆t P=W/  

 

���+�� 
:�,���  ����  

1���
14:   
1S��+�� 
���+�� 
:�,�� ���+   


:�,�� >��+�� 
�!��� 2!+� ��+�� 
����� ���
7��   ,�%��� 
>+� 1��1�8� V�� 
>+� � (2�
�
  :  
WP = Ec2     

��+�� 
���+�� 
:�,�� E
�
�� *��� 
 = P h  =  m g h = 60 9.80 40 =23520 J        Ec2 

2S(�8� *
��;� 
>+� ��+�� 
7��   
    = m g h 1/2mv2 = P h  �  v2 = 2gh 

D �     :(m/s)2  2  9.80 40= 784   v2 =   �     28 m/s v = 
1���
16:  

1S� ��G
�� 
���+�� 
:�,�� #�;,�4� 1�� 1D;:4� � 2   
                                                                                ∆EC= EC2- EC1                     

                                          ∆EC=1/2mv22-1/2.mv12  

1�. 
��!�� 
���!
�4� 
7���� 1= ���:       ∆EC =1/2 70 103 (83.33)2 - 0=2.43 108J 
2S3�%��  �7 
��+���  :W= F d =3.5 105  900=3.15 108 J 
 

A B 

f F 

P 

N 

B 

A 
d=6m f 

F 

P 

N 
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3S
��:�,�� 
��0+��   
 ���
7��F3���,��  7 3��5��� 3!�+��� 3�%�� #"  >��+�4� 
�!��� �
�
:  

W(F) + Ec1= Ec2   
 ���1=:= 0    Ec1   1�. :W(F) =∆Ec= Ec2   

4S 3�%��  �7 
��: 
���%�� F  
���+�� 
:�,�� #� ��G
���   
 1= >+;�∆Ec      W(F)> 
%��� #"� 3���,�� 6�7 ��$
 I�9= 3�: A��" 1= E
�
��

 A��
+4� 3�: #'�f.   
#��
��� >��+�4� 
�!����  
��:�,�� 
��0+�� /�0
� :  

W(F) -W(f) = Ec2   
 ����
 A��
+4� 3�:  �7 R�+:  

  - W(f)=  3.15 108 -  2.43 108  =  0.72 108 J    
 
                                    

 1���
19:  
  I-N    :WAB=P.h =25.1,8 ا/{>�Jj9/85 �,f4J 6 I ا/-=,Kك إذن-1    

WAB= 45 J                                                                                       
    2- +,-.,/ +JK789/0,+ ا L/ة( اjd/ا (  
   ?8fد/+ ا8SLZظ ا/789+-3    

                                   �    ECA+W=ECB         ECB-ECA=W    
                                                                         

4S (�8�  '��� !�7 3���� 
7��  
                                               1/2 mvB2=1/2 mvA2+W   

                                                vA2+2W/m  = vB2                    
                             136 (m/s)2 = +2 45/2.5         vB2=102  

                                                            =11.66 m/s   vB             
]Jj-P24 

����� 1� *��9
��  ��
���� �����      : 1cm)  +<0�K/ا Ul  (← 2cm  ) +<0<L/ا Ul(    
 

 D=8ب-1  ����� 
7��          

y¡K-/ا Ul       A:       vA=1,9 2/2.τ= 47.5 cm/s         
 y¡K-/ا Ul      B:             vB=3,7 2/2.τ= 92.5 cm/s          

  Ul +0 هJH[ ا/-0f¡K[ا/789+ ا/jLآ - 2
=1/2 0,674  (47.5)2 10-4  = 0,076 J                           ECA=1/2.m1.vA2         

=1/2 0,674  (92.5)2 10-4   = 0,29J                              ECB=1/2.m1.vB2 
3-���+  T1                                       
 S�%�� 1= 1���
� 4�=  3T1  
7���� ��G
 D��� 1= 1��� 

���  ∆V  	
��+��  ;9 ���� ��+� A��  �= 1�

�
9� #� A�+
��� 
7��N ,�%���   
��: E
�
�� ��∆V!�� �"  

��� ����%
.  
�.11= E
�
��   3�%��T1 
������ 
���� #� 2����! �� ��+ 

��� ,�9�� N�, 1� 
����� 6�7 
%�,��� 8 1

�!�, 
:;7 A��"
7���� #� ��G
�� � 3�%�� 1�� 
.   
 3!� ��+� N��T1؟  

 3!� ���+�T1 
����� 6�7 
%�,��� I�%�� #" �� V�!�	 1�
�: ��" #�>����  ���� !��  %��� 1= >+;� 
6%�
 ��!�� ��'��7 3�%�� 1�. T1 A��
+4� 3�: � f  N�, 1� 
%�,���  ���
�� ,���
����� 6�7 )  3�:

ECB 
W 

3����  
ECA 

EC2 

W(F) 

�
��	��  
EC1 

W(f) 
EC2 

W(F) 

�
��	��  
EC1 
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��'�  9�! A��
+�,����� 6�7 
%�,�  ���
��  .( 
����� 
��+�� #� >��+�4� 
�!���� 
��:�,�� 
��0+��
1��
:   

ECB=ECA+ W(T1)–W(f)                              
                      T1.AB -f.AB= ECB - ECA                                            

                                          (T1 -f) = ECB - ECA   AB  
T1 -f = (ECB - ECA) /AB                                                                       

T1 –f = (0,29-0,076) /7 10-2  2=1.53N                                      
 
��: ���� ��. *�= 3������ 2�" #� >+;�f 
��'� ��L ;�  ���+ 1���T1 8ب=D o.J ¥/H/ ،ا ا/=¦الHه Ul T2 

  .T1أو6ّ �` ا84A4iج 
4- ������ ����� 
���+�� 
:�,��  


>+�  � #� 
����� 
7�� ����
 ������ ����� 
7�� 1Z� ,�,
�@�  ��: ��L ,�9�� 1$��1�. :     
                                           

=1/2 0.443  (47.5)2 10-4  = 0.05 J                               EC2A=1/2.m2.vA2 
=1/2 0.443  (92.5)2 10-4 = 0.19 J                                EC2B=1/2.m2.vB2 

            
5-  ���+T2 %���� �'
���%� �   


��+�� 2�" #� >��+�4� 
�!��� �
�� 
����� ���
7�� )�����( 
 

EC2B=EC2A+W(P) –W(T2)                              
                       P.AB -T2.AB= EC2B - EC2A                                            

                                          (P -T2) = EC2B - EC2A   AB  
                          (P -T2) = (EC2B - EC2A) / AB >0     

 J T2=8وي  P6إذن 
 T2ا84A4iج 07-+ 

 3.Z +<58=/8د/+ اf-/ا Ul ¨JKf4/85: T2 =3.3 N         
6-  +Z8ر<? T2 �   T1 


��: 4<�= ��+�   T1و 
����� V�!� A��  �= 1�),�9��(   
 ©LP Y4آjD لEw b0c/ن اKdJ ،+,4d/ا +,-@? ¥/Hة آjd;/ا6?894ط وا `J3N ،+,4d/ا I-@? b0c/ا j;4fZ

0PK7 j0�|P ])I-fP U4/ه-8) ا   T’2   وT’1   � =!�� ��+ ��'
<!� R�+1������!��
��� 1��
 1� :T’1=T1   
 �  T’2=T2 

1�� 
:�,�� >��+�� 
�!��� A  �  B  
����� 
������),�9��( 
+W(T’2)-W(T’1)=0      )
��'� ,�9�� 
�
� 18 �( 

 ]0PK</ا j0�|P U49<Z I<4AP ا6?894ط `J3N b0c/5-8 أن ا+l8=-/ا \SA5  
YA?وAB =0          T’2   AB   -  T’1  

T’2   =  T’1                                        
  )�!>kA4=Z          :=3.3N  T2   =  T1    )3 أن

 d-J[ آH/¥ ا84A4iج K7ة ا8d4D6ك
T1 –f =1.53N                                      

f=T1- 1.53=3.3 – 1.53 = 1.8 N 
      A��
+4� 3�: 1= >+;�)
����� 6�7  ���
�� ,��� �'%�,� #
�� 3�%�� (
��'� ����
��+�� 2�" #� .  
     �8(=
 :3�%�� 2�" �!�� ��� ;�� ���0
�� 
�[ #"  ���
�� 3�!= ���� �� .  

  
  
 
 

����� 
EcA 

W(P) 
EcB W(T2) 

��
��� 
EcA 

W(T1) 

EcB 
W(f)
 

T’1 

T’2 
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 �	
���3 :
���
�� 
����� � �����  
)
�����	�� 
��
�� 
��
.(  

���$� ���M	�  
��=!�  
,%�� 
����!�� 
��+�� ������� 
����!�� 
��+�� N���
� �'�� ��:�,
 R�+ 
��%
 
:�,�� 3!+��� 2�"


������ 
7����� 
�,9�� 
7���� 1�� ,��
 #
�� 
:;��� � 
�!��.  
12!��� 
�(
� ������� ��� ��6. )/54(  
 ����� ��'��1S1  

����� ��'�� 6�. ��,
��� 3!+��� 2�" ��,��� ��=!�.  
 ,���   
  �'���� #
�� ����8� 6�7 3��5��� I�%�� #����!�� ��8� ��'�� ����. 6�. #����� �  �8� 1�,����� N!'�

���� ��+�  �+ 1���!�� . 6�7 ����!
 ��= �'� V�� I�%�� (�� 1�,����� 1��"  ;9 ����
�� >+;�
�'� I�9= � ����8� .
�� �= 
���:�� 3�: �'��7 ��5
 #
�� ������ ��= �'� V�� 1���!�� ��+� �'���+ ?,%� #
����� 6�7 ����!
 . ��= �'� 1��� ��+��� ��" �'���+ ?,%� 4� 1���!�� ��+� ����
 4 #
�� I�%�� ��=
����� 6�7 #����!.  

  

��� ��
�4� 5������!�3  

 3�%� 1��� 6
+Fr�= 	���� ��+�  �+ A�+
� ��0 ��� 6�7 
%�,� 	 4 1= ��� *
��+ 6�7 #����! �
��+��� ��" �'���+ ?,%� 4 � 1���!�� ��+�� 
����� 3�%�� 2�" 1��
.  

 3�%� 1=  �%�Fr ��= �'� 1�� ��. ��+��� ��'� 
������ ��7 ���� ��+�  �+ A�+
� ��0 ��� 6�7 
%�,� 
����� ��" 1���! 6�7 .�+�� 
������ 3�: ���� ���� ��������  :∆/FM r.  

  
22��$�� ��6 �
��6:  

 3�: ��7 1�� 
:;���  �� !���. 6�. 3�%��� 2�" ��,��� N!'
)#����!�� ��8� ( �'"��
� 	3�%�� 2�" 3!� 1���
1���!�� ��+� 1�� � �'��� !����� .  

  	���1  
 ��5��� 3�%�� ��7 1�� 
:;��� ����. 6�. ,����� ��" N!'��'%��,
 ?��� � ����� 6�7 . 
,%� ���� ����

 ��,�� 3�%�� ��7 3!� ���� �= ����� ���!
 ��0�� 1� /�0= 1���!�� ��+� 1� 
���: 3�%�� ���,

�'��7.  

 	���2) /55(  
��+�� 
������ �'��7 � 3�%�� 3!� 1�� 
:;��� ,����� ��" #� ����
�� �'>�.  

 	���3  
 ,����� ��" #� ����
�� >+;� ��� ����� 1���! 
'� ��G

 R�+ 3�%�� 2��
� ��G
 ��. N�
9� #����!�� ��8� 1=

3�%�� ���� 
������ 
��%�� ��'��  9!�.  

��� ��
�4� 5������!�3  

���
�)��  6.= Fr ����*�� ����� �$
���$ ∆  �D����F.��� / � ?	#� / ������  �"G  )H*�$ � I�B�� I"G
��� )�#*�$��   F*����������� � )�#�� +��� ��$∆    
S#����
��  ����   

 N!'�1���! ��+�� 
������ 3�: ��7 ��+� � ���� 1= ����
�� 1���
 6�. #����
��  ���� ��".  
 = -����:  

 -�!��� 1= >+;�(F2i .OMi )
��%�� ����� �" � �
��� ����%
 6%��  ) F1.OA.(  
,�,��� ��!�1� 3�,���� ������ 2��
;� V������ 2��
4� #.  
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,�,��� ��!�2������ 2��
� V�� #� 3�,���� .  
1���
�� !�7 ��!�� ���%�� 6�7 
%�,��� I�%�� ����� ������ D������ 1= E
�
��.  

-�����:  
=-���� #� *��7 1�� ��� ���=  �,
�� ,�,��� 1= >+;
.  

  -�!���(F2 .OM1 )  ���= (F1.OA)� �� N;9�   #� *��7 1�
=-����.  

 3�%��  ��+
 !�7F2 ��+��� 6�7 1�
���� 6�.  x��+��� 6�7 �  
y 
������ 1= �'>� F2x 1� ��� �'���+ 18 #����! ��= �'� V�� 

1���!�� ��+�.  
 
������F2y 1= !�� � 3�,���� 6�7 #����! ��= ,%� F2y 
 �����F21=-���� . 

 -����M:  
F2y .OM1 = F2.d 


�4� 5�����!�3
��� �� 
 �$
���$ )�� 6.=  
�������∆ . J�*B$)*�  F*����� *�$�� %& )�#�� I"G d ��$ +��� � )�#�� I"G ������ 

∆ .+!��� ��= )��$���  �!� �: ......./ =∆FM v  
     #� ����� ��!
 3�%�� ���� ��. ����� 3�%�� ��7 1��� 1���!�� ���� 2��
� ���
9� !��

����� 2��
4������� 2��
4� #� 2��!
 ���� ��. ����� 1��� � � . ��� 3�%�� ��7 3���7 ����+ �
��
#��:......./ ±=∆FM v 

 
3�  ����� 
��	�� 

 	���1) /58(  
,����� #� ����
�� 1� ��,� 1�
�: 
��� �'�= 6�7 
��!���� N���
 !��1 ���� 
��!���� 2�" ��7 ���+ 

�%�� #��7 D���� 17 3���7 �"1�
.  
  

 D���� 4. �" �� � 
��!���� 1�
������ 1�
�%�� 17 E
���� #����!�� ���$
�� 17 3���7 �" 
��!���� ��7
1�
�%�� #��7 D���� �= 1����$
��.  

  

��� ��
�4� 5������!�3  

 1�
�: 
��!�� ��7 ���+ ?���)2Fr,1Fr(�!� ��0 ��� 6�7��5
  ��+�  �+�∆  ���+ 6�.D������ 
 ������#����1�
�%�� .  

 6.= @����   I"G
��!����   3<!�� ����#�� K*��!���� ��$ F*����� #���+����#��  .)��$���  �!�� ��= 
+!��� :dFM ./ =∆  
 	���2) /58(  

 ?���� ���
� 4 
��!���� ��7 3���7 1= ,����� ��" #� ����
�� >+;�1���!�� ��+� .  � 3!� ?��
 3�: :F1=F2=F.  


��+��1 :FdddFdFdFM
dFM
dFM

MMM
=+=+=⇒





=
=

+=
)( 212211

222

111

21
  

l 

 l1 

x O A 

M2 M3 M1 M4 

� 

� 

�����13 

B 

α 
F2y 

F2x 

H d 
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 1�
�%�� I!+. 3!� -�!� ����� 
��!���� ��7 �= ����! !�� � ���+�� #� 
%��,�� V�� ?�
� 
��+  � #�
1���!�� ��+� ?���� ���

 4� 1�
�%�� #���+ 1�� 
�0���� 
������ #�.  

    

��� ��
�4� 5������!�3  

4 ���
� #� 1�
!���� 1�
�: 
��!�� ��7 ��
���� 1���!�� ��+� 6�7 �!����� ∆ 
��0 ����?���� ��+��� ��" .  

-�!�� 
��!���� ��7 ��+�3!�  I!+. 1�
�%��) 1�
����
� 1�
�%�� 3!� ( #�!���� 
�!�����  d 1�� #���+1�
�%��  :dFM ±=∆/  
  

42!��� 
�(
� ������� ��, ��� ���	6 ��6  
 #� I��� 
��"= 1� *� ���  
��� ���� N���
 ���!: ��0�� ����� 
��,7 ��7 N���
  �:


��0�� ����8� 
���! .,����� N!'� R�+ 
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94� !�� �=  :

JNlmmEc 76.760
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




 += π  
   2S
:�,�� >�+ =!��  :0=P.t-0+Ec  �= :

mWt
EcP 13600
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 ?���� 6�. #,�,��� ,�9�� #� ������ ����� �+�� A��  �= 1�A 1= 6�. ?�
��� *��+� *��
� �� 
 
������ 
:�,��  � ����+ 1��
� ?���� ��" #� c
�� ,�,��� 1��� R�+� *
7�� �!��
  

���%� 
���� 
:�, 6�. ���+
 
������� 
)D��
�� 
:�, (  
 ?���� V�� 6�. 3��  � #� ,�,��� �+�� � 
�
��� 
��: ��G�A  
:�,�� V�� 1�9
 
����� 1= �= 

3��  � #� 
������� .  
 
,%��� ���
9��A 
���%��� 
������ 
:�,�� ���+� ?���� )EPPA=0(  1= ������
 !�$
� 1= ����
�� 1���h 

 ?� �!�, ����
�1/M .  
 /��� ���     3��
9��� 
�����  9�! R!+
 #
�� 
��:�,�� �4�+
�� V�!� 1= ����
�� ,����� ��"  

       ��L�����  ���Z� E
�
��      ����  
���%��� 
������ 
:�,�� ���

*
�
�� � (�8� /,� 17 *7��
����!%��� ?� �!�, ����

� Mh 
�'
���7 1��
�   ���� 1� :Epp = KppMh  R�+  Kpp�� 
��: ����
��  ����  ��
 

�. 

    
,���2: 

 
����� !�!+
 6�. ,����� ��" N!'� KPP  
 #" 
���
�� 2�" #� 
���
���� 
�
���M=0,1Kg  � τ = 0,05s)  ����
�� ��
� #� 1�
��%�� 1�
�" !�
 ��  (  

��
�4� ���
�4� ���+� ,�%��� ?�� !�!+
 #� ∆x�� 3�,���� 6�7 3������� 3-��%�� 1= R�+  #� 3!����
 ���� 6�7 �������� ��� M��9
��� /0�� 
%�:! ��L  ����:  

       ���� #� 11,5cm   →      100cm     
*���         :1cm     →        8,7cm  

  ��L�����  ���Z� E
�
��  
 C���! 6
B ��!� ��*�=M ?���� ��= h ���B�� ������$� ��'� 
	
 �� 6
B�� + ��'� C���	 ��!� 

�����!�  ����#���Epp=gMh  

 2S 
������� 
������ 
:�,�� ) 
+�079(  
,���  : 
������� 
������ 
:�,�� 3����� 
���= 
���%� 6�. ,����� ��" #� ��,
�   

 ������ 1���
Ke  
 ����%��  ���
�� 1���3 
��%�� 3��G
� 
�
�� 
���
�;���   

 1= 6�. ����
��  0�
�Ke=1/2K�
��� /0�� A���  
������ 
��� 
��
9� (����  ��3 �= 4 1��� 6
+ 
����
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  ��L�����  ���Z� E
�
��  
  �,
�� ��!�7),G��� ( *
���� ���� (���K  ��!��� x  ���� 6�7 
������� 
������ *
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�
 

#��
��  :Epe= 1/2 Kx2    
2S
������� 
������ 
:�,��  
��
���  )
+�081(  

    ,���1: � 
� (��� 3����� 6�. N!'  
(�����)2 ( 
,%��� #� 
%�,��� 3�%�� V��%� /���A  
��� (��� 6�7 )/,���� (����� .( 3�%�� 3!� 
����

 3�%�� ��7 ���+� /��
 �,%�� N0��F .  
������ 
�4!� ����� ����G
 ����
��  ���θ        1��!����� �'�7 ������ 
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(rd)    
:;��� 6�7  0+�� M=Cθ   R�+M �
� 1
������ *�7 ���� ����� �"     (Nm) �C  
��� ���� �" 
 1��!�� 6�7 �
� 1
������ *�7 ����Nm/rd) ( .  
��� (��� 3����� 6�+��  ��� 6�+���� ��".  

        ,���2:  
��
��� 
������� 
������ 
:�,�� 3���7 !���. 6�. ,����� ��" N!'�                 
Y-i3 رf5 XALA-,/ EPe +/635  θ2    z0DCe θ2  = EPe +789,/ +;=A/85 8لL/آ-8 آ8ن ا H0-,4/ا ´DEJ   

  .Ce=1/2Cا/A?8d+ ا/-jوUl +0Z ا/j<Sة ا/=58>+ أن  
             ��L�����  ���Z� E
�
��  

��!�7 
�����  
�� θ #����+ (��� �=  
� A�� ) 
� (��� ( *�
� ����C	 *�Z� 1�9� 
:�, ��
�� 

������'
���7  :Epe= 1/2Cθθθθ2   
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���%��� 
������ 
:�,�� " 
���%��� 
������ 
:�,�� ���+ ?��� 1= #��

���
9�.  

��� 
��+�� #� �
�� 6�78� �+� *��� ��
��
�� ��+� ���
9�� 6�7 
���%��� 
������ 
:�,�� 3���7 
��
 ����: EPP = mgz + cte         

�� 804w85ر ا/789+ !���0 �7 ����
 
���%��� 
������z=0  3������ /�0
  :EPP = mgz  
 ]Jj-P3-   

 ��.� 1�! ����� #" 
����� ���
9�
���%� 
���� 
:�, 17 R!+
�� 1��� 4 *�Z� (�8 
:�,�� 18 	
� 
������
�����  9�! (�)� 
������ ����� ?���� ���

 
:�, #" 
���%�� .  
]Jj-P5-   

1-  ]05 +,-.,/ +JK789/0,+ ا L/اAو  B  
 8f? W+ EPPA = EPPBد/+ ا8SLZظ ا/789+    -2


   804w85EPPA= 0ر �!����� �
�
    W = EPPB  
3S 1�  ����� 3�:  �7 A  6��B  

WAB = EPPB= m g h = m g AB      
WAB= 500 9.80 6 =  29400 J        

4- ]? I58d/ة اK7 I-NB X/ا    C  
  ا/3f? I-fوم �ن ا/>Kة K-NدX,N +J ا4Z6>8ل

5- ]? I58d/ة اK7 I-N   CX/ا  D  
EPPC – W’ = EPPD=0      ?��    -W’=WCD  
-EPPC = - W’= WCD  

  J -  = -WAB  = WCD 29400        إذن   5EPPB = EPPC-8 أن   
   KdJن ?3fو?D 8ا/I-N  ]?  A X ه�H ا/>Kة -6

]Jj-P7-   
���%��� 
������ 
:�,�� 3���7 
��
� 1�+
��
G
���  ���
��� ��z ]? 635  h       

�
��  :EPP=M g z)   X,Nا� KLZ YnK? o0Pاj4/ر اKL? 804رw85(  
1-+/8D Ul +,-.,/ +A?8d/ا/789+ ا :  
  )�9i ا�رض (o1 ا/-Ul ynj -أ

EPP1=M g z1 = 1025 9.80 3 9 = 2.7 105 J  
y? z1=3 9 =27m        �" ���,  � ��7 R�+ 3m 
  )ا/�589 ا/o2  )yi84 ا/-Ul ynj -ب

EPP2=M g z2=0  
 �z2=0ن 
  )ا/�589 ا/o3  )jt8f ا/-Ul ynj -ج

EPP3=M g z3  
��" z3= - 3m  105 0.3 -  = (3-) 9.80 1025إذن  J           EPP3 =  
2S���,�� 1�  ����� 3�:  �7 ?��
�� ���,�� 6�� #��8�   

 8f? o4dZW=EPPBد/+ ا8SLZ6ظ    
W=EPPB= EPP1= 2.7 105 J  

W 
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?
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��A���,+  
?
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3S 3�%�� 
7�,
��  
P=E/t = W/t  


�>
�� 
��%
�� 
��+ *� !�0��� 1= ���1�.    t =z/v  3���7 #� (���
���  P6�7  0+� :  
P= W/t=W v /z       

P= 2.7 105  1.2 /27= 0.12 105  Watt  
 

  ا=EFو9BC ا=A;@?9ا=>;:9
1���
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1S 
����� ���
9�� )
��7+(�8�+(�����( ?���� #� 
����� 
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������ 
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  A 6��
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���+ 
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 ?����D.  
2- ]0f¡K/05[ ا +JK789/0,+ ا L/ا Aو D 
3-8f? +789/8ظ اSLZد/+ ا  

EPPA= EPeD   
Mgh=1/2kx2  

4- (����� ,�G��� 60:=  
MgAB sin30°=1/2kx2  

x=12.5 cm    
5-y¡K/ا اHه Ul ¨58A/ف اj~ ]? +<;9-/ة اK</3ة اt   

T=k x  
T= 400 12.5 10-2 = 50N  
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����� !�0
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+4� I�:  ��"Z� � 
:�,�� >��+�� =!�� 6�7 !��
74�� A !�� 
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������� 
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��:�,�� 
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:�,�� !���. 
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���! �� (����� �'
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 13 :  
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  . /L=8ب ا/789+ ا/A?8d+ ا/{>0/8+
 N  :EPP =mgz;8رة ا/789+ ا/A?8d+ ا/{>KdP +0/8ن

  
1 �4�+�� #� 
:�,�� >��+�� 
�!��� � 
��:�,�� 
��0+��:  
  )ا�رض+ ا/58A¨ + ا/.=` ( ا/.-,+ -أ

             EPPA =EPeB  
  
�S 
����� )�����+(�����(  

          WP=EPeB     z0D      WP :I<}/ة اK7 I-N Kه  
           

 3S 
��,
�� 60:= ���+   
                                                  EPPA=EPeB         

                          m.g.zA=1/2K.zA
2        

         cm39= zA=2mg/K=2  0,2 9,80/10= 0,39m          
                    

4- ¨58A,/ +0Zوj-/ا +A?8d/ا/789+ ا  EPe=1/2K.zA
2    =1/2 10 0,392=0,76J                
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1- +,-.,/ +JK789/0,+ ا L/ا I}-Z  )¨58A/ا(  

U/84/ا KLA/ا X,N +789/8ظ اSLZ8د/+ اf? o4dZ `�:  
 W=EPe  

   I-N ا/-�دوn+و?YA ا/789+ ا/A?8d+ ا/-jوP +0Z=8وي
    = W=10 J   EPe  
2-  
��� ���� C    

                                                                    EPe=1/2.C.θ2 =W  
                  )2 θ2=2 10/(10 2Л C=2W/  
             = 0,005 Nm/rd   C  
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                                EPe1=EC2=W= 10J   
H13AN +5jf/ا +Nji       :  

                                                      =W EC2=1/2.m.v2    
                       v2=2W/m           v = 14,14m/s  
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���+�� �'
:�,
 /�0
 1= 6�.  ��+
�� ��
�� ���" 1� 
,%�  �� /�0
 � 
���+�� 
:�,�� V�� 	,��
��� #� 	��������  ��

3���+�� 
��! V�� A���� . 
����� 1= ����+  �%�"A���� "����+ 1��
� 
��+ #� .  
 !�3�
��� ��
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θ∆θ∆ eefgggg cmLmcmQ ++=  
�.D :kJ36.930*4185*020.0330*206*2090*020.0Q ≈++=  
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���. 
��+�� #� °C08� ��" 1�� V$��� #� !������ -���� ����+��  ��+
�� !%�� ��9 
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1S  3!���� 
��+:  
S 3�
��� #�  = 
��0�� �'
��+ #� 3!���� ����  
S ����� 6�. ��0�� 1�  �+

 3!���� ���� � 3�
��� #�   
S �'
��+ #� 3!���� ���� M 3�
��� #� �� 
����  
S��L 6�.  ����� 1�  �+

 3!���� ���� ! 3�
��� #�   
2S  3!���� ��'0�� 3���+ 
��!#"�  �= � 
��+�� �'� ��
 #
�� 
��!� :

θ=60°C  
 �= ! 3�
��� #� R!+� ����  �+
�� #� �'����L 
��! ��=: θ=120°C   

3S 3�
��� #��� 
��0�� 
��+�� #�= :

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

°
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°
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m
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∆  
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��� 
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��� (: 
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1S -���� 
��������� 
��+�� ��G
 1�!� ������ � -���� *0
�� 1= 1��� ���� ����+��  ��+
�� :

( ) ( ) kJ234.3915*4185*625.0cµMQ fe1 ==−+= θθ   
2S ��� ����+��  ��+
�� 
���'��� 3���+�� 
��! ����
�� ��. 
���+��� 
�,%�� 2!%�
 �0°C :
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�
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1S 3!+�� 
%�:!  ;9 -���� *��
�� ���� ����+��  ��+
�� :

( ) MJ25.150*4185*1*60*1.0*c**60*DQ ife ≈=−= θθρ  
2S   ��+
��3!+�� 
%�:!  ;9 ��G�� ���
+� 2!��� ���� ����+�� :MJ5.1Q*2.1Qg ≈= 
3S A�'
���� ��G�� 1����  !�� : 
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��  ���� 
���� 
��:�,�� 
��0+��:  
2S 19���� -���� �'� M�9� #
�� 3���+�� 
��!: 

#����� D���B� 
:�,:kW200200*1000S*PEr ===  
���� ����+��  ��+
�� 1���� 1� 
����  ;9 -���� *0
�� )
7�,
�4� :(

kJ174200*87.0E*Q r === ρ   
3���+�� 
��! :( ) C674185*8.0

17400015cD
Qc*1*DQ
e

ifife °=+=+=⇒−= θθθθ  
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1S 
��  ;9  �+��� #� 
0
���� 
:�,�� :
( ) J1036750*4185*24*365*1000*200TT*c*24*365**DQ 12
1ee ==−= ρ  

2S 
�������  ��
��� 
�
� :tonnes873842
367000

tep
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3S !0
%���  ��
��� ��+ :3

p
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1S  ����+  ��+
 ������ � !����� P
��Q1 1� ��'
���+ 
��! ?�
�
 6
+ -20°C 6�. 0°C :

( )( )121 TT'c'mmcQ −+= 3���+�� 
��! !�7 !�����  �+
� T2  ��+
�� P
�� � -�� 6�. Q2 :
f2 mLQ =  ��+
�� �!%� !: -���� ���,: 1��
 � Q3 :( )2e3 TTc..dQ −= θ >��+� =!�� 1� � 

1Z� 
:�,�� :321 QQQ =+3���7 E
�
�� ��  Lf.  
2S  1� ������ 3���+ 
��! ?�
�
 6
+0°C 6�. 20°C����+  ��+
  �%
�� 1= ���  Q1’ :

( ){ }( )23e1 TT'm'cdmc'Q −++= θ  ��+
�� �!%� !: -���� ���,: 1��
 � Q’2 :
( )3e2 TT'dc'Q −= θ �1Z� 
:�,�� >��+� =!�� 1�  :21 'Q'Q =3���7 E
�
�� �� θ’. 

3S ������8� 
�,: *
!%� ���� ����+��  ��+
�� :( )21Al11 'T'Tcm"Q −= . 
����� � ������ P
��
M=m+d(θ+θ’)   ��+
�� -���� 1�Q’’2 :( ){ }( )32ee2 T'T'm'c'd.cc.m''Q −+++= θθ 1� � 

 E
�
�� 1����+
�� 3�����cAl. 
4S 1� �������8� 
�,: 1� !�%���� *��� �" #������ ��G�� 1� P
����  ��+
�� 1Z� 
:�,�� >��+� =!��  :
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�
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����� ��� �!��"�� ����)
�#����$��� ���(  
�#�+�B��� 6�*:  

%G� ��*�� ?$�� %& +�B��� �"G K���� M.���:  
1N �#����$��� �%
�� &� '�  
2N 
�#����$��� ��� 
�	������ ���()� *����%� 
3N �#����$��� ��� +��
��� 
4N 
�������� 
����� ���  *�������� *�������.  

*#�� �#��	! %$��B��� OD���� *���� ��	��� �D��#$�
 +�� ��*���� I"G F���� �G��P�� +����� 6�G����� 6�
��>�$�D!��� ��
�	������ . �� 8��#� A�"�, ���� �-! ��.�( /��� �	��'� %& ����#���  ��B��� @#�� E��$ 

�D� �#&����� +�������� 6�G����� Q����� 6G.��$� %& �D��= *���=/�� 6D
��� "������ Q�	 �� . ,���� ���
C��*#�$ %�����  ��
'� "������  ��B��� @�#�� 6� �D�� +! @�*��� ��$��B� /�!�	��$ 8������ ���3���� 

�D������ . %& "������ C�B��� +�D
�� ���� R�*� %&�  ����$ ?3� 	��� +! %& ����	��� �/7�
���
�D�& ��*  ��� %��� +������ R����
�� ����#��� �G��P�� ��
��� 6D�/����.  

��$ 
�
� +�B��� �"G �� ��! %& +���� �G �� +�� �D$ 6��#�� �!����  ��B��� )��!� ���D
� OD���� �"G M�$
J�3�� +�B� .  ��
'� ��= 6D$�*�� "������ ��$��B��� ����D��� ���	�� C����
� �!�� +�B� �D& �"�

�$ F����� ��$�� �� ��$���� +>�
� Q���� +����
�$ 6D��B����
�� 6D��P��� �= ��$����� %����� 6D�!���
 6
��� 6D�����
�$ %���$ ��$��� ��	������  ��B��� Q�� �����$ %$��!��  ��$���� ��4 ��������� %&

 %���$�� +�������....S�4.  
 ��$�B� ����D�� ��&��� �� "������ �#$�
�� ��$�
�!��� �= ����! *����� �D������ ��	����� @�#�� �� ��!

��BD���.  
!/ ,�� +�B� �"4 %D& Q������ *�!��� ���& %G +$  
�& )*�*B Q���� +����� ����D�  �
�

�D$���
�� )*�*B ������� �= E�$�� %& �����
�$ �D��P��� �#$�
 �$
�!���.  
 0��)� �	
��� :�#����$��� �%
�� &� '�.  

���� *�= )*���� �	�
$  ��B� �� @�	�� %
�	������ +#��� 6�D��� ���'� )*���� %& @�	�� ��!"�� "��
 Q�	 �� ��>��� ��$� +#��� 6�D�� .��$/ �D���  ��B� %& �D�����
�� 	������ 5>��� ��$

+#��� 	�	�� . ���$	�� %$�B��� ��$�/�� C���G�� C�>���� %3�'� %
�	������ +#��� *�B� ��$�� 6�
 !����� �*$� ��= *���=/�$ %
�	������ +#��� ��=�����.  

�B� �� ���	�� 6� ��� %
�	������D! +#�� ��*�� ��!� ���� I�$�� +��� +! �� "������ Q��!� *�
�� �$
������ )*� +�� K��� +���=� +����� *��$�� +!�$ Q���� +#��� �"G 5>���� +!� . ������� �� Q��!��
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�" ������� I"G� %
�	������  ��#�� �D!��� %��� A�� ��
�	������ �D�>��� %& C$��� ����	�� ���G� �
%������ F�P��� ����B��� %& K���.  

F�DB��� K��
��� %& *����� �	��� �*�� ��
��$ 
�
� %��� %D& F�P��� +�B��� %&.  
��
�	������D!�� ���#��� ��#�$	��� �=�
� Q��!� %����� +�B��� %&� .  

 
���1�� �	
��� :
�#����$��� ��� 
�	������ *���12���.  
� "������ �D�& .�$� %��� +������ �D�>��� ����� 5�$/ )�� )��
��� ��$�!
��!���� ��
�	������D!�� )�#�

 ��D��� ��#�$	��� ��$� C��#�$	�� A������ ��	9� %& �G��* +�� �D��#�$	� ��$ ,�*� 6� �D$ @����
����� �$!��� A�"!� ���>�$�D!�� *������ A����� +�� K��'� .  

 
1��1�� �	
��� :� *�!�"�#����$��� +��
��.  
 @&*��� %& ���� E�*�$ �G��DP 	$��� C��*� �*$�� %
�	������ ������� )�G�P "������ �D�& Q��!�

������� �	���$ %>�$�D!�� ������ R���� �*$� ��= ?�	�� 6� %
�	������ . )�G�P�� I"D� K��� ��#�$	��
%>�$�D!�� +����� +�� .�� ��
��� C$
�!� �� +! QP�� 6� �*$�� ������ %��"�� ������� 6�D�� +���

%
�	���� +!� ��= ��>�$�D!�� ���	�� �D��.��.  
 
������ �	
��� :
�������� *�������� *�������.  

 ���3����� %�$��$ ���� ��&�34 ��*��! O����$�� %& )��#��� ������� �� �=��B� )*���� I"G +���
�$�� %��� / �"4 %G� ���3��� %�#������$��B��� 6�����  . �� �������� +�!�'� ��= "������ �D�& Q���

 ��>�$�D!�� �����9�)������� ������ ( ,��� ����!� ��$�B�� �$������� ��������� �������� �
��*��$ 5���
C�>�P� Q���� Q���!�� %	$D��� .�.�G/� 6
�� +����
� ��= �D�&  �*�� �
�& %G� �D� ).����� ��*�#��� 

C����
� ����!� .  
 %
�	������� F������ ��D�� +! ���� E�� �� ���
��� ������ � %$�B��  ������� ������ ����#�$ 6�#� �G*�$�

%>����!���.  
 
������� 6��#��� %�����$ ���
��� ������ ��4  ������� ������ �� ������ ����! 6�),������ ( 6�� �� *�$

D!�� +����� �	
$� �
��*$ ���
��� ������ %& C&��� � %>����� 6����� ��* Q���!�� �DB �� %>�$�
 �D=�B��
�� ����� ����= %& ��>�$�D!�� ���	�� ��.�� %& �G��*� ��>�$�D!�� ���!��� A�"!�  ��������

,������ ����= @�#��� ������� I"G +���
�� ���
��� ������ %& T������$.  
�'�� ��
 *�	����� *�"
3�*������� 4���� 
:  

 /� �D>��B� +�� ���� ����3��  �	�� /� "��
'� �= �$��U ,�� ����#��� ��	������  ��B��� ��$�U�
�D#�#���  �	���� 	�
$�� .�DB��� ��= . �D����G� .!�� ����#��� ��BD���� �� �G ��
�� I"G %& *�*B�� �!��

��� C
��$ �D$ 6��#��$  ��	� F"�� "������ ��= ��4 +����� *�� C>��. ?� +*�$���� �������� *����$ �D���
 ��*�� ��!�� �D>	� �� C���3�& ��� �� ?��#�� C
��$ P��� %�� C����D�� C��$
�!� ��= �*���=� �B�����

C>�#&� M���� �� C��� ���� ��= . ��&��� 6�.��� *�= 6DD�B��� R��&'� 	���� �G I��*& ��G "��
'� ���
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�DB���6D��#� +�� "������ �D� +���� %��� O>����� @�*��� 6
#�� ���
�� �B���� *�= 6>���� . . �����
 +$� %$�B��� +�!���$�� 
�3�� ��= +�����  ��B��� J��B� +�� ��!�� ��BD�� M�$�� ��= 5����

�B���� *�= "������ ��B�� ��!� ,��! %& ��P����� +�B
�� O>����� ���*�� �D>��B4.  
 R��� �� +��� ?� "������  ��! %& )*����� �/7�
��� ��$ �= �$�B'�� ��P����� ��$ %�� ���& 6*#�

��$�'� ��*���� �� )*�� +!� �������� ��$ +���.  
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 �	
���1 : �#����$��� �%
�� &� '�  
��L�����  ���Z� E
�
��)P116(:  

 1��,: V�,��G���1������� !������ !�!+�� 3!���  V��� 
�!�!+
������ !+= 1= >+;� 1�� 	#�,: V�,��G��� 
  �8����� !�7 #����� V�,��G��� #�,: !+= *���%
 �,%�� ����� *� �9O�*�� ��: ��.  . R!+� �V���� 
 !�7��: �8� V�,��G���  .  

 ,��G��� 1= E
�
��1��,: 1�7�� 1� 1���
9� 1� 1��,: 1= R�+ 	V��  1=� 1�����
� D����  1� 1��,:
 1�7��1���
9�1�����
� .  

��L�����  ���Z� E
�
��)P118(:  
 V�,��G��� R!+a���e�G
 P��09 #� -����� *,�%�  � #� �'>
 R�+ P��09 
���,��G� 3!�!� . N���

 2�" 17P��09�� -����� 1� 
,%� #� ?��� 
>+;�� �'�� 
�0�� ���$
��*� ?�9
 ����  . 1=  �%�
 ���%��!��� ;%+ ����,��G�-����� #� .  

��L�����  ���Z� E
�
��)P118(:  
 ��� !�73!�����
+� /,� 6�7 !�!+��   *
+
���,��G� >+;� 	?���
 ��� 3!����� �����+ ,�,9 
��"� 

 1�� ,��
1��,%��*���� �� 
����  :#��,��G��� N�,�� N�,�� #� 
���
��� ,�,9�� #��� ���   %+�� ,�,9
#��,��G���.  

��� 1� ,�,9�� 2�" ������%
�� I!+. #� 
7���� 	3��G0 
�0�� �',�%� ?�� #� 	#���� ,9�� 
 1� �����A�

,%���  . !�7���G
 6�7 
�0���� ?��� V�� ,9�� 6%�
 3��98� 2�" ����! 
>��+� *� 
����� 
 V�� 6�72��
4� 6%�� R�+� �'���� �+� *��� ����! ����� 17 �����  ��
���� V�,��G���  2�" *���
� A�

 ��� �+;,0� ,�,9��*��
 1� �= �'��7 
�0����  ��� 6�.  ��
���� V�,��G��� *����.  
 #��,��G���  %+�� ,�,9 1=  �%��� 3!�7 A�� 17 ����*��

 �,%�� 1� #������ �,%�� �+� #������ 

V�,��G��� M��9.  
 N�
9� ���� 1�  ��
��� #��,��G��� N�,�� ����� V�,��G�9O  V�,��G�  �� 1= �= 	����,2���� .  

��L�����  ���Z� E
�
��)P119(:  
 ���
���= 
�0�� 6�7 ���: 17 !��
��� #��,��G���  %+�� 
������� 
�0���� ?���� ���%�� 1�� 

 
��������
������ #��,��G���  %+�� 1= �= 	
�0����� ���%�� ���+�� 3!�  ��+� 
'�� 1��� *��� 
� 
,%� #� *
���� -����� ,�%� 1D���� ������ *� ���� Br .  

 *���
 �� ��"E��
� 1��� 4 R�+ 3��98� 
���
�� ����
 2�9$
 #
�� ?���� 
�0���� 1��%+ ���$
 �+
 
  %+� 
���9 �'�= ���
7�� 4. 1����,��G�!+�� 17 E
�� D������1����%�� #�%+� #7����� .  

���  ���Z� E
�
����L��)P123(:  
   *
!� #����'� ���
 ���� ��!�7I���� ���%
�� *,�,9 #��,��G�  %+ *��+ !��
�  ;��,� 
����! 

 �"����A���� 6�7 ����
�� #� 
���+�� 
�!��7 #� #��,��G���  %+�� D���� 1��� R�+ A���� 6�7 

���
�� P��09�� 
,%�  �:  

��L�����  ���Z� E
�
��)P124(:  
  ���� ��!�7 ���
 *�7 !��
� 
����   ;%+����,��G� N�, ����
 *��� 
������ M��9 *��,  ���:

#��,��G�,�,9 17 3���7 
������  9�!�  
����
� .  ��
�� #
�� 
���,��G��� P��09�� 
������ ��
�

 �'����%��#��,��G���  . 1= A�� 1� E
�
��
������ ���
 �"���� #
�� _���
����,��G� ����:  � �'�� _����

#���� �9[� #���� *�� �'� 1���� V�,��G��� ��,: 
������.  
��L�����  ���Z� E
�
��)P125(:  

#��,��G�  %+ $��� 
���� ���
 ���� ��!�7:  
N ���

 *
'� 1���� 
'�� ���
��6����� !��� 3!7�: �= ����=  �� 3!7�: ���,
� !<!+
� .  
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N  ���

*
!�U� -����� 1� 
,%� #� 3!� 
�� ����� 	����!�� ���
�� 3!� �!�� %+�� 3!�   . 
N !�!�
 3���  �9!. !�7 *
<!� 
�!�!+
������ #� 
��� .  

  
�������� +�� ��.
 )P141(  

�������1 :�(���� �� 	�2�5 
N VJ�3��� �� �#	�� %& %
�	���� +#� *�B� �= Q�!� Q�!  �#	���� A�� �	#� %& ����$ ?3�$

�D&��� �P����. 
N�� �!"� %
�	������ +#��� ���*  .%3�'�  !�!�� W6>�* ,�	���� W+��� %& ��� %>�$�D! ����.  
N V�	#� %& %
�	������ +#��� R"��� Q�!  W�D��" �	#��� I�*$� M���$ �	#� %& %
�	������ +#��� R"���

������� 6�
�� @&� +#��� )*� ?�  
���� C����	� +#��� +��� C���� W+#��� �DB C�DB.  
N V%
�	������ +#��� )*�� .��� 6
� �G ��  �
��� %G %
�	������ +#��� )*��)Tesla ( �G �G.���
T.  
NV%
�	������ +#��� )*� ,�#� .�DB F�$  ����
���$ %
�	������ +#��� )*� ,�#�.  
NV,�	������ %
�	������ Q�	�� *
B� Q�!  � *�*��� )*��$ �"$$ %
�	����� %
�	����� Q�	�� *
B� �

C���  
N V%
�	������ +#��� 	�	� CB�� Q�!   	#�� ��� %������  	#�� �� %
�	������ +#��� 	�	� CB��

 ,!���� ���� �G�$�� %��� ������� R��� %$��B�� CB��� ��� %������ CB��� ��� ,�	����� %$��B��
�D���* %&.   

N6P����� %
�	������ +#��� ������ 	=�   . �G.���� F"�� +#��� �DB� )*�$� ��.���� +#� 	�	�$ 
C	�#� ?��B %& ����$��.  

N�D����  �	� VJ�3��� �� �#	�� %& 6P��� %
�	���� +#� ��= +��� 	������ �� M�� F�$  . 
+!� ��= ,�	������U ��P��� C�=�& ��$ C�= *������ +#��� ��!�.  

N 6�G����� �!" ?� �	#� %& %3�'� %
�	������ +#��� M��� +��  C������ ��.��� ��*�#����.  �P��
"������  ��!  

N
�3�� 6
� ��= �*���=� %
�	������ +���� Q�=  ."������  ��! �P��  
�������2: ������� �$�B'� ��  ��B�� ����:  
N��P��� �#� O��� 	������  �3#�� . �	�  
N��.���� +#��� 	�	� 6P����� %
�	������ +#��� %& . 
���  
N�  ��U %& %!���!�� ������ �	���� )�$4 ?3�� / %
�	���. �	�)  %
�	������ +#��� ?3��

%3�'�(  
N:$ %
�	������ +#��� )*� �*#�   :� (��$�'�)A(   W ( 	�����)V(R  W (�
���) T .(  
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N F��
� %3�'� %
�	������ +#��� ��#&'� �$!���� ���� Bh = 22µT +���� C�& ��!� ?3� %&  

�	������ %60°%
�	������ Q����/� � W 5°W) �U( +#��� )*� 6�#�� I"G ��$ �� %G �� W

?3��� �"G %& %3�'� %
�	������ :  
 � (   44 µT (    22,1 µT R( 11 µTV   
�������3: �>	���� ��������� 
��  
N�$��  +#��� M��� 6P��� %
�	���� +#� %& . 
���  
N�
�$ %
�	���� Q�	 ��= +����� �!�� ,����� )*��$ +���.  +$ %
�	������ +#���$ ����� / ,�����

*�*��� )*��$ +���
�  
N?	�#�� �� %
�	���� +#� �� ��	�� �!�� . +���
� :�	#��� ,�� %& ���#� ��= +��� �� �!�� / 

) !����� �*$�(.  
N+#��� 	�	� ��= F*��= %
�	������ +#��� M��� +��� . �D� ��
��� +$ �	�.  
NR��� %$��B�� C$	� ��� CB��� %������ C$	� ��  �3#�� %
�	������ +#��� 	�	� . 
��� 6��  
N*�*� +#��� ��! ���! ����� ��!� +#��� 	�	� ��!� %
�	������ Q�	�� %& . 
���.  
N �$�� �� %3�'� %
�	������ +#��� ���� 0,5.105 T. �	�  
N %G %3�'� ���B$ %3�'� %
�	������ +#��� ���� 20mT �� 20T.  
N %G %
�	����  �3� ���B$ %
�	������ +#��� ����  50µT  ��50mT.  
N  �$�� �� %����� 6B� %& %
�	������ +#��� ���� 108 T��  10 T .  

�������4:  �	� �� 
���$  B� 
N������� %& ����� ������ )*� ?� �*�	  
���� *������ +#��� ���� W����� .!�� %&  .
���  
N��* %$��B�� CB��� ��� %������ CB��� �� �DB�� +#��� 	�	� %���	
� +��� +.�	�   
N�D��#�� **= ��=�3� ���� %& �D���� Q�� ��4 ����� ����� +��* %
�	������ +#��� )*�  .�	�.  
N ������$ �	�� %���	
� +��� +��* %
�	������ +#��� ���� B = µ0.n.I ��� n )*��� ������� **= �G 
�+�	�.
���   
N �DDB� ��& W %3�'� %
�	������ +�B��� %& ����$ �!���� �� ���� �G�$�� ����� ��!�� �"4 

%3�'� %������  	#�� ��� CB�� %������ .
���      
  

�������5:    ( B = 53,6 mT X tgα = 1,34  α = 53°  ⇐     
�������9:  

    %�!�� +#���B +#���  !��� �= O��� Bb�  %
�	������ +#��� ��#&'� �$!����� ������� %& ������ �= *�����
 %3�'� Bh  
E��   :        Bb = 11,55µT       ⇐⇐⇐⇐      B b= Bh. tgαααα   �B = Bh/cosαααα ⇐  B = 23µT  
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�������10:  
BN= 20µT  

 
  
  
  
  
  
  
  
  

  
�������11:  

1 (��� �-6 
.��� 
������ �5 ������!��� �� ���5 � ��� :  L > D  
2( B=7.5 10-4 T.  
3( +#��� ,��.  
4(��D�& A�!
�� Q� �DB$ F� ��������� %& ������ �DB$ %�!�� +#��� ���� @���� . +#��� ��!�&

 Q=�3� ��4 �"4 %�!��B = 15.10-4T  6�*�� ��B = 0  .   

P N M   
BN /4 BN BN /2 B(I1) 
BN /2 BN BN /4 B(I2) 

3 BN /4 0 3 BN /4 B(t) 

P N M   
BN /4 BN  BN /2 B(I1) 

P  N M   
B/4 B B/2 B(I1) 
B/2 B B/4 B(-I2) 
B/4 B2 B/4 B(t) 

P N M   
B/4 B B/2 B(I1) 
B 2B B/2 B(-2I2) 

3B/4 3B 0 B(t) 

P N M   
B/4 B B/2 B(I1) 
B 2B B/2 B(2I2) 

5B/4 B B B(t) 

I1 M N 
P 

BN 

���6 
8�
 

BM 

BP 
I1 M N 

P 

BM 

BP 

I2 
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 �	
���2 : 
�#����$��� ��� 
�	������ ���()� *����%�  
  

���U����� +��!Y$ O���)P149(  

 ��� ��*�=���� +��� %& %>�$�D! ����� ?3�� %
�	���� +#� %& )�#� +����� �"G��
�	������D!�� .  
 +����� ��= )��7��� ��
�	������D!�� )�#�� �DB @�����DB$� %
�	������ +#��� �DB %>�$�D!�� ������ ����
 

C�& .  
��U����� +��!Y$ O���
�)P149(  

��  �3#�� ��= )��7��� ��
�	������D!�� )�#�� )*� @��)*�$ %>�$�D!��  ������ ����� )*� � C�& +#���    
%
�	������  

��U����� +��!Y$ O���
�)P150(  
 +���  �3#�� ��= )��7��� ��
�	������D!�� )�#��F*��=  ��=�  �3#�� ��= +��� @$	��� +#��� M��� 

 ��= F*��= F�  �3#�� ��=���K��
 +��� �  �3#�� F���� F"�� M���%
�	������ +#���  . �� +�#�
 ��
�	������D!�� )�#�� ��*��=%
�	������ +#��� � ������ ��=.  
��U����� +��!Y$ O���
�)P151(  

 @����)*�  �3#�� ��= )��7��� ��
�	������D!�� )�#�� +�	$ F"��  �3#�� �� J.B�� �$�� %>�$�D! ���� 
 �G������& %
�	���� +#� %.  
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 �������� +�� ��.
)P157(  
�������1:  

F1 = 4,6.10-2N  (a  X (b F2=8.10-2N X (c F3=4.10-2N X (d F4=8.10-2N  
�������2       :3 ( F=10-6N  
�������3:  

1 (&#��� �"��  
2 (250θθθθ= .      Fh=0,42N  

       3(     BV = 11,5.10-6 µT WFV = 0,57N 
 
  

�������4:  
1 (F1 = 10-3N X 2( F2=0N X 3 (F3=10-3N  

  
�������6:  

1 (&#��� �"��  
2(&#��� �"��   
3 ( B = 15T  
4 ( �� ���$��� )���4 �����2,4N ��� 2,1N  
�������7:   

5 (6
��� �P�� ��� +��� f17� f2 ����� ��= ���!
��  �3#��� 1 pppp+#�  �3#��  
8( )�#�� ����
� )�� @�$	�  B�   F=0,2N �����D� �
!)���$� .  
	(  F'= 0,147N  
9(  WP=0,029J       

     �WF=0,04J   
  
  
�������8:  

:(������ �DB  I  ��  D���  C .)�#��� F+�
/� ��� .  
8( B= m.g/I.a = 98 mT 

5° 
20° 

SG 

NG 

������ Bh 

 �>��  
���7 

θθθθ 

BV 

���6 
8�
 

 �$(
#��	��G
 

B

A 
 

A’ C’

C 

I 

F 

BA A’ 

B 

O 

D 

C 

B’ 
M’ 

I 
F 

P 

F' 

B
C 

O 

D 

I F 

P1 
 

f1 
 

f2 
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 �	
���3 : �#����$��� ��� +��
���  
  

*�;��'�� ����<� ,���#�)P161(  
 )��*� %���� +��� A���� ��*�=�#���%& � %
�	���� +#� ?	#� +#��� �"G 	�	� +�� WC�!�� *���� C�& 

 6U� �>�$�D! ����6*=*���� )��*�� J�����  . �= +����� Q��� *�B�$ ������ �"G ?	#��?	�+#��� 	�	�  .
������ %�
� %>�$�D!��  Q��P�� I"G %& *������ +�
�� ����.  

��U����� +��!Y$ O���
�)P162(  
 ��  ��#� *�=��$4* �#��� )��* %& ����� �� %
�	����  �3� %$	� *�� ) A���� ��������� 6��� 

 �3#��(  W*����� ����� %>�$�D! ���� �D�& 6*��� Q���� *�= �!���� .  @�����DB �DB$ ������� ������ 
 �!�� �3#��) ������� �� (  	#�� ��=���) ��CB���( +!� 6*#��� �������� E*�� ������� I"G %&  %& ��

5>���*������ ������ .  
  

 �������� +�� ��.
)P173(  
=��� :
(�>6?  �����.�1  �(�� ��@#5(������ A����B� ? :5� CD� �%
�� 0.E 3��� 60° F(����� �!� 

G�
H�� ����I3�  

���)�:   

�������1 :  


�
H�� 
���B� ��I�: 

5 (%G ������� �$�B9� :5� CD� �%
�� 0.E 3��� 600.  
:(%G ������� �$�B/� :2�
������ �E �	��� . F�
� %��� �DB�� ,�� %& �#���� %& ������ F�
� 

������� %& �D�&  
8( %G ������� �$�B/� :3������� .  
	( %G ������� �$�B/� :1������� 
E�#� 
���1.**  

9( %G ������� �$�B/�: 3� 
�>��
��� 
��
��� 
����� ��� ��%��.  
** ���.
�:�����  	:(   

����� ���� C�� F� ���� �D�& F�
� A�" 6U�� *��� ��= F���� / )��*�� �� 6
��� �� P��� . ��$�
  �3#�� A����$ 6�� ��B��� �$�B� �� I����& @&*��� %& ���� E�*�$ /4 �DP� / ������� ������ ��

)��*�� 
	
 ����$ @&*��� %& ���� ��*�� .��� ��%�� 
 � �! ��  ��$��� �-! J�	
B :����� � %�� ��
K���	�� �( +�
���� ������ �-! �����  
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 )�#� ?3�� +����� �"G +�B� %
�	���� +#� %& ������� +����� %& I����$ ������� ������
 K*� F"��  $
�� ,!��� E��$ �D�>��� ��!� ,�$/ �����  
� �3���� ��
�	������D!

�P�� +! %& ,!��� F� �G��DP� ������
�� ����#� ?3��  �3#�� 
$�� F� ��B�����  �B��� )�� 
��$�� C�=�
 ��!� F� )���$� ���
!�����.  

�K
E�#�� 9-! 
��� ��    
 ������ ����I  �3#�� %& MN �3���� ��>�$�D! �!��� )�� ��DP �= O��� e ��$ M� N �� F� 
 %&�	 ��$  

 ����#���R C
�� ������ ��!� We = RI�� ��$�  ||||e|||| = ∆φ∆φ∆φ∆φ/∆∆∆∆t E��  ∆φ ∆φ ∆φ ∆φ )��*�� �$= @&*��� %& ������ �G
 )����� +��  

 �*B )���#�� ����.��∆∆∆∆t . �&�
�$  �3#�� @/.�� +�� )��*�� 
	
 ���� �= O��� �G�d)*��� +��  
∆∆∆∆tF� :  

∆φ∆φ∆φ∆φ = Β∆Β∆Β∆Β∆S = B.MN.d  C��� ||||e||||=RI = Β.ΜΝ.Β.ΜΝ.Β.ΜΝ.Β.ΜΝ.d/∆∆∆∆t E�� v = d/∆∆∆∆t�"4  �3#�� +�#�� �=�
  :v = 
RI/B.MN  

��� :B = 0,5T� R = 0,5Ω� MN = 20cm� I= 2A F��
�� ��$�� ��!� �=�
�� F� v = 10 m/s  
�������3  :e = 50mV@$�
�� +������ �P�� .  
�������4 :/*$ �$��	��� ��*�#��� ���� W@$�
�� +������ ��= *���=�� R��*��� �=�
 �v*B�& :  
      300=S , B ) (X e =1,73. 10-6.v(V)   L)  i= 1,73.10-7.v (A  L )F=0,35.10-12 .v(N 

%
�	������ +#��� �� ��G P��� B=2Bh) Q��3 (�"�� :v=100m/s  ⇐   e ? i ? F   �� �"G� �*B ����3
������� ��#�$	��� �� ���!�� %& ������� ���� �P��� 6*= ��$�.  

�������5 :  
N+����
�  B� �$�B��� I"G %&  ��$�� ��U )*�� �	�����) ,�	������$ ����� /� ���� / ( ������ �!��

,����� �� +*$ 6�����'�.  
N��3���� �!��� )�� �  �3#�� %&�	 ��$  ���� %>�$�D!�����I�$�� . C��B�  �3#�� @/.�� �' 

 ��*�� �G�$= %
�	������ @&*��� ����� F� �#����� )��*�� ���
� ����� K��� )��$�$� +#��� 	�	� ?	#�
� )�G�P������.  

N����� ����� ���  �3#�� :+#��� )��C��= ��'� �D#$	� %���  �)��5�$/  ��%
�	������D! �= �B����� 
�G*�B�� K*� F"��  $
�� �G����$ ,!��� E��$ �D�DB� �D���� ��!� ������� ������ .��$. ,!��� F� 

 *�$ ��$�� �=�
$  �3#�� @�.��� +#��� ���#� �D���� +�7�� +#���A�" . 
    ��>.B  �3#�� ��!�� ���	� +���� ���#��� �"G� M������ C���	 %& ���#� %���  �3#�� +�.�

 +������ ����#� %& +�B +��$ Q��� ��>�$�D! ���	� +���� ��\ J.B�)���!
���  �3#�� ( *�=�
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 ��*��� C�=�
  �3#�� ]��$)�!�� �4 (D�! ������ ���#��� %& ����!�� ���	�� +���� +��$ )����� �
�B�� %& �&����� +������ %& +�B.  

�������9   : ������� +�	  
�� : �D��	& �#���� �D��#�� �� ��$l F� A�
�� �	� %& �D���� **= F��
�  
l = N.D       

������$ �	�� ������� ���" �� ��G�$�� �!�� C���    :L=4ππππ10-7N2S/l    e = 0, 875V ⇐⇐⇐⇐      L=0,025H 
⇐   

�������10 :,5V      0 e =     
�������11  :B=6,3mT L  2,5.10-3W= 1φφφφL   = - 2,5.10-3W 2φφφφ  
�������12  := 8.10-5W φφφφ L  W=8.10-4J  L  F=1, 6.10-2N.  
�������13 :N  W = 1,87.10-3JA��� �G�  .  

W = 0J   -        .  
      N ��U �.����� �� ���#�
��� �.����� ��� �#�
� F� 180°.  

�������14:  
���3��� %�#���� ��3����� %�$��� 5��� ������� �"G.  

����= : *�� E�� ������� 5� %& �	� A��G ... " :  ?3� %& ��>�* %#$�%#&� "...  �G 
�'�� ... " %&
 ?3�������"...  

N	
 F� ���P=� �G�$= %
�	������ @���� I*�= ��!� ��3� "���� ��*� ���� �G�$�� ��*�=  ��= ��*��= ��
%������ �DDB� �� �D�� R���� %$��B�� �DDB� �� �D��*� %��� +#��� 	�	�� . +#��� ��G �'

@$	��� +#��� 6��� +�D� %3�'� %
�	������.  
N ?3� %& ?$��& 	#& �D�& ������ �DB ����� ���� %&� �#�
� �.��� ���� %& ������� @$�
�� ?3��� %& 

& +3�� �#�
� ��U �.���C�� �D��.� 6� �� C� . )���� ����.$ ��� C�� ���.� �"Y&θ ��>�#�� @�	�� 
 �G�*� )��.$ ��*� F� �#�
��� �.����� ?3� ��4 +����� ������180°.  

N )���� ����.$ �D���.� *�= θ �D�.= E�� �D����*  $
 ��!� �B�*.��� ��3�� 
$�� �D�3� �= 
������$ �	��:  

M = N.I.B.S.sinθθθθ    F� N.m  M = 0,16. θθθθ ��$�=�$ θθθθ)���� .  
N ����.$ ������� ����* J���� π �� �G�$= %
�	������ @&*��� %& ���� E*�� :Ф1 = - NBScos(π)   

 ��4 :Ф2 = + NBScos(0)�"4 ��!� @&*��� ���� F�   :∆∆∆∆Ф = Ф2 – Ф1 = 2NBS    
��!� ��
�	������ �B�*.��� +�= C��� :W = I.∆∆∆∆Ф F� W = 0,32 J 
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 �	
���4 : 
�������� 
����� ��� *�������� *�������.  
  

 �������� +�� ��.
)5192(  
�������2 :  

5 (  ���� :�����.  
  ( T=5ms     . f= 200Hz.   
R    (Veff=1,41V .  

������� 3:  
   �(  �����  

:   (  V=6V.    f =66,6Hz     
R    (�%( ������'��� � #��� �� 
������ =���� :�#
 ���� N.  

�������4:  
5 (  O��	.  
: (  f = 1667 Hz    ..Vmax = 3,6V  

�������5 :  
5 (  3� �5 "
3� 
����� �� �����	 �������� .  

����� ��4����  : T1=125µs =���   f1=8000Hz 
       ����� ��5 ����   :T2= 150µs  =��� f2= 6667Hz.  

:( ����� ��   4  :Vmax=1,75 V�      Vmin= 0V  
 ����� ��     5: Vmax=1,2 V    �      Vmin= 1V  

������� 7       :  
5 (   ����� �(6 �! *����	��� 		E ?2,4 �! 
�#�#
�� �5 ����  5V/div �-6 V1max=12 V   
: (  ����� �(7 �! *����	��� 		E ?3 �! 
�#�#
�� �5 ����  2V/div�-6      V2max= 6 V 
* (   V2<V1����.� +'I� ��
��� �-6  . 
8   (���
��� �����:  K=V2/V1=1/2 

�������8:  
�  �! ���)� ����6V �! O���1�� ���� ����� 12V����.� /(�� ��
��� �-6 .  
� �! 0��)� 0.E � %����� 
��3��� ����.� 
������ 
��%��: Veff = 6V 
�5     ( �! O���1�� �( ������ 
��
�� 9-! �(    8V. 

:      ( =� F����� ������ �) ����I *#�� 
�.���� ��
��� �- � O	���� �����#N� ���� �� ��5. 
8      (=� O	���� �����#N� ���� �� 0.E5 ������ �-! �) 

��#� *#��  .  
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���>�� �!��"�� ����  :    
  

 ������ ��= %G� %�
��� R�D���� �#��� %& *�� �� @&� ��*�� ?$�� ��= +�B��� �"G ������� ��
�:  
 �	
���1 :� �H��E *�#	���
��H� �� �5 �	�.  
 �	
���2:
#	E P�� �� ������� ���H��   
 �	
���3 :
��%��� 
#	��� 
�-��  
 �	
���4 :
������ ���
��� 4�>��  

 R���� /� ������ 	
$� �D#�#�� +�B� �/7�
��� �� �
�
$ )*�#�� �	�
$ �	��� )*= +�B��� �"G F����
#����� I"G %& %��!� �"� %&�34 8�� /� ��������������� ��$� +������ �$�B'� ��$ J�	=Y$ �.  

 �	
���1 : 
��H� �� �5 �	�� �H��E *�#	���.  

#��	�� 
H3I ��	�)P197(:  

 Q����2 Q����1  @&� Q������⇓⇓⇓⇓:  
N.!���� �#���� Q��	'� �!��
 .  
N��#� CB� �D� . 

NQ��	'� �#���� .!���� �!��
 .  
 N *�� CB� �D� .  �
*��� +!� 

 ���	�� �E �5 :�� �E �	!��:  
 ��3�� ���$ �
*��� �$= I��� ��

+*���� ��̂�� ��!� ,  
 

:�� �E �	!�����:  �
*��� �$= I��� ��
+*���� �$!� ��!� ��3�� ���$ ,  

	�� �E �	!�����: *G����� 6
B�� �DP� 
�$��#�.  

 

�
*��� �$= ��7���:  
N  ��  ��� 5�

�
*���.  
N �
*��� �= *��$ 6
B 

 �����.��� �)*&�����
*��� ��  @����   
*=�$�� �� .����� �D�� �
*��� �= +�#�  .

 �����.���)*&���� ��
*��� ��  �� ?�B�� 
 ��#�� .  ���B� �D�� �
*��� �= +�#� 

+!��.��� )*&���� � �� 
�
*��� 

"������  ��!� 6G/�$ P���� �P��  Q������ +!��� @&� ��
*��� �� M�� +! +��
$ C#&��� I�=��D�  
����� 6
/�  

  
������ ��= ��G�$��

2

1

2

1
R
R

OC
OC =���#��� ���	$�� %& )P198(:  
 ��D$������ �������� ��= *����11OM`̀C� 2OM`̀ C2���:

2

1

2

1

22

11
OC
OC

OM
OM

MC
MC

==    
 �� ��$�OM1 = R1 � OM2 = R2�"4 *B� :

2

1

2

1
R
R

OC
OC =     
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�������� ��$ +�)P200(:  
  � ������2 :  

 �
� F� +����
� ��* 6
��� ��= ,�#� 6�#�� +! �� F� ��
*�G �� ���� ��!� ������� �"G +�.   
  
  

  
  

  
  
  

 �������3 :  
 �������! +��� ,��2J�3�� %
!��� M�B��� �*$� *���=�$ .  

 �������4  
 ��G* 6
��� ��= ,�#� 6�#�� +! �� F� ��
*�G �� ���� ��!� ������� �"G +� �
� F� +����
� ��.  

                       
  

I  

A 

O 

J 

B 

R1 

i 

r 

D 

R=4cm.     AB=6cm.   OI=2cm.           

I 

A 

O 

J 

B 

R1 

i r 

R=4cm.     AB=6cm.   OI=2cm.           

 

A 

O 

R2 

J 

B 

I 

D2 i2 

r2 

2D:�����  .��$�� %>�3�� M����� Q �� ����
1D  

R2=5cm  .    AB=6cm.   OI=2cm 

I  

A 

O 

J 

B 

R1 

i1 

r1 

D1 

1D: .��$�� %>�3�� M����� Q�����  

R1=4cm.    AB=6cm.   OI=2cm 
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 �	
���2:
#	E P�� �� ������� ���H��   
1� ��5�
������ *������� �)P203(:  

 �
*��� %	���$�#��� **�� ?3� %& )����D�= *��$ 6
B�  . %�= )����� I"G 	�#��� �!������ %& 
 ?3���**���� . )����� I"G ��!����#�#��$��#��  .��� %& �
*��� �� 6
B��  ��#� ������ )����� ?3� 
�*��$� *��*.� ?� �D�= I*��$� ��>�* %G� �$��#� .  �
*��� �$
���$ 6
B�� ���� ?3� �� ���	��%���� 

 ��#�#��� )�����) �!�� / "4+��������� �	
��$ �D��= .(  
 6
B�� �� )��� )*G��� �!�� ������ ?3��� �"G *�$���7���$ )���$���  ����� ?3�$ F�Q�� %& �
*��� 

 ������ ���B%
�>��� �D��4 �P���� �$=�
*���  . )����� I"G ��!����G� �	
��$ �D	�#��� �!�� / "4 
���� . %G���*���) �$��#� �
�� F� ( �G*��$���$!�6
B�� *��$� �� .  ��� 6
B��  ��#� ������ ���� %&�

 )����� �#$� W�
*������G� W��*����$��  �G*�5�����.  
2� 
������ *������� ���5)P204(:  

�>�3�� W����! W��3�� )����� ��!� 6����� .B����  ��U %&.   .!�� ���B$ ������ .B���� ?3� *�$
 )����� ��!� W�
*���)J�34 +��$� ����! X��3�� . W�
*��� 6��� ������ .B���� A���� *�=)����� %#$� 

)J�34 +��$� ����! X��3��  
! ���'� +)"&���� �
*��� �� A���� +�!�� %& )����� . �� P��� W@$�
�� �� �$!� .B�� ?3� *�=

 �#$� )���������! �D�!� J�34������ .B���� ���� �� Q�3� �D�.  
3� 
������ *������� ���5)P205(:  

 �
*��� %	���$�#��� �&�
�$ �D�= *�$� 6
B� )��$!��� W�*B ) �$��#� �� ���� B��6
 ��= �=�3��� 
*�$" )���N�
*= "����
� �&�
��� �������� ������� f . W%�
B�� @����� �� C$��#� *�=�*��$� )����� 

 ?� �
*��� ���D>�#$ �$��#� .����� ��!� W%�
B�� @����� ���B$�) �$��#�  *�$ ��= �=�3�����$! �*B 
) ∞  (�
*��� ��. �&�
� *�=�"6
BN�
*= "����� *�$�� ��  %�����%�
B��  )����� 
$�� W���G� W

��*��� �� )*�B���  ��B 6
B�� )�
*��� +$� ( *G������7���$)���$��� .  
  

4��������� +�� ��.
 )P209(  
 �������1:    ������ ��= ��!� �������'� :)��$!  X)����  X*��$�  X5#��  X��U ��>��.  
�������2 : ������ ��= ��!� �$�B/�  : �	�  X� 
�� X �	� X�	� X �	�.  
 �������3:  �$��#�� ��#�#� )����� .������� = 

AB
B'A'' == OA

OAγ  5,20 γ = -   ���H�� ����  :
A'B'=0,5cm     
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 �������4:  


��%��� Q��HI��  

)
��%� � .� ��! *�#	���(   G�
H
����	  

 G�
H
����
5  


���I  
����	  K�-���  

 6
B �� �
*��� %	����#�#� )��� %#�#�    X    ���G� )����� ��!� �
*��� ��  ��� 6
B ���� %&  
������ ��= ���G� )��� ��= +����� �!��      X   6
B��  ��B �� ��!� ���G��� )�����.  

���� ��*$ ��#�#� )��� ��7� �!�� /  
    X  

 �D�3� *�= )*�B��� �����$ ��#�#��� )����� )*G��� �!��
 )����� ?3� Q��)��D&"� *�$ ������ ?3� Q�� F(.  

 �� �$!� *�$ ��= *�B�� %#�#� 6
B �� �
*= %	��f , C�� ���� )���    X     ��$ 6
B��� 
���f� 2f 	#&   
 *�$ ��= *�B�� %#�#� 6
B� �
*��� %	��f2 , ��#�#� )���  X      6
B�� *��$' ����
� )����� *��$� ��G ��!�� 6��.  

� %#�#� 6
B� �
*��� %	���
*���� @����� ��$ *�B� ,�$��#� )���      X  ��*���� ���G� ��G )����� ��!�.  
)��� *B�� / W�
*��� @��� %& *�B�� 6
B�.      X  �*B )��$! )����� ��!�  

���D�/ �� %& *�B�� %#�#� 6
B �� �
*��� %	�� ,�*B )���� )���.  X      �� �$!� �&�
���2f 6
B�� �� ���� )����� ��!� .  
  

  
 �	
���3 �
��%��� 
#	��� 
�-��   

  
1� ��5�
������ *������� �)P211(:  

N ��= �$�#��� �
*��� +��� ?��B� ��>�3�� ��.��� ���� �	#� %& �	��
�� �D��=.  
N ��.� �	#
 �"4 ��.��� �G���� @&� �$�#� �
*= ��= %
�>��� 	���� +!� ��= .�$� �D�Y& W

 C
��@����� F����� �
*��� .� F� )"&���� ��.��� ���� +! �?	�#�� @����� %& F�����.  
N ��.� �	#
 �"4 ������ ?$�� �� )�*�� W)��� ���� 8�$�� ( %& ?#�@����� %�
B�� �
*= ��= 

 .�$� �D�Y& W�$�#���= ��.� +!� ��.���� �G���� ������ %
�>����
*���  . ��.��� ���� +! �� F�
 )"&������.���� F��$�� ������ %
�>��  

N ��.� �	#
 �"4 ������ ?$�� �� )�*�� )��� ���� 8�$�� ( ��= %
�>��� ������ ��= ?#�*�$ 
��$! �D�� ) �� �$!�*�$�� %������ ( @&� �$�#� �
*= ��=�G���� %
�>��� +!� ��= .�$� �D�Y& W

	���� C
�� �= �G*�$ %
�>��� ������ ��= �
*��� �$!�%������ *�$�� ��  . �� F� ��.��� ���� +!
 )"&����?	�#���	#��� I"G %& .  

N ��.� �	#
 �"4 ��.��� �G����� *�� @&� �$�#� �
*= ��= �������� 	���� +!� ��= .�$� �D�Y& W
K��
��� �� �	#� %& C
�� F������ F����� @����� �D��
� F����� %������ . ���� +! �� F�

��.��� )"&���� �"G %& ?	�#�� @����� ���F��F������ .  
N ��.� �	#
 �"4 ��.��� @&� �$�#� �
*= ��= �*B �#�3 �G�����G����� *�� �� %
�>���  �������� W

 ��* .�$� �D�Y&Q������D
�� �*$� �D�� �� .  
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2� ��5�
������ *������� �)P213(:  
N M��� +! 	#
� �$�#� �
*= ��= ��.���F��$�� �G�����  ∆ �D�� .�$� ����� �� �����D 

F�����F’.  
N M��� +! 	#
� �$�#� �
*= ��= �����%�
B�� �D���� �� F�D�� .�$�  ��.���F��$�� �G�����  
∆.  
N ����� �$�#� �
*= ��= 	#
� M��� +! �G.!��$ F��$��.�$�  ��* Q����� )���� �D& @$	�� 

F��$ ���� ��= F���� ( �	#� %& F����� %������ K��
��� ?	#��F’’�� �D��
�  ����� ���
������. 

 
3� ���
��� �,=C ����)P216(:  

= D �&�
��� 
"6
B��N�
*="  

)����� 5>���  

�%�%
 &#�  �D�3�  �D���$	  �DG�B��  �G*��$�  
�� 
�� �N)∞∞∞∞(  F����� @�����  ��#�#�  �$��#�  �*B )����  

D>2f   ��$f� 2f ��#�#�  �$��#�  6
B�� �� ����  
D = 2f  *�$ ��=2f  ��#�#�  $��#��  6
B�� F��
�  

2f<D< f  *�$2f ��#�#�  �$��#�  6
B�� �� �$!�  
D= f  %&)∞ ( �$��#�� ��#�#�)J�3�� ������� I�B�� %& �
*��� *�$ (��*���� ���G��)�
*��� +$�.(  
D<f  6
B��! �DB�� ,��  ���G�  ��*���  6
B�� �� �$!�  

��!� &#�  F��
��� � �
*��� ��$
F����� %������.  ��#�#�  *�����  6
B�� �� ����  
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4��������� +�� ��.
 )P221(  
�� �����3    

���%
�� �� 
�!���3δδδδ    !�� :  cmOA 100'= fA'B'=6cm       
���%
�� �� 
�!���8δδδδ    !�� :cmOA 17' = f A'B' = 1,02cm  ��!�7 P%�
 3��0�� !���= 1= >+;�

���%
�� !�!�� 
������� 5 :  
�#������ ����� 1� !� OA'=4,7cm 1�� A' ,�%�4 
%������ #���8� ��+��� 1� 
,%� #" B'
,%� S 


,%�� 3��0S �����B.  
������� 7 :  

 *B���������= *�$  cm 5,37 ��=� �
*��� ��  M�����  cm5,1  %
�>��� ������ @�&.  
������� 8 :  

A1 6
B�� )���A Q�	 �� )�	���� �
*���  L1  C��� �!�  :
11

111
fOAOA =−   

  A' )��� A1  Q�	 �� )�	����  L2  �!� C��� :
21

11
'

1
fOAOA =−  

A'  %G�� )�����>�D��� Q�	 �� )�	����  �=��B���)L1+ L2 (  
Q�	� �&�	 �������� ?�B$  �!� C���: 

21

111
'

1
ffOAOA +=−  

�����$�  L1 � L2 �
*�$  L   F�7$�� �G*�$f +�*$��� ���=  �!� :  fOAOA
11

'
1 =−  

C��� *B� :       
21

21
111
fffCCC +=⇐+=       

������� 10 :  
)����� ���3�  cm2  2,4cm  4cm  ∞ 
)����� *��$�   )����

�*B  
0,2cm    1cm     )��$!

B�*  
������� 11 :f = 20cm  C = 5δ   
������� 12: *B��   *�$ ��= 6
B��  7,5cm  ���
*��� 6���  

 ������� 14:  +�DB��� %������ *�$��  :25cmN  �� �"4 )*�$� �
*�.  
������� 15:       4''' ±== OA

OA
AB

BA    ���� %&+4 )����� ��!� 
�	��� ���� %&� -4 )����� ��!� 

��.%�.  

�� ��$�             fOAOA
11

'
1 =−   � γ=OA

OA'    ��= +���� :γ
γ )1(. −= fOA     

=  ( + 4=  γ ← 4
)41(.15 −=⇐ OA cmOA 25,11−=  6
B�� �"4�%�%
.     



 66 

F 

S 

M 

F’ 
O J 

F1 E 

K 

I 

F 

B 
I 

M 

F’ O 
J 

F1 
E 

A K 

B I 

M 

F’ O 
J 

B' 
E 

A' 
A F 

F1 

            C��� cmOA 45)25,11(4' −=−=    )����� F�
��!�   
  (4 N= ← γ cmOA 75,184

)41(.15 −=−
+=⇐   6
B�� �"4�%�%
.     

C���  cmOA 65)75,18(4' +=−=   )����� F��%�%

.   
  

������� 16:   
 +����� �!�� 6
��� ��������.�� F��
� ��= ��G�$� 

IF'O=FOF       
�� ��$� OF = OF' ��������& IF'O   � FOF1��D$���� �  

FF1=OI  
  

���	����  
�:  
N A'  )���A ������ ��= ∆∆∆∆ %�
B�� @����� %& %G� 

F.  
N B'  )���B   � ��!�.��$�� M����� ?	�#� �	#� %& 

KE  %& F� %������ F��
���$F1. 
N  �� ��$�OI = FF1 = A'B'  � AB = OI  �"4 A'B' = AB   6
���  
���$��#� )����� F� W γγγγ 

= -1  
N  I"D� @&����� 6
B�� ?3� *�B�4 �!��

 6
B�� �	#� 6
�$ ������B �	#�� �#&����� 
 )�����B'=�$  %
!��� M�B��� *���
 J�3��)J���.�� ���'�6
��� ��= ( . 
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 �	
���4
������ ���
��� 4�>��   
�������� +�� ��.
 )P235(:  

�� �����1 :)����� +�	 :cm3�
*���  ��#�       :C = 15δδδδ  .����� �>��    ����
�� ��
� #� 3�%�
�'����.  

�� �����2:   
�(0,01rad   = θθθθ  .  
 (  ?3����G� )��� ��= +����� 6
B�� : ��$ F� %�
B�� �D����� �
*��� ��$ 6
B�� ��!�
0 � 5cm.  
R(  ?3� )����� A'B' :20cm �
*��� �� .�D���$	  :
��!�  .��$��!	:RA'B'= 10mm   

              �D��� �� K�� %��� ����.�� A'B' : = 0,04rad θ'W       
              )�$!��� 6��3�: G=4 )�$!��� F��B��� 6��3���� Gc = 5.  
*( ��= +�����F��
� F��B� 6��3�  10 F��
� ������� �
*��� %������ *�$�� ��!� ��  B� 

5cm  
�� �����3:   

�( GC=125 
 (  ��>����� 6
B�� ��$ *�$�� :1,07cm 
R(  6
B�� *�$�= ��>���� ��&�
�$ 1,64cm.    

�� �����4:   
�( �  ��! %& 6
��� �P��%!���� ��P���� )�#& "�����.  
 (   %G ��>���� � ������� ��$ �&�
��� D=O1F'1 + F2O2 E��  F'1 : �� �G @����� F���

 ��>����  
�     F2 :�� @����� ������� %�
B .� O1 � O2: .!�� � ����
*�� .  

  �
�    3����6�      :G = O1F'1/O2F2   �"4: G=10.  
�� �����5:   

�� ��$ �&�
� ��!$����F��$�� .!����%G  1,85cm 
 �&�
� ������3���� ��7��� %G 7,4cm  

�� �����6:   
 ��B��:  N  �
� C2�
*���  ��#� ������� :���*�  C=C1+C2    

      F�  C2 = C-C1 = 4,7δδδδ     %������ �G*�$ �"4 ��!��f2F��
�  :f2=21,2cm �$�#� �
*= �"4 %D& .  
 �&�
� �����3���� ��7��� ��
*��� +����
� +$�%G  27cm 
$�� 
������ *�$� cm12 I"D� +��� 

+�*$��� ����$ �B�����.  
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� �N�
�� �	���� ����  
  

%G� ��*�� ?$�� +�B��� �"G ��3��:  
���'� )*���� :��.���� ������ %& )*���� ���! ������ �#��	 W%������ .���� R"���  
������� )*���� :��	 W�������� ,�����*����� +������� %& )*���� ���! ������ �#  
������� )*���� :)������� �	
��$ )*���� ���! �����.  
��$���� )*���� :���3��� J����!�� ��4 +�*�.  

 J����!�� %& �����
��� )*���� ����! ������ ,��� @�	 ��$ ��= ���'� ������ ��*���� %& "������ ?�	��
$��� %& ,�� �D���G�� %& ������� )����� %& �D�����
� �/�B� Q���� %& +$  
�& �
��*��� E�$�� �

 a��� �$����� )*�B��� ��=���� +����� �$���� ��$	�� +������� �$��� …S�� .  
 ��P��� �*���� �G"��  B� %��� ��	����/�� ����'� 	������ �D>��B4 ����! ��=  �*�� �D��� ���

 ��&����� C��$
�!���#$�
�� ����
��� ��*���� %& �D$
�!� %��� ��$��B��� ����D����.  
 Q���� %& ��
��#�� I"G �G*���� %��� ��>����!�� �����#��� ������� 6�G����� Q��!� ��*���� I"G +�� ���

J����!�� 6��= �/�B�.  
 ���'� )*����)5238(:  

���� %& ���$	�� %& ��>����!�� M���'� �� ���! *B�� J��D�� ����!� �D�G� ��� ��.���� ��)N2 WO2 W
H2 W ...( . ��� ���U' ��.���� �D����� *����� ��$ +��� ��!) W��$	 W��=��� (... �D&��� �
��*�

)��$! ���G�  
�!� ������ I"G %& �D�>��� *�*���.  
��. "�� �D&���!� 6� �DB"��� %��� �����#��� 5>����� I"G �� ���!���.  

8��#� %��� �����#�� �U���� 6�G����� �$��#� *�� "������ �D##�� �	�
$�� ��	����� �� ���B )*���� I"G 
 +�B��� %& ��D� ��B����
� ��4 +�� Q�! �D��� �� Q��!�� ����� Q��P %& ��.���� Q��� R"���

 K�DB���)%$�!
��!���� ( %������ +�B��� %& ��P���� ��
��� ��= �*���=�)!����%$�!
�� .( ��!
 ��>��.�& 5>���� ��&��� ��.���� �3���� )���� �B�*� ������� 	�3�� ���� %& �� Q��!�

%������ .���� R"��� �	
��$ �D��� �!�� �"� �*B �$��#��.  
%������ .���� ����� @�$	�$ ��.���� ������ %& )*���� ����! *�*��� C��= *���=/��.  
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������ )*�����)5259(:  

� )��$! ���G� ��>���� +������ ������� )����� %&� "4B *�� �D������ �D�
��*� ��B������� 6�
B'� +! %& �G*
 �D�������  
�� �D����!� �&���� K��� ���G�  
�!)B� ��=�� �$���� W6*�� +������ WI����� )*(... 

	 ��= ?�	��� ��$��B� ����D� �
��*�� I"G +�� �� "������  
�!� %& )*���� ���! ������ ��>��.�& �#��
�D��BD��� ��*����� ��>���� +������� .�#$�
�� C��$
�!� �D�& QP�� ���& %G ��!.  

�$�����!"� ����'� ��	����� � ��B���� ���>���� +������� 6�D��� C=����� 	����� 6�D��.  
6� 5���
�� �G.���� ��*����� +������� @�	��  ��$��� �D�>��� 6�D��� +����� �D�� ��>�$�D!�� �

B ������� +���� �� J.�D
��� . 	��� ���$� %& �D��P��� "������ ������� @�*��� ��B���� ���& %G�
4 �����
��� +>�
���� ,��#�� J��B)W��3���� ������ ���� W ����� ���� (...  

�/� ����#�� �������� ,��#� C���� "���� +! ?��� �� 8��#� ��G C�����
/ .�DB �
�� "��� �D��$ ���& ��.�B
 ��B��� %��$ %&. �
��*��� ������ ���$	 ���� / F� ��$���� / ��>��.�& �#��	 �D��!$ �#��	�� I"G .���� .

��
��#�� %& J���=/�� �"��� 6.��
� �"� �#��* �#��	 �D�� ��!.  
 )*�����������) 5284(:  

��$ )*���� I"G "������ +D�
� �D����� ,
/�� ����'� +�� ��3���� ��
�� ��$
�!� �D�& QP�� ��	�
 �D� *�����$ Q���� *����$� ��
�
/�� ��3���� +������� �
��* +���� 6� W������� Q���!�� *���=�$

��� ��>����� 6�D�� ��4 +������/ ,�
� ...S�4  .  
 ��=����� +���� %& �D����
� 6�"���N,�
� "��! ������*���=�$ +������� I"G %& ��=������ )*���� �  

N  ��=������ *����� �$
� �D�& ��!� %��� �	#��� �D�� ��= 7&�!��� �	#� *�*��� ������� )������� �#��	
�D� �B"����� %>����!�� +=����� ��*��� %& �������!��
�� +������ �$
�!.  

N �	� ��$���� +������ ������ ,��#$ )������� �#��	 7&�!��� �	#� �����$ *�*��� )������� ����= +�� �G�
+=����� 6*#� +�*B Q�P���. 

M�B�/�� )*
!'� ��=��� �
��*� )*���� ���! ������ ���#��	�� QP�� �G*�$� . ��= �D��� �� Q����
*
!7� ��>����� 6�D��� ?B����� *
!7��� %��D��/?B�� !'� ��=��� +����� Q�� %& C���G��  )*


 ��=�B�9�... 
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��$���� )*����)5312(:  
�$���  ?� ����#� 6���� �"G ������� "������ �D�& Q��!� ���3��� J����!�� +�*�! )*���� I"G K����

�D��.���� ���3��� ��$!���� ��$ �= Q�!�� ��3���� ��
�� �� C��$
�!� QP��� ���3=��� J����!�� .  
�3��� ��$!���� +! �� Q��!�� ��� **�� ��� ��B��*D��� ��$�!�� F���= ��= F���"�D����$��! "� ����!

!�� ��
�
�� %& �D	�$����$ ��>��.���� 5>�����$ )���$� ���= %����� �� %��$�!�� +!�D�� ��!���� ����
���3��� ��$!���� ��>����!���.  

%�� ��� "������ @�	�� W����#��� ��	����� +�� ���:  
N� +������ F�3= %>����! M��� %��!�.  
N���3��� ��$!���� �������� �������� .  
N ����B��*�D�� 6����� �������� ������� +
�
��  )������N��#�� (.  
N��!�� ����B��*�D�� 6����� ��B���$�	�� �$.  
N ����P��� ��=��B���� �"B�� 6�D��  
N ��$!�����.  
N�����  
� ����B��*�D�� 6����� ���
� � IUPAC.  
N��>��.���� 5>����� ��= ������� ��
�
�� ����� .  
N�D���
�� ���3��� ��>���� �= Q�!�� .  
NK��' ).��� �=��B� �� ������   

C��#���� +���$�� +�� ��#������ ��
��*��� E��$�� �� �=��B�$ )*���� 6����.  
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��(���1 :* ���
�� ��
� %����� �$�
	 Q#���
�� ��G�� S0�
�����G�� ���(�� #  
  

�	
���1 :���1��� ��$�� 8-��� .  

���$�� 
��
�� �( �	���� 
��� ������ 
%���            . 

 
 I"G %& "������ Q��!� W�D��= ���� %��� 6�
B'� ��= �G����� )�#�� 6�D�� +�� C��$
�!� ��= �*���=�

�� %& �$�� F"�� 	�3�� �G� *�*B 6�D�� +��*4 ����� )*���� %������ K��
�)%$�!
��!���� ( ���\ �=
C����� F"�� J��9� 
	
� .���� ��>�.B ��$ %$�!
��!���� K��
��� %& ���*�����.  
�D$ 	��� %��� 6�
B'� ��= I���\� I��* WF�B�� 	�3�� 6�D�� .�$�� Q��!� C���.  

� �B�*� 	�3�� �D�& ��!� Q��P %& �� Q��!� )�$��� �	�
$  ��B� +�� ��� W��3���� )�����
 ��$�!
��!���� ��*�#��� ��$ 	$�� F�P� %���� .��$ �D�B"�� �!�� +���� Q��� ��#�#��� ��.����

%������� .���� ���= %G� �	�
$ ���= C� ).�����:   PV = nRT )*���� ���! *�*��� �D����
� �!��
,��*��� .���� %& )�������.  

� �� �	��'� I"G +�� @#��� ��! 	������ +��$ �� +! Q�	 �� ����!��� ��.���� ��$��B��� �����#�
A�
�� %U�  +����.  

 �"�� ���� ������  �	�� / �D#�#�� +�B� ��� ��!�
�!� �	�
$ )*���� I"G %& ����#���  ��B��� +!
� ��= .�!���� ����� �#��* ��$��B� �/�!���$ M�$��� %BD����  ��B��$ J���=�� ���& %D& �P����
�����
�� +������� ������� %& 6!��� 	�
$ %��=  ��
� *���=�$ @��*�� Q����� �#��*�� �������.  

*�
�
H�  
������� ���	���� ��$ �  ��!�� %& �*�� %��� J�	�'� ��$� ������ %����� +�*B�� %& %	��.  

  
������  �	
��  �	���  
������  ������� ���	����  

249  5  
    

 

249 8 
  

 
 

254 16 
   

254 20 
  

 
256 9 2,105 2.105  
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�������� Q�� ��.
)5255(  
  �������1 :  
B� / �� 6��$   

/ W/ W6�� W/ W6�� W/ W6�� W6�� W6�� W6�� W/ W6�� W/ W6�� W/ W/ W/ W) ������ ��=(  
 �������� +�� ��.
  

�������3:  
         ��$�� )*���� ���! ��#$ 6B��� ����� ����= +��)    ����� 6� .���� �/�� **= (    .�:��� )���� �B�*�

F� ��$�� :nRTVPVP == 2211O���
� C�� �  :  
PaPV

VPP 5
1

2

11
2 105.25.1

5 ===  

�������4:  
����  - أ	
/� )*=�� ��= �#$	��� )�#�� )*�: NR

P
S
PF 6

5

2 1098.304.0*14.3
510 ==== π 


 �6B ����.  - ب$�� 	�3�� ����� ����= +�� )������ �B�* ��$� ��3��&� �"4: 
  
LVP

VPV 752
5

'' ===  �$�� 6B� ����	
c� �' �!�� ��U ����&/� �"G�V = 30L ����� / 
����.���� 	�3 ������ *����� + ))*���� ���! ����� ��* ( E��$ C����� �B�* ����� �GV= 

T1/P1=P2/V2  
�������5:  

5�  
:�   6����� 
�& *�$R1 ��$�� )*���� ���! J�#$ ?� .���� 6B�� ����� E*�� ) 6� .���� �/�� **=

����� (F� ��$�� .���� )���� �B�*� :nRTVPPV == '21   
�   E�21' VVV +=O���
� C���   :PaPVV

PVP 5

21

1
2 1043.125

5 ≈
+

=
+

=   
RN  6����� 
�& *�$R2 ��$�� )*���� ���! J�#$ ?� .���� 6B�� ����� A�"! E*�� ) 6� .���� �/�� **=

����� (F� ��$�� .���� )���� �B�*� :nRTVPVP == ''' 32   E�� 321'' VVVV ++= C��� O���
� :
PaPVVV

VPP 5
2

321

2
3 1025.1125

7' ≈
++

=
++

=   
 �������17:  

�"4 ���$�� .���� 6B�� ���!: �$
���P/T = constante ��$��  .   P1/T1 = P2/T2 
T1 =273+50 = 323 K X T2=273+10 = 283 K  

P2 =P1 *T2/ T1 = 1,1 105 *283/323 = 9,64 104 Pa. 
 ���*�n= PV/(RT)  
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 ?�3 m3-10= V       *B� : mol,041 0)= 323*,318 /(3-10 *5,1 101= n 
          ?�V= 2L*B� : 0,082 mol  � 
?�     V= ½ L  *B� :0,0205 mol 
 �������18:  

1 ( �!��m(kg)  6B��� %& )������� .���� ���! V(m3)	�3�� ��� P(Pa)  )������ �B�* *�= T(°K)    
�M(kg/mol).���� ���B��� ���!�� . .���� �����  �!�%������  : PV= nRT = mRT/M 

 ?�P= 2,1 105 Pa ; V= 0,03 m3 ; T= 273+20=293 K 
J��D�� ���! C��� :n= PV / (RT) = 2,1 105 * 0,03 / (8,31*293)=2,59 mol 

%G J��D�� ������� ���!��  :mol/g29 = M J��D�� ���! C���   .g75 = 29 *,59 2= m 
 
2 (P= 2,1 105 Pa ; V= 0,03 m3 ; T= 273+20=293 K  

 )������ �B�*�K,6 320)=,318*,592/ (,03 0 * 5,3 102) = nR/ (PV =  TF�   :°C,6 47= 273 -,620   
 J��D�� 	�3� M����� Q�	 �� ����#��� 6�#��)29 g/mol ( ��.'� ���� �= ����! Q���� /)28 g/mol (

������� ��D����!  ��#�� . 
  

 �������19:  
�� ���= +���
�%������ .��:PV = nRT  

1   ( n1 = P1V1/(RT)     ?� T =273+27 = 300 K�  V1 = 2 10-3 m3 
.mol,16 0)=300*,318/(3-.102*52 10 =1n 

  n2 = P2V2/(RT) ?�  T =273+27 = 300 K�  V2 =5 10-3 m3 
                                                                             n2 =1 105*5 10-3 / 

(8,31*300)=0,2 mol. 
.���� %�!�� 6B��� Vt = V1 + V2= 7 10-3 m3.  
%G )*���� ���!�: n = n1+ n2 = 0,16+0,2 = 0,36 mol. 

��!� %>�D��� 	�3��� :. Pa5,28 101=3 -7 10/300 *,318*,360 = tV/nRT = fP 
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 �	
���2 : �������� 9���Q� ��
� 9��$� ����� �$�
	 ���
���� ����(
�� #* ���
�  

�	%�:  

 )*�*B �#��	 �$��� ������� )*���������� QP�� E�� W �������� ,��#$ ��*����� +������� %& )*���� ���! 
 "������� Q���� � �G��3��� +�������$ �#������� F������ 6������ �� ���'� ��
�� %& ���$#�� C��$
�!� "������

*���� I"G +�� ����= ):  
��>���� +�������� 	>����  

+�� ��!"���D�� % W��D��$ @����� +������� 	����� ���$#�� C��$
�!�� Q�P���.  
 F*����� +������ ) ����� +�����–��>�.B +����� (  

N J�$�D!�� �D�#� %& ��*����� +������� �D!�
� %��� A��
��� Q���� F*����� +������ 6�D�� ��= Q���� 
�3��� %>�.B�� +������� %>�$�D!�� ������ +#�� F"�� F*����� +������ ��$ @���� ��= Q���� W ���$�� �G�

%>�$�D!�� ������ +#�� / F"��.  
N�$���� *����� �� ���	�� ��*����� +������� �3�� Q�! Q����  )KMnO4 WCuSO4 WNaCl (...   
N �� *����� �� ���	�� +������� �3�� Q�! Q�����$	#�
�  )H2O W HCl( ...   

��*����� +������� %>�$�D!�� +#���   
N �������� ,��� ����!� ��������� ����#��� ��= Q���� G�  �� J.B +����  
N���$����  ��B��� +�� �� ).DB'� ��$ ��= Q����   
N �������� ,��� %& )��7��� +������ ��= Q����  ) 

��S ������ – *�$�� L�� ��$ ������ %���N @�& 

 �������� ��= ���!��– ����� –)������ �B�* (  
N �������� ,��� ����� )������� 		�� ��= Q���� G=f (C)   
 * %>���� +������ .�!�� �����  
 *�������� ��= +������ ��=�� �����  
NF*��� +����� ��=���� �������� ��= Q����   
  
  



 75 

     
1 –���� +�������� 	>���� ��>:  
N,��B������ ,��B���� 	����� ��= Q�����   

	���1:  
����$��� +��!4: ���*�� W ,��B�� W C����!� W �
��B��   

2 .�>���� +��������:  
	���1 :%>���� +������ 6�D��.  
N  �$�� +! %& P��� �"�� V   �$�'� ����$ W%B
��$ ���$ ����� +�'�  �$�'� �� "������ P���

� / %����� ����$ W C� ��� �& ?$����  �$�'� ��� @�.'� ���$ ����� E�����  �$�'� ����$ WC� ��
�
��B�� 	>�� �D�!  �$��'� �������.   

N  VE������ +�'�  �$�'� %& ����� M.�� �
�� Q�!  
���!�� ,��$ M.��� ������� )*���� �� ��= +��* �������  �$��'� @	��� ?��B %& ����� +���� %& �

�&�����  �$��c� A�" 6���� ,��B�� 	����� �� +�#� �"�� ��G�B�/� ?��B .  
 ����$��� +��!4: ��!� W5�����.   

  
  
  
  

 +��!4����$��� :
)*���� W )*���� W 
J����   

3 .  ��3��
F*��� +����   

	���1: F*���  �� 6
B� %>�� +���� ��3��  
N *�= )*���� +��* ��
�$��� ?3� KMnO4 �$���� )@��
� ()��*�� %& %>�$�D!�� ������ ��� / W .  

 )*���� ��4 J���� �&�34 *�=�KMnO4� ��� %>�$�D!�� ������ �� "������ P��. 
N  %>���� +����� 6��*���� ���!� %>���� +���� %G %>�$�D!�� ������ ���� %��� ��>���� +�������

%>�$�D!�� ������ ���� / �!
�� %>���� +���� ����$ W6��*���� �����$!�.  
N � *���� �D>�����$ %>�$�D!�� ������ ���� %��� +������� .������*��� +����� �D��
�. 

 �$�'� 6��  1  2  3  
 6
�
+����) �"���(  J����  +��!�� �� J����  +��!��  
 6
�

������) �"���(  +��!  J�� �� +��!  J����  

+������ 6
�   +����
%>��  

 �� %>�� +���� +����
%���!  

 +����
%���!  
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N ��>�.B +����� �D��
�� ��>�.B �D>�����$ %>�$�D!�� ������ ���� / %��� +������� .����. 
������� ����$��� +�!�  :+#��� W+*��� W *������ W ��7&�!� W +#��.         

	��� :+������� %& �D���G�� WJ���� JF.B ��$	� .��$4.   
N �P����� :  �"B��"� 	����%>��� " �!��*�� )�	
��� ���)��� Q����$.( 
N  J���� e�.B ��! ��= +��* )�	
��� ��� J����  �"B�� )�G�P�� ��
��

�����B4 +*���� e�.B�� �' ��>�$�D!  	#�
� . 
N ������� ����$��� +�!� :��>&�!� WR�. W��B
!'� W����W ����.  
3 N 2–��B��*�D�� ���! JF.B  HCl     

 	��� :+����6�����*�D�� *���� �B��� J���� %& ��B��*�D�� ���! JF.B . 
NJ���� �� )��&�� �!�� ��='� ���  �$�'� %& J���� *=���� VP��� �"�� .  

 V)�G�P�� I"G �
�� Q�!  
N+�= V J���� %& �G���$ +��� ��B��*�D�� ���! .�U +G  .  

! .�U J����� �= O��� ��B���� +��* )�.�$ J���� *=��� �3������ �U��& �!��� )���#�� �� ��B��*D�� ���
J���� *���  $
� F"�� K�B�� 	�3�� ��� 	�3�� %& .  

 C�� ��4 ���B��� ��4 +����� �!�� �D��� 6GJ��� �����#� "������ A��� V��B���� �� .���� J����� 6� Q�!
C�� %>����! +=��� E*� �� J���� %& .���� +���� E*� .  

N�$ ���
� �$�
��D! **�� F��*�� +�*B��)�" +!  .  
N+�= VO���
� �� V���$�� E�� �� ��B��*�D�� ���! JF.B� J���� JF.B ����   . ���!� J���� %>�.B�

���'� ��
�� ,�* �P�� ����� �D������ ��= +��� �� �!�� �"D�� W���$�� E�� �� ���$	� ��B��*�D��  .  
����$��� +��!4 : %$	� W+��� W D!��$�
�� W ��B��*�D�� W�$��
 W ��B��*�D��.  

3 N 3–��B��*�D�� ���! +����   
����$��� +��!4  : HCl   WH+   WH3O+ .  
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II –��*����� +������� %>�$�D!�� +#���   
	���1 :  

 Q���� ���'� ��
�� %&  *������ I"G ?� +���� ��� @$
 "4 �#$�
�� C������� "������ QP�� ��G
 %& �D&�����>���� +�������.  
 ����$��� +��!4  

����� 6�*= W���� W ,����� W�����$! �D����� W@�.� W6��
���$�� � �����$! W��� .6��
���$�� �����!� W 
%��#��$. @�.'� W,����� W%��#��$�� W�����!�$��.  
	���2 : *������ +�#��� �= O��� +������� %& %>�$�D!�� ������  
N �= *G��� �"�� Q�)���$� )��*�� @�U *�$ ������ � . ��7� �� ��>�$�D!�� )��*�� @�U *�$ *G���

%>�$�D! ���� ���� ��= +��* A���� ��� ��$�'�.  
N  +�#��� F� ������� +����� )*� *�$ P���� A�"� ���� �����$�/� �' 6�� V)��*�� %& ������ ��� +G

I�$= ���� ���� F� +������ %& *������ .  
N �� Q� )*� *�$ E*�� �")10@>��*  ��!� ��(V  ����� "4 ��3�� %����� +����/� ��!�  )*� *�$

  ��
�� ,�$�� )���B��� �#	����)*����� ( ����� ����$ I��� �DB�� ,����� *���� �� F� @�.'�$
  B���� ,�$�� )���B��� �#	����)	$D��� (�� I��� �DB�� �����!�$�� *���� �� F� %��#��$��$ C�

 K��'� *����� �� O���
�)����� ���*��� ( �B���� CB�� E��$ ��#���)6��
���$�� ( CB��� *����� ���
 �$��
��)�����$!�� (	$D��� ���.  +�#��� +� *������ +�#��� �= �B��� +������� %& +#��� ���\ O���
� C��� 

*�� /� +#��� %��� %G ������!�/� �*����� %& ����$ )*����)*���� +�#��� F� E.  
 1 N��*����� +������� %& �������� ,���    

����$��� +��!4  :�J.B W �����W �����  W .�!���� %&. �J.B W �����W �����  W .�!���� %&. ������ W 
)���� W �*�..   
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�������� +�� ��.
 
�������1 : �	� 6� 
���$  B� 

�� W
��� W
��� W
��� W
��� W
��� �	� WO�) ������ ��=( 
�������2  :��D��$ *�$�� � ��
�$��� 
	
 ���� .$D���� *����� ��$ ������� J.B�� �������� 	  
�������3:   σ = 0.527 S/m.  σ = 1.39 S/m 
�������4:  k = 0.67cm    Wσ = 19 S/m 
�������5 : ������� ��>����!�� ��*����� ���*�    :KMnO4   →→→→  K+(aq)   + MnO4-(aq) 

[K+ ]= [ MnO4-]=C      
 +������ ������� ��=���� ��������  

=  λK+ +2λMnO4- = 13.45 mSm2mol-1 λ 
G =λ C       C���   C = G/λ 

C = 6.32mol/m3 

%��!�� .�!����  
Cm = MC=1g/L 

�������6: 
 :� ������� ���!��NaI F��
� 149.9g/mol 
%����� .�!���� :C = Cm/M = 2/149.9 = 0.0133mol/m3 

 +����� ��=���� ��������NaI  : [Na+ ] = [ I-]=C      
σ =  λNa+[Na+ ]+  λI-[ I-]  

σ = 0.168 s/m  
�������7 :   

G(Na+ + NO3-) = λNa+[Na+ ]+  λNO3-[ NO3-].C .S/L  
G(K+ + NO3-) = 1.12 mS 

G(K+ + Cl-) = 1.37 mS ��� ��!� 6��
���$�� ���! +���� �"4   �#$�
�� +������� �� ���.  



 79 

�������8 :  
1 N�$��! �!�� �"4 **�� +������   :G(Na+ + OH-) = σ S/L =λC S/L= (  λNa++  λOH- ) C . S/L   

��!� +����$  :G(Na+ + Cl-) = σ S/L =λC S/L=    (  λNa++  λCl- ) C . S/L   
��!� +����$  :G(K+ + Cl-) = σ S/L =λC S/L=    (  λK++  λCl- ) C . S/L   

G(K+ + OH-) =  (  λK++  λOH- ) C . S/L = [ (  λNa++  λOH- ) + (  λK++ λCl- )+  (  λNa++  λCl- ) ]CS/L   
�"4   :G(K+ + OH-) = G(Na+ + OH-)  + G(K+ + Cl-) + G(Na+ + Cl-) = 3.48 mS 

�D!�� ������ ��!'� �G 6��
���$�� *�
!��*�G +���� �� O���
� J�$   
�������9:   ������� ��>����!�� ��*����� ��:  

NH4Cl           H2O         NH4+    +  Cl-                                   
 %���$�� 	��� 6
��G=f(C) +!��� �� C��*��� 6�#�
� 	� �= )��$= I*B� F"��� G =A C E�� A +���� 

F� C�B����  :A = ∆G/∆C  = 0.31/1 = 0.31 
N������ C$ �����= F"�� .�!���� +�B� %& ����� C�
��* *��� F"�� +������ .�!�� ��!� ��  B� .  
N ���#�� 	�#
4 *�= G = 1.48mS �G*B�& W .�!���� ���� ��= �#&����� ���#�� ��#� %���$�� 	��� ��= 
`C=4.77m mol/L 

�������10:  
 1 N    KNO3    →→→→    K+  + NO3-         

2   N ���$�� 6
�� G=f(C)  �� P���& W �$�B��� I"G %& �����
��� ,��#�� ����� )������� 		�� +��� F"�� 
G .�!���� ?� �*�	  
���� C ,��#$ 6�#� 6� WI WUI.�!�� +�DB��� +������ %& ������ ,�U *�$ .  

 ��*�= C�� P���U=1v ���� ��!� G���#� ����
� I  :$ WmA �' G= I/U     
 ���#�� 	#
�G ���$�� %& G=f(C)  ���� ��= C 
����� .�!���� ��#� � .  
I= 0.88mA *B�   G = 0.88 mS *B� 	�#
9�$  C = 3.49 m mol/L  

�������11   
1 –6��*���� �����$! +���� ��*���  : Na2SO4 (s)   →→→→  2 Na+(aq) + SO42-(aq) 
2 – +!��� �� ��>�$�D!�� )��*�� 		��   
– )��$= �������� G = I/U�#$�
�� ������$  �
��� *�$ +�*B�� c��   

S6 S5 S4 S3 S2 S1  
C6 5.0 10-4 1.0 10-3 5.0 10-3 7.5 10-3 1.0 10-2 C(mol/L) 

0.808 0.851 0.851 0.851 0.850 0.904 U(V) 
0.700 0.125 0.212 1.01 1.485 2.070 I(mA) 
0.866 0.147 0.249 1.19 1.75  G(…) 

GBF 

A 

V 
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1 – ���$�� 6
�� G=f(C)    

                                                                                 
 .�!���� ?� �*�	  
���� �������� �� P���C 

2 N +������ .�!�� *�B�9 )6 ( @&��� %��� ���$�� �� �	#���� *�*��$ 6�#� W +�DB���G=0.866mS ��= 
 6�  ������� ���� +������ ���� ��= �D	�#
4C ��#�&    :C6 = 0.0033mol/L 

N�����
��� ,��#�� ����� )������� 		�� +��� ���$�� �"G   
N   �� *B� +���/� ��*��� �� = C6 = 0.0033 mol/L ]SO42-[  

                                 =2C6 = 0.0066 mol/L]Na+[  
�������12  

mol/L   4.6 . 10-3 W  0.46mol/L W CaCl2 6H2O 
�������13 N   

  →→→→ Ca2+   + 2NO3-                2Ca(NO3)     F��
� ������� ���!�� C���M = 164g/mol 
N6��
��!�� )*��� .�!��   = 1. 5/164 = 9.15 10-2 mol/L       ] Ca2+[ 
N������� )*��� .�!��   = 2 . 9.15 10-3 = 1.83 10-2 mol/L      ]NO3-[  
N +������ ������  σ =9.15 10-3  λCa+2 +1.83 10-2 λNO3-                  

σ =9.15 10-3  .   11.9 +1.83 10-2   . 7.14   = 0.234mS/m   
 

�������14    : λNO3- WλNa+ + [1.12=4.10-3 6��
���$�� ���! +���� W   
�������15 :   CaF2  W = 0.4 mol/L ]F- [ W= 0.2 mol/L]Ca2+[  
�������16:+������ Q����   �"4  Q��� +���� �3�� %��'� +������ �� I"��� F"�� 6B���200 )��   

 �G1000/200= 5mL  "��� F�5mL�D��
 ��B�� %& C�3�� %��'� +������ ��  
 1000 mL ��4 �	#��� J����$ +�!�� 1000 mL   

N��� )������� ��*��� N ,�
� :H3O+ + OH-  →→→→  2H2O 
��� F��
� �G� @$�
�� ���$�� %& *��� 7&�!��� 6B11 mL +=���� 6�����*�D�� *���� 7&�!��� +$� E�� W 

�*���� %& )*�B���� *�
!��*�D�� *���� ?�.  6�����*�D�� *������ ��*����� ������� �������� �� ��!�
 +������ ������ 5#�� �"D�� W 6��*���� *���� �� �$!�  

N&�!��� �	#� *�=  7 :*���� *����� *�
!��*�D�� *���� +������ ��4 Q�3� �� ����� �������� �"D� 6��
*�*B �$
���� �������!��
�� *�*='� ��!� 7&�!��� �	#� *�= W  

 �*���� )*���� ���! =   6�����*�D�� *������ )*���� ���!mmol1.056 = 0.096 x11) = mmol(C  
100C = 1.056              C= 1.056 .10-2 mol/L 

 ��! Q������200 �G +������ %& ��B��*�D�� ���! ��� .�!�� F� )�� 2.1mol/L   

G(mS)  
             

C(mol/L) 
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 �	
���3 : �������� 
�#��� �	���� 
��� �����)������� ��
�(  

�	%�  

 +������� ��$ ��=��� %& )������� @��	 �= W)*���� ����! *�*�� @�	 �
��* W)*���� I"G %& +����
� ��3����+����
�$  ��=�B�/� )*
!'� ��=��� %& 6� ��
�
'�: 

N  ������� )�������  
N  �������� ,��� @��	 �= )������� 

 	
� %& C&��� ����!� ��������G %����� Q��!�� ��= "������ �D�& Q���� ����� ��	���$ �
��*�� +D�
�
 Q����� ,
'�� ����c� Q��!! C�����
/ W6���� %
�
� �� %3��C�	
��$ *����� I"G .  

 +������ %& )������� )*���� ���! ����� *�� )������� ����= %& ������� Q���!�� +����
� ����! Q���!� 6�
,��*���.  
N ������� )�������$ )*���� ���! ����  :  

 %
�
� +���� �&�34 ��= )������� ����= *����)%3�� �� ( %3���� +������ 6���� .�!�� F")�� 
%
�
� ( W7&�!��� �	#� *�= +������ ���  �#�� �� ���� �$����� Q��! *�B�$ .�!���� +�DB���

 Q�3��� +������ 6B� �&���$�)+�DB��� +������ .�!�� ���� �h������ +������ 6B�� W�ì������.  
N�������� ,��� @��	 �= )*���� ���! ����� :  

���� ��$��� ��= �#��	�� I"G %& *���� ������� 6
�� )������� J���� +������ ��G = f(V) �	#� ������  W
�h������ +������ %����� .�!���� R����
�� 7&�!��� .  

N ����#��� ��	����� Q�*G�:  
 W7&�!��� �	#� *�*��� )������� �	
��$ )*���� ���! ����� @�	�� ��= Q����� ����#��� ��	����� Q*D�

��B4 ��= "������  ��*���D>.  
�D�/����
� �/�B� 5���
�� �D����#�$ C� 
�
� ��!.  

 ��
�� %& �D��= +��� %��� ����D���� Q������ ���� �#$�
�� C��$
�!� "������ QP�� �D��� ��&
 6*#��� +�*B +���
�� ��>����!�� �/*����� ��.���� �$��! W������� Q���!�� +����
� �� ��3����

�� Q�P��� � %& C
�*)������� ����� +���
�� +���� ������ *�*�� ����! %& �#$�
�� )*���  
I������ ���$�� W)*���� ���! *�*��� @�	�� I"G �� �#��	 ������ ��= ��*�� "������ 
$��  .  
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 *������� +�� ��.
�: 

1� 
�#�#)�� 
�>�
�� ����
��� �E P���� : 

 �–
�
'� +�������� ��3���� +������� Q���� ��������D�� Q��! +����
�$ ��  
 ��3�� ��4 *����� Q����$ C� 
�
� +��������$�� @�.� �� ��3���� ��
�� %& "������ K�� ��� @$


��*��� �� ��*=�� �� . Q����� C����
�� ���P��� ,��$ 6�#� ��\ ����� ����! +���
� 	����� �"G %&�
 ��������D�� �G� *����� ��$)Héliantine(  

N  ���%��#��$ ���� �G %��'� ��������D��  
N  C�����
� +$� +*���� �� F*=�� �� %3�� +���� %& Q��!�� I"��� F"�� ����� Q���!� �G  ��	���

Q������ ����= %& Q��!! . +����
�$ C�� *!��� �� �!�� F"��� ������ ��3�� /���� +���
� A�"�
��� +�������$�� @�.�) .��#� "������ A��  B��#$�
�� C������� ��= �J��$ ������� I"G 8 .( ,���
)*=�� ���� %& �������. 

N ��������D�� �	
��$ )�3���� *����� Q���� ����= ��4 ������ 6� . *����� +����
�$ 
��� ��G�
���$���� ��>����!�� *����� ������ +$� ������� )����� %& ����*����.  

 
���5 *�����
�:  
/� )�=���  B��	����� *�= ��.��� ��$�*��� "��� ��3���� ��
�� %& �D��= Q����� @$
 %��� ����'� 

C�� 6��� F"�� ���$!�� ��� +�� )��	��� *����� �D�& +���
� %��� ��	�����$ 6��#��  C���$� ��� +�!�
%
����� .�DB�� ��= ��7� ��! W Q�'� %& %	����� J����� ��= ���� E�� ���
.  


>��� :  
 "������ *����$ 
��� ��	����� J��B4 +$�)I��!"�  ( ��= �$��!��� ��������� +�B
�� ��= M�	/� ��=

 )*���� ���$	 A�"!� W)*���� )��	��� ����= )�=��� ?� W)����#�� �� �$����) ��>�
– �$�� –��.�U .(  
��	����� ��$ +�� ����3��:  

��3��  �	�� /� �	�
$ ��	����� ��$�U� �/7�
��� ��= �$�B� /� �D>��B4 ����! +�� "��
c� ��
����	��� .�������� ��$� +���� �$�B'� ��$ %�� ���& %	��.  
	���1: �������� 	�
�'� %& %����� C&��� Q���!�� ��������D�� Q����� ��4 	����� �"G Q*D� )%3���N 

 %
�
�–+*���  (+������� ���$	 �= Q�!�� %& I��*� .  
4����$��� +��!)5285(   
 ������� ����$���$ ��U����� +�!� : ��������D��WF*����  W���'�.   

	���2:   
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����$��� +��!4)5286 :(   
 ���'�  W%3�� .���'� W %3�� .@�.'� W%
�
�  .@�.'� W%
�
� WC�����.  
1 N 2N�����$  
� ,�
'�� ����� ���D�� *N F���   

 �      –����� 6�D��   
 	���1: *#�$ @���� ����� 6�D��  H+ %>����! +=��� J���� .  

N  ���! ��� +�� J���� ?� C�=��� J���� ��!� �� �*��� ������$ *#�� �� �!�� ����� �� ��= Q����
 J���� HCl ���$!�� ���� H2SO4 .   

N %����� F� %>����!�� +�����  $
��� %>����!�� *���� ��= Q�����.  
N ���! ��= Q������� ��= �*���=� ����� ��DP 8�� � InH ���� – In   
N  ��! W���!�� ���'� ���� �&�� ��� C� ,�� ��B��*�D�� ���! .�U �� P��� Q�! "������ *����

 ��B���� %& J���� *���  $
 ��= +J�
�� "������ +�B� ��� W)����#�� %& J���� *��� P���
V)��&���� I"G ��!�� Q�!�  

N  ��= Q����� ��B��*�D�� ���! .�U ��$ E*���� %>����!�� +����� R"����� +=����� ��*��� �$��!
J�����.  

�P����� +���� :)��&�� �!�� ��='� ���  �$�'� %& J���� *=����.  
 V)�G�P�� I"G �
�� Q�!  

& �!��� ��B���� �� ��B��*D�� ���! .�U J����� �= O��� ��B���� +��* )�.�$ J���� *=��� �U��
J���� *���  $
� F"�� �G )����#�� R��� K�B�� 	�3��� 	�3�� %& �3������ .  

VA�" +�� �D��*#� �!�� ��3�& 6! V��B���� �� .���� J����� 6� Q�!  
 J���� %& .���� +���� E*� C�� ��4 ���B��� ��4 +����� �!�� �D��� 6GJ��� �����#� "������ A���

C�� ��>����! C�=��� �� .%������ +�7
�� %&  ��B�� ��!� +��� V�������� ��$ +��� Q�!.  
N �� 6!���� +�7
�� �"G ��=  ��B�� %����� Q��!�� +���
� VC��= ���� F"�� +������ �G �� 

8���� +�= VJ��9� %& J���� ���� ��� �3�� 
$�� )����#�� %& J����.  
N��>�.B %& )*�B���� ��>����!�� �	$���� M�� ��  ��= �/7�
� 8�	� ��G V  )*B������ 	$����� M��

 )*���� %& @$�
�� ,�*��$ ��!"�� �"G � WJ���� ���! ��� �>�.B %&2    
N*���� %�
� Q�! H+  �>�.B A!�� �� O�����HClV  *���� %�
�H+" �����$�� ) " 8�	 ��G

 �����$�� ��$ @���� �� �/7�
���H+�"�� )��� %& *�B���� �����$���  )*�B���� ������ ��� V)
 %�
 �"��� V��D��$H+V�����$��$   

NJ����� ��B��*�D�� ���! .�U ��$ E*���� %>����!�� +����� R"����� +=����� ��*���  �!� .  
HCl     +  H2O                              H3O+  Cl- 

N��� E*���� %>����!�� +����� R"����� +=����� ��*��� O���
� +���� J�H2SO4 J���� %& . 
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H2SO4                      2H+  + SO42-   
	���2 :  
N  Q��!�� A��
 ��= �*���=�"+��������$�� @�.� "��*������ ��
�
'�� ��3���� 	�
�'� %& .  

I��3�$ +������ �D$ ����� %��� ����'��)  ������ ��= �3��� @�.� W����( +J�
�� �� �!�� W
����� @�.'� ����� �*�� ��� V�3�'� ����� �*�� �� V������ ����'� I"G �J�B ��� �� "�

 "������ Q�	 �� 8�	� )���! ��>
� A��G V%
�
'� 	
��� %& ���.� ����� ��! �"��� V���'��
 C���� +��������$ @�.� �� ��4 +���� "������ �� +�B� �� �"G� WI�*��� ����� ��!�� O����

*#��  +!���$ �D����� )HIn ������$ *#�� �� �!�� C�' ��3�� C���$	 +��������$ @�.' �� F� 
 ��>����!�� ��*����� @&�Hln              H + + ln-    

�$�B���     :  
N ��� ��= �*���=� ����� �"G ��DP 8�� A�!�� Q�! Hln���� – In V  

� +��������$ @�.� Q��!�� ��= ����� )*��. �4 F*7� ��� �������$�� F� ��B��*�D�� *���� *�*.
 %3�� 	
� %& +������ ���� F"��� W�3�'� ����� ��=  ���� F"�� ���'� ����� )*��. ��4

���'� �����$ .  
N ��$ �� %>����!�� *���� �G �� )H3O+  WCl- ( V�$�B��� �"G %& *G����� +�����  $
���  

 %&  $
� F"�� %>����!�� *���� F"�� ����� �G ���'� ����� �' 6�����*�D�� )*��� %G ����� �����
 ��3�$ ����'� +! %& �DP�BBT6�����*�D�� )*��� %G ��3���� +������� �!������ )*������ .  

 R– 6��*���� ���! 
�� �� ���! Q3� )Na+ W  Cl- (+���� C�& ,�! ��4 BBT.  
  N�39� *�$ )*G����� A��P���  �!� �$
����� ����'� ��*��
� 6
��� +�!�� �&.   

 W�3�'� �����$ +������ ����� 6��*���� ���! +����� +��������$�� @�.� Q��!�� �&�34 *�=
%3�� ��U 	
��� �� ��/* . ���� %& ����7� / ���!�� )*���� 6��*���� )*��� �� +�#� A�"� �

+��������$ @�.� ���.  
  N��� �j� A�!�� +G  ���'� �$�B��� %& *G����� ������ �$$
��� )*����� ��)  ( ���*����� ��$ ��

H3O+  W Cl-.   
��G W�>�
�� +��������$ @�.� ��� ���� ��= ��7� %��� )*����� *�*�� ��4 +���� �� "������ ��= 

! V%
�
'�� %3���� 	
��� %& +��������$ @�.� Q��!�� ��� ���� %��� )*����� %G �� �� Q�
 VQ��!�� ��� ���� / J���� ���! ���� 6��*���� ���! %����� �� +! %& ���!�� )*��� ��3�

 +������ %& Q��!�� ��� ���� Q�!H3O+  Cl-V   
N+����� �"D� R"����� %>����! +=��� ��*���  �!�  .HCl + Hln  

 � ����� ��DP %&  $
� %��� � 6�����*�D�� *���� %& )*��. A��G F����'  
 ����$��� +��!4)5287    : ( In- W C$
�!�  W ���'�$  
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  –,�
'� 6�D��   
 	���3  : ,�
'� 6�D��   

�$�B���  
N +���� �� ���! ?3BBT +���� �� ��B� C��4 Q3� ���$ %& NaOH.  

 �� +J�
�� W%3���� 	
��� %& +��������$ @�.� Q��!�� A��
 ��= Q����� ��4 "������ +��� �� *�$
 ��7� %��� %
�
'� +������ %& )*�B���� )*����� �� V%
�
'� 	
��� %& +��������$�� @�.� Q��!�� ��*
 ���� +������ ��� �� "������ P��� ��G �� � V%
�
'� 	
��� %& Q��!�� ��� �� VQ��!�� ����� ���� %&

@�.'� �����$  . 
N  6��*���� ���! +���� ?� �$�B��� *=� NaCl.  
�=�4 "������ +���� 6��*���� ���! ?� �$�B��� ���!� *� ��� Q���� C��= +������ Q��!�� ��� �� 

 ���$ Q��!�� ���� Q�! W +J�
�� A�"� W%
�
'� 	
��� %& ��� Q����� %3���� 	
� %& Q��!��
��� )*����� �� V�3�� ���$ ���� 6��*���� ���! ���� %& �"��� V%
�
'� 	
��� %& @�.'� %& ���� %

VQ��!�� ��� ����� 
NV����� %& ���� E*�� +G    

 ����� F� Q��!�� ��� +������ "��� A�"� %3�� �G /� %
�
� / 
���� �� ��! ����� %& ���� E*�� /
+��������$�� @�.c� %��'�  

N)*����� C$$
� �� �!�� +����� �"G +G Na++�= V  .  
 6��*���� )*��� C$$
� �� �!�� / �� +! %& *�B�� 6��*���� �'NaCl W NaOH ��� ���� �!� � 
 %
�
'� +������ %& ��! Q��!��NaOH +������ %& Q��!�� ��� ����� / ����$ 	#& NaCl *B��  ��� 

6��*���� )*��� .  
V+����� �"G �= +�7
��� %>����!�� *���� �G ��   

 @�.' %����� +����� �= +�7
��� %>����!�� *���� )*����� %G %>�����!�� +����� %& +��������$��
 ��
�
'�OH- *���� )*��. �' W OH- )  ,�
'� %& )*��. ( ��B��*�D�� *���� %& ���#� ��4 F*7�

 *���� ��DP F�ln- %& @�.'� ���$ ����� %
�
'� +������ +�B� ��� W@�.'� ���$ .���� %��� �  
+��������$�� @�.� Q��!�� *�B�.  

N =����� ��*���  �!�+����� �"D� R"����� %>����!�� +: ) Hln  +  NaOH  →→→→ H2O +( Na+ + ln- 
  

������� ����$��� +�!� :	���3  :  �3�'�W@�.'�  W ���.� W H+ W  ,�
�W �$��    
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1 � 3�+�
 *3E�'� �S�#5   
 �– ��� ������� )������� N,�
�   

N ��� )�������NE�$�� ��4 Q*D� ,�
� E*�� F"�� W%>�� +���� %& %>����! M��� )*���� ���! �= 
 	����� ��$ @&� A�"� W6���� I.�!�� ��\ +���� %& %>����! M�� ?� %�\� %�! +=��� C� : 

• ��������� R.� *�= +=����� %& ���j�  
• ���!� ���� ��!� +=�����  

������� Q�*G'� ��4 +����� A�"!�:  
N  ��� )������� �*$� 6D&–� Q��! ��� ���� ����� ��= �*���=� ,�
 .  
N 7&�!��� �	#� +��*� 6D&.  
N  6���� I.�!�� +����$ C������ �	
��$ .�!���� +�DB� +����� .�!��  �
� 
N  �D�/����
� � �D���
� ����� �� �����
��� ���*'� ��= Q����� . 
N %���'� %& 6�B��� )J��� � +������� �� 6�B� "�� ����! ��= Q����� ��B�B.��  ) ����
– 

 ���$(..... 
N  ��� +=����� *���� +=������ R����
�� +=����� 6*#��� +��*B 6�*��
� ��= Q�����– %& ,�
� 

)������� ���*$. 
����$��� +��!4  :���'�$ W���'�W�3�'�  W�������!�
�� W���!.  

                  J���� ���! ��� W6��*���� *�
!��*�G   
  –��  ��� ��=����� %& �������� ,��� @��	 �= )�����N,�
�  

N ��� )������� �*$� 6D& –+���� ������ ,��� ��= �*���=� ,�
�  .  
NW7&�!��� �	#� +��*� 6D&  
N ���$�� ��= 7&�!��� �	#� *�*�� G=f(V)+�DB� +���� .�!��  �
�� .  
N��*��
��� ���*'� � ).DB'� J��
� ��= Q����� .  
N� �������� ,��� @��	 �= %$��B��� +�!����$�� ��= Q����.  
N+=����� 6*#� +�*B J���4 ����! ��= Q����� . 
    N���$�� 8�� ����! ��= Q����� G = f(V)+���� E�� +��   

• 7&�!��� +$� �����  
• 7&�!��� �	#� �����  
• 7&�!��� �	#� *�$ �����  
��������  ���.  :�� 
��� 	 !+��� 	5���
�� !�!78� 	 3!.  
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2–
�E���B� �	#�)� *3E�'�   
1 � 1�U���B�� �	#�)�   

 %& Q���!�� +����
Y! W ������ ����#� �D�& 6*��
� %��� ���������� ,
'�� ����c� ��3��� ��*�$
).DB'� ��$ +����
�$ �������� ,��� @��	 �= )������� A�"!� W,�
� ��� ������� )������� .  

N Q����  %& C���U �DP� F"�� WM�B�9�� )*
!'� �G� ��\ M�3��� @�	�� �� �!�� A�"! �� "������
��=������ %& )*���� ���!  �
� %G J����!��.  

N   M�B�9�� )*
!'� ��=��� %& )*���� ���!  �
� �!�� %��� �#��	�� ��= Q����   
N����
� A�"� M�B�9�� )*
!'� %& )������� ��= Q����  +=��� �� �B����� �� ����*�� *������ ����'�$ �

 M�B�4 )*
!�  
	���  1 :?B����� *
!7��� 6�D�� ��= Q�����.  
�P����� :,����� ��	� ��= %3��� ����� ��DP A�"!� W@�.� ��� �G� +������ %& *�*B ��� ��DP .  

N>����! +��� E*� +G %�= %3���� +������ %& @�.'� ��� ��DP  $
 V E�*� �G ,����� ��	� �
������� ��>����!�� ��*����� @& � %>����! +=���:  

AgNO3 + Cu  →→→→ Cu(NO3)2   + Ag  
N+������ %& �G�P�� *�*B�� ����� �G ��  . ?B�� �G� W@�.'� ��� �G +������ %& �G�P�� *�*B�� �����

 ,����� *���� *�B�� Cu 2++������ %&   
N��� %��� )*����� %G ��  ,����� *���� V +������ �Cu2+ 

N >����!�� +����� R"���� +=��� ��*���  �!�% ̀��4 �D����� ,����� )�"� E*� F"�� Cu++  
Cu →→→→  + 2e-  Cu++ 

N�� V *�*B 6
B �DP +G   A�$�B4 ��$ V C���. �3��� ����� ��$ +����� +=����� ��  6
B O�� ,������
 �3��� �G *�*BAg ��= �$
�� %��� %3& ���$ ,����� ��	�    

N �3��� )*���� +����� +����� R"��� %>����! +=��� ��*���  �!� Ag+ ��4 Ag.   
Ag+ + 1e -   →→→→   Ag                                   

 ���.����$���  :Q����� W@�.'� W,����� W*���� ̀Cu  W )*���Cu++  W������!�� W�3��� WAg W,����� 
2 – 2 –*�� ?B����� *
!7��� *�  

 	���2: 
N ��>����!�� �/*����� �$��! ����! ��= Q�����  
N ,����� +����� +����� R"��� %>����! +=��� ��*��� �$��! :  Cu →→→→  + 2e-  Cu++            
N     ��>����!�� �/*����� �$��! ����! ��= Q�����Zn      →→→→     Zn2+ + 2e-               
N �� ��4 +�����*
!7���� ?B���� 6�D�� *�*. 
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2 – 3 –M�B�9�� )*
!'� %& )�������   
N.�!���� 6���� 6��*���� �����$!��� +����$ C������ �	
��$ *���� %>��� +���� .�!�� *�*��  .  
 N����� ���� ��= �*���=� 7&�!��� 	#� *�*�� .  
N�#� E�� 8�� ����!� +=����� 6*#� +�*B J���4 ��= ������  ��
�
� 	  

•  7&�!��� �	#� +$�))������� ���*$(  
• 7&�!��� �	#� 
•  7&�!��� �	#� *�$ 
N +=����� ��*��� �$��! ��= ������  

• )*
!c� ������� ��*�����  
• M�B�k� ������� ��*����� 
• M�B�9�� )*
!c� ����!�� ��*����� 
N  *
!7� ��>����� *�*��/?B��  

����$��� +��!4 :Q���  W %�$ W ���� W �7&�!��   
����$��� +��!4 :Q�3��� W ���$��  .W   �#�� 7&�!��� W *����   
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�� +�� ��.
������  
�������1:   
N ��>�.B W*���� W��  
N ��7&�!� W	$���  
N WJ���� WR�.$ H3O+  
N,�
'� W+�#���  
N +$#�
� W��>�.B . 
N  *#�� W%>�.B  
N /*��� W,�
� W���  
N J���� W
���� WO>���  
N .�!�� ����� W+�DB� W��. 

�� �����2:   PO4-3W  NH3  
�� �����3: CO3-2  W N HSO3 W     +�$#�
��������$�����D
$ .  

 �������4  :m�#&��� m�3�� H2O  
�� �����5: CuO  + H2SO4  →→→→ CuSO4   + H2O   
�� �����6:���� ����� ����  �!� �*�����$ ,
� �� +!� @&N���j� F��� :  

S�#5  NOH NH3 SO4
2- NCH3COO PO4

-3 

F(��� +�
  H2O NH4
+  HSO4

-  CH3COOH  HPO4
2-  

������� 7:  
+�
  HNO2 HCOOH CH3CH2OH CH3-NH3

+ HSO4
- H3PO4

 NH4
+ H2O 

F(��� S�#5  NO2
- HCOO- CH3CH2O- CH3-NH2

 SO4
-2 H2PO4

- NH3
 OH- 

�������8: ��=  ��� ��=�����–������� ��=����� ��3 ,�
� : 

� ������9    R(  H3O+/HO-   ��>����� %G ),�
�/���(. (Acide/Base)  

KS�#5 &5 +�
 4����  K+�
��  &��/N  �E�'���  
+�
 ��	 :�.� :�-���  H2O  &��  NH3  + H2O   →→→→   NH4

+ + OH-    

S�#5 ��	 :�.� :�-���  HCl  &��  HCl (g) + H2O   →→→→   H3O+ + Cl-    
S�#5� +�
 ��	 :�.� :�-���  H2O  &��  H2O+  H2O   →→→→  H3O+ + OH-    

    N  C2H5OH  + Na   →→→→ C2H5O- +Na+ +1/2H2  
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 �������10:  6��*���� *�
!��*�G �&�34 *�= NaOH �����  HCl W,�
�� ��� ��$ +=��� E*�� 
 %& �!� � WJ���� ?� 
�� ��= +��� F� W ,
'�� ����'� +=��� 5��� ��= Q�����  B� A�"�

��B��*�D�� ���! *�B� ����������� ��>����!�� ��*�����  
� +=����� 6�� J���� %& :  
HCl   + H2O  →→→→ H3O+ + Cl-  

N %G )*�B���� ,�
� ��� ��>�����:   H3O+/H2O ) J���� ���! ��� +����( 
������� ��>����!�� ��*����� @&� J���� ?� +=����� E*�� 6��*���� *�
!��*�G ���� %& ����$:  

NaOH    + H2O  →→→→ H3O+ + OH-  

 %G )*�B���� ,�
� ��� ��>�����&  :H2O/OH- ) 6��*���� *�
!��*�G(  
 ����!�� ,�
� ��� +=����� ��*��� C���NaOH + HCl →→→→ NaCl  + H2O     

 *���� ?� ����'� �G*#�� %��� �������$�� +=��� /4 %G �� ,�
� ��� +=����� ��*��� F�
��	�� ,
/� �� )������ *�
!��*�D��:    H3O+   +      OH-  →→→→   H2O  

N����'� ������ %& +������ %& )*�B���� )*��� +!� )*���� ���! :  
 ��>����!�� ��*����� ��  :Cl →→→→ H3O+    + Cl-  

 6�����*�D�� *����� ��>�*�$/� ������ %& )*���� ���! �� *B�H3O+  *����� ����
�  Cl- @&� A�"� 

�� ��>����!�� ��*����� �� F� �#$�:  

���! :� ����
� ���!�� *���� � 6�����*�D�� *����� )*���� n1= 0.1 x 0.2 =  0.02 mol  
N *�
!��*�D�� *����� )*���� ���! ��� OH-  6��*���� *���� � Na+  +!���$   
��   

 :� ������� ���!��NaOH F��
� 40g/mol M = 23+16+1=  
���!
!��*�D�� *����� �/���� **= ��!� C��� 6��*���� *���� **= F��
� *�:  

 :� )*���� ���!OH- WNa+ F��
�  n  = m/M  = 0.5/40 = 0.0125mol   

%����� +�*B %& A�" 5���� �!���:  
%�P='� 6*#���= 0    0.0125-XMax 

XMax = 0.0125mol                          
 ������ %& +������ A�"�& )*��.$ �����

 ���'� ����� "��� +��������$�� @�.� F� %3�� �G ��>�D���  

  H3O+  OH-  

��	��� �(  0.02mol 0.0125mol  

��#���  0.02-x  0.0125-x  

�� ���  0.02-0.0125=0.0075mol  0  
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������� 11  :   OH- = 3.10-2 mol  
�������12 :3/2) W (3/2 X6)  W12 ( X5) W(10 
�������13   :����!�� ��*����� �� *B� ��>:    3Fe + 2O2     →→→→ 1Fe3O4    
 F�3 ?� +=���� *�*��� �� +�� 2 ��	�� ��B
!'� �� +�� 1  *�*��� *�
!� �� +��   

 *�*��� )*���� ���!  �
� *�=�Fe ��B
!c� )*���� ���! � O2 O���� 5 �� +�� Fe3O4    
������� ��>����!�� ��*����� @&�  :X Fe + Y O2   →→→→ Z Fe3O4    

                                   X Fe + Y O2  →→→→  5 Fe3O4    
F� +=��� *�= X (mol) ?� *�*��� �� +��  Y (mol)O��� ��B
!'� �� 5(mol)  *�*��� *�
!� �� 

Fe3O4 . �� +! ����X� Y:  ������� ��>����!�� ��*����� ���*�:   
 ��*�=5 =  ZV     Y=  V     X=     

1 =  ZV     Y=     3 X=    
1 =  Z    Y=2  V     X=    

  
  

�������14:  �� *B� ���#$�
�� ����*����� ��Mg *#& 
���*����� ����$ )*
!� ����= C� ��*� F� ������!�4H+    *� F� ������!�4 ��$
! ����= ��D� ��

M�B�9�:      2e-    Mg     →→→→  Mg2+ +    
H2  2H+   + 2e-    →→→→            

�������15  :%& +���� )*�B���� ,�
� ��� ��>�����   :HCO3-/   CO2, H2O 
                               H2O / H 3O+  

������� ��*����� @&� +=����� ��*��� ��!� E��   :H3O++ HCO-3   →→→→ CO2 + 2 H2O  
  :� ��>�*�$9� )*���� ���!HCO3- 

 :� ������� ���!��Na HCO3 F��
� 23 + 1 + 12 + 16*3  = 84g 
6.10-3mol =0.5/84  = (M)������� ���!�� /6�����$ (m)���!��  

!  :� ��>�*�$9� )*���� ���H3O+ 
%�P='� 6*#��� :6 –Xmax = 0F�  Xmax = 6 mmol 

                �� – Xmax = 030F�  Xmax = 30 mmol  
 )*�����HCO-3 *���� +����� %G  

 )*���� ���!)mol (X %����� 6B� )mol/L ( F��
�6.10-3x24 =  mol/L0.144      

  Fe  O2  Fe3O4  
 
�	����� �����


���������  3  2  1  
15  10  5  
3  2  1  ������ �	���� 
���  
3  2  1  

 HCO-
3 H3O+ CO2 

initial 6 mmol 30mmol 0 
En cours 6 30-x x 

final 0 30-
6=24mmol 

6mmol 
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�	
���4: ������� 0�6 �I	�
��>��� 4  
 �#������� ��3���� ��
�� %& C��$
�!� "������ QP�� E�� ���3��� J����!�� ��*� �$��� ��$���� )*����

 %>����!�� +�����$ A�"!� R"����� Q����$ .��= �"G +�� �� Q�����:  
N���3��� J����!�� S����   

�� ��$ �.�$� W���3��� J����!�� ��	� +�� E��$�$ 6�#� "������ 6�= ����� %& ���G�
 ��"��� J����
 )����� %& ���3��� J����!�� ��* +�� E��$�$ "������ 6�#� ��! W6���� C��= %G �� ��4 ���3��� J����!��

 �>�$�� ��= �G������ �������  
NF�3= %>����! M��� %��!�� +������   

� ���3��� ��>����!�� M���'� ��$ +���� ��=  ��B� F�B� "������ ��$!���� �� ��= Q����� A�"
 "������ Q���� ��! W���3��� J����!�� %& %
�
'� ������ �G ��� ��$�!�� ���= F���� ���3���
 ��.�DB��� ��$ ��= "������ Q���� A�"!� W�������� ��$ �� C��= +���� F"�� ��$�!�� ��� ��=

B�B.�� %���'�� ).DB'� J��
�� �D�& ��'�� �D��*��
���$����� %& ��$�!���� ��$� ��  
N���3��� ��$!���� �������� ��������   

 ��$� ��>�.B�� ���$�� +����$ A�"� ,��� +���� +�� ���3��� ��$!���� �������� ��$� "������� �����
�� �$��!$ +������ �"G 
�
� ��� A�"� W��������� ��>����� %�*=�� ��= �*���=� ��>����!�� ��$!���� T�3

��>�.B�� ��$ %& ,��� R"��� @�$	� F� )����� Q����� )�������.  
N ����B��*�D�� 6����� �������� ������� +
�
��  )������N��#�� (  

 )������� T���� �$��!� �D��$ @����� ��#����� �������� +
�
�� ��.��� Q��� �� ��4 "������ +����
F�3= ��>����! ��$!���� �������� .� +�� ��$�!�� ���" **= %��� ����!�'� ��4 "��
'� ����� E�

��
 ��.  
N����B��*�D�� 6����� ��B���$�	�� �$���!��   

 ��! W��>�.B�� �������� )����� �$��! �= )��$= %G %��� ��B���$�	�� �$��!�� ��= "������ Q����
!�� ��$ ������� ��>�.B�� ��$� %��$�!�� +!�D�� ��= Q������B���$�	�� �$��.  

N��$!�����   
 ��$!����� M����� W��$!����� ��$ ��= "������ Q���� ) ���3��� ��$!�����–���
�
��� ��$!����� (  

N ������  
� ���
��� IUPAC����B��*�D�� 6�����   
& �D��= @��� �����= ������ @&� ���3��� ��>����!�� ��$!���� ��$ ���
� ��= "������ Q���� %

 ���7���IUPAC ��$!���� ����B���� ��>���� ��$� ��$�� ������ ��$���� ����B��*�D�� 6����� 
�=������ +
�
�� ��" ���3��� ��$!���� ���
� *=��� ��= "������ Q���� ��! W��>����!�� . ����� �
'� ��4 ����� ��! W ���" ��
 F��
� ��$�!�� ���" **= E�� ����!�'� ��4 	#& ��>����!�� M���

����$�! ��$ )*��� �B�*.� �	$�� ��= F���� �� )*��� ).��� �=��B�$ .��� %��� ���3��� .  
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 �=��B��� +��� %���� ����& ��
�
 +�	� ��= F���� F"�� ��!�/� ����� ����! ��= Q����� A�"!�
���� �=��B��� E��$ ��!�c� ������� ��
�
� 6������ ����!  6� ).����� ���� F" ��$�! ��= ��!� ).�
%������ F*B$/�  ������  
� ����!�'� ��"B�� ��= Q������ W6�� .  

N��>��.���� 5>����� ��= ������� ��
�
�� �����   
 ��$!���� ��$� ������� �B�* +�� ��>��.���� 5>����� ��= ������� ��
�
�� ����� "������ �D�& Q��!�

/��!�� +����� ���3��� 5>����� 5�� ���& C��$ 5��� �$��!$ "������ +����� WJ���� %& �
���3��� ��$!���� ��$� ��>��.����  

N �D���
�� ���3��� ��>���� �= Q�!��   
 ).DB'�� ��>����!�� *����� Q����� ?� ���$�� �GJ��B4 ����!�  ��B��� �� �=��B� ��= Q���� "������

 ?�  ��B��� I"G %& ��*��
��� ��= +����� ����! ��= Q���� �D& W�$����� %& ����� �#��	$ �D#�$	�
 5>����� ��$ Q�!� %��� ������� Q���!�� ��$ 6�*��
�$ A�"� �/��!�� �� ���	�� ��*�G*�'�
 %$��B��� +�!����$�� �&����  ��B� J��B4 ��4 +���� "������ W���3��� ��>����!�� *����� ��$�

�� %��� ��>
'�� �� ��! W"������ C��4 +�� F"�� 5����� �$��! A�"!� �$�B��� �D� ����� �� �� �!
 �����'� %& �$�B���!  ��B��� ��$ J��B9 �G"��� �� �!�� %��� ��	����/� ��$ ��= Q���� "������

 ���� ������ ��*��� ��B��*�D�� ���! *����� �� +! QP�� E��)����	�.(  
��� ��= Q����� A�"!� ).����� �=��B ) *�G*��– ����! – ���� – �/��!�� – ����B���G ��#��� – 

�����'�(  
N K��� ��4 ).��� �=��B� �� ������   

 ��4 F�3= %>����!  !�� �� +�#��4 @��� �� �!�� %��� ��	������ �� �=��B�� "������ �����
 	�����! W��\ F�3= %>����!  !��)J���� ?� ��
�'� +=���(W 5��� �&��� "������ ��=  B� ��G 

 D�� C3��� *�= )*���$� ���D
 +!$ ��
�/� +���� E�� )��	��� ����� �� ����
�'� . %& A�"! �
 	����� )+��!�� �� J���� M.� ( �D��= +������ )*���� � +��!�� ���*���� �� +! E��)2 – +���� 
��$N2 –��4 (+����/� )*�*� ���*�� .  

N+���$��  C��#����  )+���$�� �� �#����� *�����N%��$	�� .���� (  
 �� �D��= +����� �!�� %��� *������ +���$�� ��#��� %& 5��� E��$�� ��$ ��4 ����� "������

 +���$��  
1 –���3��� J����!�� Q����   

)*���� �= +>�
�� "������ +�B �G ���3��� J����!�� +�*��� �� ������ )���3= J����! ( ��! "��
'� ?�
 ?� �D������� ����	��� ��>
'� �=  ��B�� ��4 +���� ��� �����/�� ?B����� %& E�$� �� +����

 ���� ���3��� J����!�� � ���= J����!�� %������� ��	��� ��4 +���� �� �!�� ��! W"��
'�� C>��.  
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N������� )����� %& ���3��� J����!�� ��* ���$� .  
N ���$�  ?������� �$����� %& �D��*� ��!���� ��	�'�  
N�>�$�� � ���3��� J����!�� .  
����O	� �� :  

	����� �� ���$� ��4 +����  "������ Q�	 �� K�B� F"�� F*�D���� ��$!���� �� ���3� F�������=F 
��$�!����B��*�D���  . J��B4 ?� ���3��� ��$!���� %& ��$�!�� �= Q�!�� ����! ���$�� ��$

A�" �� @#���  ��B���.  
*������� ����6  

W��B��*�D��� ��$�!����B
!'�  W��B�������W  ���!��. 
 
2 �� �O�>E ������� U��� �'���� ��.
�  
����1  :�����3= ���*�� J������ .��!
�� �� %$��B��� ��$�4 �G 	����� �"G �� ������  

=��� ��= "��
'� 5��� �$�B��� I"G J��B� +�� �� ���$!�� ��� +����
� *�= ��'� 	��� )�
���
��� ����= %&� "������ Q�	.  

����2 :  J����� F���� ��= ���=��$�!��.  
N A�$�B� +�= V��G ��$�!�� ���= �*�� �G �� . 

 *�
!�� ���$!�� ��� %& ������ ������'� ���*���� �' W���3��� )*���� %G ��$�!�� ���= �*��
����� ,�������$�!�� ������ / � .*B���� %��� )*���� �"4 J����� F� ���3��� )*���� %G ��$�!�� �D�&.  

=����:  �E 	N������� �� 4� ��:�� ? 6I 8��)� :����� S2������ ��� ���I#��� P.  
����3 :   �= Q�!��������%>����!��  ��B����� N%&  F�3=  !��.   

 V�"���� O���
� �"�� VE*�� �"��  
 +=��� E*�� .���� �D�� @�	�� %���  �$�'� �G�& �� .!���� J���� ���! ���$ +�$�  �3�  ����4

 ��$� ���* +!����  ������ .���� ��$ %>����! .  
 +� @��  �#�PH.���� ��
�
'� �������� �= Q�!��  �$�'� �G�& �� .  

 �*����� .�U �G .�U +!� ��= *=������ %>����!�� M����NH3 
 A�����'� ���! �G *=������ .���� � .!���� ����� ��$ +=����� �� +!����� %>����!�� M���� NH4Cl  

J���� ���! ����  �$�'� �� *=������ .���� ��$ +=����� ��*���      :HCl + NH3  →→→→   NH4Cl  
 K��� )*��� *�B� / �' W���$�� F� ���3��� )*���� %G ��B������� ���= �*�� ��= F���� �$�B��� %&

���= ���$�� /4 ��B�������. 
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3�  ��
������	� �� &�
'  
N ��$�!�� F���= �� �D��>�.B Q���� ���3= ��>����! M���� �D�� ��= ����B��*�D�� 6����� �� Q����� 

 +!��� �� ������ �D���� %��� ���3��� ��$!���� %G F� W	#& ��B��*�D���
CxHy.  
N�= Q����� ���3��� ��$!���� �������� �������� �  
N����B��*�D�� 6����� %& +
�
�� M���� ��= Q�����   
N���3��� ��$!���� )������� Q�� � )������� T���� �$��! ����! Q�����   
N���3��� ��$!���� %& ,��� +���� ��= Q�����   
N����B��*�D�� 6����� %& �������� +
�
�� ��= Q�����   
N� ����B��*�D�� 6����� ��#���� +
�
�� ��= Q����  
N ��>�.B�� ��$� %>�3��� +������ ��= Q����� )6��! +����(  
N�� ��= Q����� ��>�.B�� ��$� ��>�3��� �
*�D  
N���3��� ��$!���� ��B���$�	�� �$��!�� ��= Q�����   

 5��� 
'�� �#3#
������	� �� &�
'.� 
'.�I��� 
��:  
����: 1    
!	������ P   :,��� R"��� @�$	�%& ��>�.B�� ��$ . 

                   ����B��*�D�� 6����� ��$ ��>�.B +����� Q�� ��= ������ .  
�$���  ��>����!�� M���'�������� ���3���: B���1�) ethane( ?��.1B�)éthylène( ?��.���#5)acétylène.(  
N��� �� ���'� ��
��  ��! %& E�$� ��� ?BK ���B��� ������ �= ��.���� I"G ��>�.B�.     
N���  �!� �D ������� Q�� 6� )����D)������� .+�= VP��� �"�� .  

 CH3CH3           WCH2=CH2              WCH=CH 

  6����� %& F� J�3��� %& *B���� ����9� �>�.B �� P���3D  W	#& �	�
$ 	$��� ��= �D>����/ 
� ����$ +!� ��= F� )*��� ��>��� �	$�� ��= C>�����  $
� ��
� %& *B���� ���92D ���W 

 	� +!� ��= F�W�D��$ ���& �#&���� ������
'� ���" *B���� F� 6�#�
� 	� ��= *B���� ������
'�
6�#�
�  .  

N JF.B +!� ,��� +���� 	=�V .�� VJF.B +! %& ��7&�!��� 	$����� **= %G +�=.  
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 N %&  M�� �� �	�
$ 	$��� ��$
 *B�� ����9� JF.Bσσσσ  
N M�� �� �	�
$ 	$��� �
�� *B�� ���9� JF.B %& σσσσ M�� �� )*��� �	$��� ππππ  
N M�� �� �	�
$ 	$��� ���� *B�� ������
'� JF.B %& σσσσ M�� �� ���	$��� ππππ  
N JF.B +!� %>�3��� +������ 	=� )6��! +����(�� ���'� ��
��  ��! �P�� VF������ 6������    
N �� +G��>�.B������  �D$���� ��>�3& �
*�GV8���   

������ 	$��� ��= �D>����/ ������ ��>�3& �
*�G / ������ ��>�.B�� )�	�
$ W ��>��� W �����(  
*������� ����6: ���3� M��� **= W��>�.B� ��>W ��7&�!��� W��$�!��  .  

�� ��2:   
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G*	����� Q: Q�����  ��= ���3��� ��>����!�� M���'� ��$ ��>�.B R"����D�� ��$��.�����.  
N +�*B�� +�!� �����/� �� ?B����� %&  ��	��� �= E�$��$  

  �� 
���

�;��'��  

��
$�H  
�H'���

K  
�#&  

:�����K    �� 
���

�;��'��  

��
$�H  

.H'���K  #�:����� &K  

1  
  

C5H12 2،2� ��1�� ����1 
��������  6    C7H14  

3?4 –*�� ��1�� ����1 �
2��6  

2    C2H4  �1�B�  7    C2H6O  ����1�6  
3    C7H16  2 –��#� �� ��1��   8    C3H6O  ����1���?�6�3  
4    C2H3O2  

V����1�6 +�
  
  9    H2NCONH2  
�����  

5    H3NH2  ���5 ��1��  1
0    C4H10  2 –������ ��1��   

N����#��� M���'� ��$ �� ����B��*�D�� 6����� %G +�*B�� %&  :)10،1،2،3،6(  
N� �� 	$��� ��= F���� %��� ��>�.B�� %G ��V�� +�= V%
*�D�� �D�!� �G ��  . 

 ��U ��
�
 %& @&���� 6�#�
� 	� %& �D�!� ��!� ����� 	$��� ��= F���� %��� ��>�.B��
�=����.   

N ��V��>��� 	$��� ��= F���� %��� ��>�.B�� %G  *�D�� �D�!� �G ��  +�= V%
 . 
 ��
� ��= �D�!� ��!� ��>��� �	$�� ��= F���� %��� ��>�.B��) ����" ��= F���� JF.B

��$�! (��*�$$ F�   
N� � 	$��� ��= F���� %��� ��>�.B�� %G 	#& �	�
$V  +�= V%>�3��� �D�!� �G ��   

 J�3��� %& �D�!� ��!� ��*��� �	$�� ��= F���� %��� ��>�.B��)�= F���� JF.B ����" �
��$�! (*��$� E��$ F�.  
N  VJF.B�� ��
*�D�� ���$�� +!� %& ��* 	$����� M��� +G VO���
� �"��  

*����� JF.B�� %& �G**= � 	$����� M��$ J�3��� %& ��>�.B�� ���$�� @����.  

������ *������� ���5:  

����B��*�D�� W ��B
!'� . ������� W +�*B�� W ����B��*�D�� .D���$ ��*�$$ W *��$� ����$  W �)2D ( W
��	�.  
N �	$�� ����� : ���$��	�   XN �	$�� ��>��� : ���$����
�    XN �	$�� ��*��� : ���$��>�3&.  
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: ( 
���������� 
������(Ecriture Topologique):     
N 8���� 3 ������� ���B��� ������ �#&����� �>&�!�� ��U ��B���$�	 ��$��!  :C5H12 
 

 
  
����3: � ���3= ��$!�� %& ��B���$�	�� �$��!�� � %��$�!�� +!�D�� � )������� T���� ��= Q����   

N +�!�%����� +�*B�� : 
��
���������� 
����  �������� ��� ��  �������� 
$�H��  
  C=C CH2=CH2  
  C-C  CH3-CH3 
  

    
  C-C- C=C-C    
      

  C-C-C-C-C  CH3CH2CH2CH2CH3  

  
    

  C=C-C CH2=CH-CH3  
  C-C-C-C CH3-CH2-CH2-CH3  
  C-C-C=C CH3-CH2-CH=CH2 

  C-C-COH-C CH3-CH2-CHOH-CH3 

  C-C-C-CCl CH3-CH2-CH2-CH2-Cl    
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8� �� *������Isomères   
@�$	�:  

 N��>�.B�� )������� ������ P�/   
 NJF.B +!� ��>�.B�� ������  �!� . 

C5H12    
N+�= V��$!���� ��$!���� ��"G +G  .��J�3��� %& +!��� ,�� ��D�� ��!� ��$!��� ,�� ��$!��  
  

  3� ��*��H�� :#
 
��#�IUPAC  �.
������ ��;� 
������ 
������	� �� &�
'  
�%���� ���� : *=���  
� ���3��� ��$!���� ��$ ���
�IUPAC 

 
$�H��
��������  CH3

CH2 CH2
CH2 CH2

CH2 CH3  
CH3

CH
CH2

CH2
CH2

CH3
CH3  

CH3 CH2
CH CH

CH3

CH3

CH3  CH3-CH=CH2  

��
'�� ��� ��         
 
����


��������          

:#
 &#N�  
IUPAC   

2 –��#� �� ��1��   
2-methylhexane 

  

2،3 – ��1�� ����1 
�����  

2,3 - dimethylpentane 
  

:���� 1 �6�  

4� �2
.#.#�� ��1
��
'�� �� 0.E I
������'�� Q��H  
5–4���� �( *N�
��� �3
�� 0.E 
��
'�� 
.#.#�� ��12�   

O	� �� ���� :J���� %& �/��!�� +���� ��= ������� ��
�
�� �����  
*��	)� : +������ W J�� W �$��'� +��� W��$���  �$���)metanol(+�����4 W)éthanol( W  
���$�N1N +�)pentane-1-ol(����$ WN1N+�) butane-1-ol(  


������:   
"� )4 (��� �$�� +! %& ?3� W��$���  �$ml 10 �� J���� 

 Q3 W�	#��� ������ ��= �D�� +!�2ml �/��!�� ��  
)�3�������$ ��� .  

N ����$�'�  �$��'� %& P��� �" V  
������ J���� ��= F���� F"��  �$�'� %& P��� �� +���

 W+���� ��= ������ F� J���� ?� ���! R.��4 *� +��������
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 F���� F"�� E�����  �$�'� %& ����$ W+�����9� ��= F���� F"�� %�����  �$�'� %& +���� A�"!�
 ��=)����$N1–+�  ( ��= F���� F"�� ?$����  �$�'��)����$N1–+�(   ��B.��� / C�� P���

�DP� �"G� WJ���� ?��������� ���#$	 �.  
N E*�� �� Q� �$��'� %& ����� )*� *�$  .  

 %& +��� / F� ?$����� E����� ��$�$�'� �� +! %& J���� �= ���*���� +����� E*�� R��� *�$
J����.  

N  VJ���� %& +��� �/��!�� +! +G  
 +�������� %G� 	#& +��� �$�B��� %& �����! A��G +$ �/��!�� +! +��� /+�����9��  

 ?B����� %& E�$� �/��!�� I"G ��= )*��.)������ �� (+���/ %���� +��� %��� �/��!�� �=��B� %&.  
N ��$�!�� ���" **= �G ��  V+��� +��! +! %&  
N V+��� / %��� �G**= �G �� W ���" ��$�� W ���" �
�� VO���
� �" ��   

$! **= ��= F���� %��� �/��!�� �� O���
� ��$�! ���" �� ��)�$��#� ��$�� �� ��!� ( +��� /
J���� %&   

N VJ���� %& �/��!�� +���� ����� %& ��� ��$�!�� ���" **�� +G  %& ��$�!�� ���" **= 6��
������/� %& ���= C� �/��!��  

 :–
��>��� 
��������� U���)� ���.; 
��	 0.E 
��
'�� 
.#.#�� ��12�  .  
����2  :  ���$� +�	$ @���� F�3��� ��>����!�� M���'� ����U )���� �B�* �� ������� ��
�
��)  ���" **=

�D� ��!��� ��$�!��.(  
N P��� �"��%& �"G B�� *V+�  ��
�
�� %& ��$�!�� ���" **= )*�$.$ ������� �B�* )*��. +�*B�� %& P���

����$�!��  
N M�� �� ������� )���� �B�* ����� Q�! V��j %>����!   

����$�!�� ��
�
�� %& ��$�!�� ���" )*��. ?�  
���$ ��j %>����! M�� �� ������� �B�* �����  
N� � %���$�� 	��� 6
T=f(n)  �$ ������� �B�* �T =� ��$�!�� ���" **n  V  

  N =�� V %���$�� 	��� �� ����$�� ����U �B�* �B�* �$��#� %G ����$�� ����U0.5°C.  
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N ���� �E P�� *3���
��>���   
����1  :   
N �� V+�����9� ���
 �"��	�� �� M�
� +=��� E*�� F"��� .�U ��4 +����� ��!�� +�����9� ���
.  
N �� V���$�� %& ��
��� ,����� A�
 ?3� *�= P��� �"  

 +�����9� ���$ %& OG��� C�� ���$�� +��* ,����� A�
 ?3� *�= P���) .� A��G �� F� )*
!
+��!�� )*��#�(  

N ��%G ,�� �D� %��� �D!���� �>���� ���$���� � V+=����� �� 8����� ��>�� �D�� E�$��  
N =� V�D��= ���� )*�� F� �*�G*�'� ��= �$�B��� �� ����� V�"���  ��>�� C$��� C��>�� �'

��#��� )*
!'� ����= ��� A�"! � W ��*�G*�'� ��>�� C$��� %��� 8����� @��	 �= +�����k� )*
J��D�� ��B
!�.  

N��>���� ,�� C� F"�� F�3���  !���� �= E�$�  . C��= ���� F"�� %>����!�� M���� O���
� 6�
 V+=����� �"G �� *�G*�'� %& +���� C��= ����� F"�� %>����!�� M����)+�����4.(   

���� 2:  	�!	�)� 
'�"� �E P���� .  
��*�G*�'� ���P� Q�!� +���� �	
��$ W�. (�� *�G*�� ��3�$ �.��� ���� "��� F"�� .  

N V+=����� �"G �= �B����� )*���� %G��  J���� )*�� �G��*$ %	�� %��� *�G*�� %G �B����� )*����
 ,����� *�
!� %G� ����B\Cu2O 

N��DB� ���3= )*��$ T��D& +���� R.� *�= ����� �"G ��DP ���� %& �"4 O���
� �"�� � .  
 ��!� ���3��� )*���� �� ���3= )*�� ?� T��D& +���� R.� �P�� ����� �"G ��DP *�= �� O���
�

�*�G*�� ��>�*.  
����3:   ��������� 
'�"� �E P���� C=O  

 Q��!�� �	
��$ ������!�� ���P� Q�!�2,4-DNPH ���P��� ��3�$ �.��� ���� "��� F"�� C=O.  
���*'�  :��$���  �$�����! W%��� Q )DNPH(� � )*������! )Propanone(.  

�$�B���:   
N� ���� Q��!�� ��� �*�B P�/  ����$��$����*$�� %& .  

     ����� 6�*= ����$��$�� ��� ����$ ���� Q��!�� ���.  
NE*�� �"�� P�/� ��$�$�'� K���� R.��  .  

 Q��!�� ?� +���$�! ��= F���� %��� ���3��� )*���� R.� *�= DNPH +!�� E*�� 
%��#��$ ����  
��.   

 ����  
�� +!��  $
 �"G� ��*�G*�'�� ������!�� +�� +���$�!�� ��= F���� ���3��� )*���� �� O���
�
%��#��$  
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N  VE*�� �"�� )*���� R.� *�=DNPH  
�� +!��� *�G*�/� +�� +���$�!�� F���� ���3= )*�� ?� 
%��#��$ ����   

N � +����
� �� O���
� Q��!�DNPH  ���3��� )*���� �� ��= +��* %��#��$ ����  
�� +!���
F����  +���$�!��  

��*�G*�'� A�"!� ������!�� ��= ���= ��!� �D��= ����� %��� �B�����  
� ����
��� �E P��   
����1 :   �&���   +�&%3�� 	
� %& 6��
���$�� �������$ ��=  �/��!��   
N  ���� �������$�� +���� +��!�� ?� R.��� +$� �3����%B
��$�$�� +��!�� �&�34 *�$� ����� 6�*�. 

R����
� :���$!�� ���$ �3����� �������$�� �	
��$ �/��!�� �= Q�!�� �!��  
� ����#�)� �E P��  
����: *G����
�'� �= Q�!�� %& +���� 	����� Q.   
N ���= P��� �"* � V 	���  

 �� 6��$�� ��� ���� P��� ��
�'� ?� C
��� *�= %�$��)����� 6�*= ( �"G� W����� 6�*= ��4
����� 6�*=  !�� ��	�� ��
�'�� 6��$�� ��$ +=����� �B��� . �"4 ����
�'� �= Q�!�� +���
�
����
�'� ?� ����� 6�*= 
$�� F"��� ����� %�$�� 6��$�� J��  

  &�! =����: B����D��� �&�U %& 	����� K� ) 
 �&�U��.����  �(.  
� ��*����)� �E P��  
����1:  �$ ��* ������� ��������! ��� ?� C�=��� %& ��B��*�D�� .!���� .  

N �� V����$��� ��$�3#��  ����� *�= P��� �"  
�� +! +=���� ��$�3#��  ����� *�= �3�$� ����* �!�� ��B��*�D�� ���! ?� ���� �����   

N ��V*=������ ���*�� �G    
*�� !���� �G *=������ ���A������ ����� ���!   CH3NH3Cl  ��>����!�� ��*����� @&� O�����

�������:  
HCl + CH3NH2                   CH3NH3Cl                                       

����2  : �����'� �= Q�!��.  
N V�D�.�� �� V��>�� C� ��������� F�   

C� ���� ����4 +������ �*����� ��>�� C$�� %��� �D��! ��>�� NH3 
N ��G  V	����� ��� � ����� ��4 ����� ����� ���'� +���� ��= +���������� @�.�  !
 *�=

@�.'�.��
�
� ����� ���c� �"4   
@�./� ��4 C��� ���� F"�� ���������$ @�.� +���� 6*��
� �����'� �= Q�!��  

 ����$��� +��!4:�D��! W�
���
 W@�.'� W Q��!! .   
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� ��)� �E P��+��
 
�.�#�������   
����1  ��Q�! ��=%��
!�$�! ��� .  

  Q��! 6*��
� ����
!�$�!�� ����'� �= Q�!��BBT ���'� ��4 �3�'� �� C��� ���� F"�� 
 %3�� 	
� %&  

������� �����:  
 ���'� W ��P�� W +��������$ @�.�  W����
!�$�!��  .  

- ����'�"��� :���:  
NJF.B +! %& ).����� �=��B��� %G��  .  

 �=��B� %����� %&� W����
!�$�!�� �=��B� %G +�'�  !���� %& %G ��$!���� %& ).����� �=��B���
��*�G*�'� �=��B� E����� %&� �/��!��.  

NA�$�B� +�=V ��$!���� +!�� +G  .  
��� ��$!�� ��= ����� "4 ��$!����� +!�� A��G���B��� ������ %& �������� 5����� %& ���  

  
 6 �� �
E���� �� ��������� �I5 0�6 X 

6 – 1 �6���#�)� 
!�  
����1: ��
�'� ?� J���� +=���)  �G��4éthène  )CH2 = CH2((  
N VP��� �"�� ��$��/�  �$�� %& J���� *���  
N� V�D��= ���� %��� )*���� %G � +��!  
N !A�$�B4 +��� Q� V�B����� )*���� �= Q�!��$   
N F*����/� 	����� %& +=����� �"G +��
� Q�! V  

?����� %& +��!�� �=��� %& F*����/� 	����� %& 	����� �"G +��
�  
N     V+=����� ��*���  �!�C2H4 + H2O           C2H5OH 
6 � 2� ����
��� �� 4���� U  
����1 :  � %& J���� M.�$ �
�'� +�!�� +��!�� %3�� 	
(2-méthylbutan-2-ol)  
 )��� :  ��:��� 2-méthylbut-2-ène  �	��N� 	����  
N �� V�G��	#� *��� %��� )*���� %& ��B�� ���3� �"�  

���
��� )����#�� %& )������ �B�* ,��B�� )���� ��B�� ���3�        
N �� V �"��� ��*  ��� F"�� J���� %& �$�B��� @#�� �"� �'�*�B �$�"� �$��� J����  
N �� V���$!�� ��� ��* +=����� 	��� F� 	�
� ���$!�� ���  
N �G +=����� �� O����� 2-méthylbut-2-ène 6��$�� J�� �&�3Y$ )*���� I"G �= Q�!��  
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6 � 3� �)��� �	#��	H�% �.��
�   
      5-   ����H%�� 	#�@�  
       ����1: !� +�����/� )*
 )$ *
!7������#�(  

������ Q�� �������+��!�� �"D�  CH3CH2OH 
%��� +��! �G �$�B��� I"G %& 6*��
��� +��!��.  

N � F���� +G���= )��	#).����� �=��B���  "+���$�!��"V +�= .   
 %��� *�G*�'� %G ���*$�� %& �D��= +������ )*���� ��! +���$�!�� �=��B� ��= F���� )��	#�� 6��

�� ��= F����+���$�! . Q��!�� ?3� *�= �� ��! �DNPH ��/* %��#��$ ����  
�� ��= ������ 
������$�!�� ���P��� *�B� ��=.  

NVO�����  !���� ����� 6
� O���
� � VE*���� +=����� ��*���  �!�   
+!��� �� %G %��'� +��!�� F��� %��� ��>�����) ( R-CHO/RCH2OH  

+!��� �� ������� ��*����� R- CHO + 2H+ (aq) +2e-               R-CH2OH                            
5 R-CH2OH + 2MnO4- + 6H+                  5R- CHO + 2Mn2+ + 8H2O                                        

5 CH3OH + 2MnO4- + 6H+                5CH3CHO + 2Mn2+ + 8H2O                                      

����:  

 6��
���$�� �������$�*�G*�� W)*��#� )*
!� W ����� W   .   
:� ���	���� 	#�@�  

����2 :  )���	#�	H�%���  3� ����1� )���	���� 	#�@�(   
 	����� Q*G : )*��.$ *
!7� *�B�$ +�����9� )*
!�  

�� ��>�= %G O�����  !���� �D��4 %���� %��� ��>��������
!�$�!�� ����  
NE*���� +=����� ��*���  �!� . 

+!��� �� %G %��'� +��!�� F��� %��� ��>�����) ( R- COOH/RCH2OH  
+!��� �� ������� ��*�����  R- COOH + 4H+ (aq) +4e-             R-CH2OH  + H2O                  

5 R-CH2OH + 4MnO4- + 12H+            5R- COO H+ 4Mn2+ + 11H2O                                        
5 CH3OH + 4MnO4- + 6H+             5CH3CHO + 4Mn2+ + 11H2O                                       

 
������� ����6:%��
!�$�! ��� W )*��.$  

6 � 4� ��������� �� F����� 0�6 ��
��� �� ����  
��	�1:+��!�� ��B�G %������ .  
N ��V
������ ����= %G   

K��'� ).DB'� ��$� 
������ @�� �	
��$ ���*�� ��$ +���� %G 
������ ����=  
 V���$9�� ��	#��� ����= ��$� �D��$ @���� ��� 
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��	#��� ����= �� %G ���$9�� ��	#��� ����= ��$ @����  
 ����� ������� 	�#� ��= �$��U *����*��$ +���� %&  �� @*� ��	#��� �#��	� W 	>���� �� *����� 

 A����� A��$ �!�� 	����� ����!� ��$ +���� ����= %G ���$9� ����= ����$ W������'� ���#��	��
C����!� ��$ +���� ����� )*��  
��� �� �*D�  

N� !.!���� J���� ���! ��� � +��!�� ��$ +����� +=����� ��*���  �.  
R-CH2OH + HCl                    R-CH2-Cl + H2O              

 ��!� +�����9� ���� %&  
CH3-CH2OH + HCl                    CH3-CH2-Cl + H2O               

  
  


������	� �� &�
'�� 0.E ������  
 �����1:  
N ����$�!��� ��$�!�� %>���.�U J����
�$ ��$�!�� J����! %G ���3��� J����!��  
��� ��$!���� �� *#��� ��! ���3��� J����!�� �� ��! K��'� M����� ��#$ �= ���3��� J����!�� ��

 �$���� %& �D�=��� �!�� / � ����� *����� �� ?��� ���3���  
 �����2 :  

 R–%����� +�*B�� c�� :  
:�����  
$�H��


.H'���  

.����� &#�   
$�H��


�����  
Méthane  alcane CH4 
Propène  *��#�)�  C3H6 

Méthanol  *N�
��� CH3OH 
Propanone  *�������� C3H6O 
Méthanal  *�	�!	�)� CH2O 

Acide éthanoïque   +��
��

�.�#������� 

C2H4O2 
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�����3:  
1.  ���B��� C���� F"��  !���� )����� Q���� ������  �!�C5H12���
��� ?�  

CH3CH2CH2CH2CH3  W CH3-CHCH3-CH2-CH3 W CH3-C(CH3)2-CH3 
2. %���� %& 
�����  ��B�� ����:  

�  *�����Y� 
����� 
$�H��     : RCOR  ?  Ar H    ?   RH   ?   ROH  
� :����� �-! – CH2 -CH2 -CH3 CH30�#�   :������?   �����?��.����  ?�������    
N  !���� �"G – CH2 - CH3 CH3��
�     :��$��$ W�����$   W ��$  ����W ������$   
�  :����� �-! –CH= CH2  CH30�#�    :������ ?  :���-1-��?��.����   ?�������    
N 6�P�  
� IUPAC  !���� �"G Cl–CH= CH2 -CH CH3��
� :  

     2� ��.�4���.����?  2����.�3���.���� ?   3� ��.�2� ��.����? 3�� ��.�*��1��6  
N 6�P�  
� IUPAC  !���� �"G Cl2–CH= CH2 -C CH3��
� :  

     2 ? 2 – ��.� ����1 4���.����?   2 ? 2 – ��.� ����1 3���.����  
     3 ? 3 – ��.� ����1 2���.����?  3،3– ��.� ����1 *��–1-�6  
�����4:  
N ��B���$�	�� �D�$��!� �D��>�=� ��$!���� J��
� +�*B.  
  

2 ?3������� ��1�� ����1   
) *�����)� 
.��E (  
   

   *��– 2 – �6 )*��#�)� 
.��E   (  
  

  
3،3 ?��1�� ����1 5 ���� �� ��1��  )*�����)�(  

    
  
  
3W+���4 4 ����$�� +����  )����!�'�(  

  

  
  

    

     

  

  
  



 107 

�����5:  
������� 6�
B'� ��>�.B� )����� Q�� T����  �!� :��B���$�	�� �$��!��$ �D��� 6�. 

 
2,2-diméthylbutane   3-méthylpentane   2-méthylpropane   1,2-chlorométhyl propane pent-2-ène  

acide propanoïque 3-méthylbutan-1-ol 3-méthylbut-1-ène   2,2-diméthylpropan-1-ol butan-2-ol  
1,2-diméthylbenzène 1,3,5-trichlorobenzène 2-méthylpropan-2-ol acide 2-méthylpropanoïque but-1-yne 

  
2,2-diméthylbutane ،  CH3-C(CH3)2-CH2-CH3 

3-méthylpentane   ; CH3-CH2-CHCH3-CH2-CH3 
2-méthylpropane  CH3-CHCH3-CH3 

1,2-chlorométhyl propane   CH2Cl-CHCH3-CH3 
pent-2-ène CH3CH2CH=CH-CH3 

acide propanoïque CH3CH2COOH 
3-méthylbutan-1-ol  CH3-CHCH3-CH2-CH2OH 

3-méthylbut-1-ène  CH3-CHCH3-CH=CH2 
2,2-diméthylpropan-1-ol    CH3-C(CH3)2-CH2OH 

butan-2-ol CH3-CH2-CHOH-CH3 
acide 2-méthylpropanoïque CH3-CH2-CHCH3-COOH 

 
  �����6:   

��9�� W ���! ����9�W  2N��$��$ +���– 2N+�  
  

�( ������  *�E������
��>��� *������� �( 
�'�"���  
�����1:   
N W����� W �>	��    W����� W ����� )  COOHN ( W)  CHON (W) R-COH(  W) ROH (   
N  ) RNH2 ( W  
�����2:   

+��! %����� W +������ +��! W %��$��$ �.�4 W��$��$   – 2 N  +� W�����$ – 2 N  +�W  3N +���
����$ N 2NW +�  2������� ��1��2���?  
�����3:   
 �� +�=%��:  

N ��+��! %��'���� ����� )*
!c� +$��  %������ +��! )*
!c� +$�� ��U .   
 ����� )�� *
!��� 6� *�G*�'� ��4 )*
!'� *�= +���� ���'� ������ %& �� F� ����� *
!��� %��'� +��!��

) +!����� *�G*�'� ( %��
!�$�! ��� ��4 .��� +��!�� %& ����$ %& F���� / C�� ��! *
!��� / %���
��B��*�D�� ���"$ 	$��� / %��P��� ��$�!�� �� F� ��B��*�D�� ���" %��P��� ��$�!��.   

N�� ����U �B�* �/��!e�.B�� �.��� )*��.$ *�.� .   
   ��
�
�� +�	$ F� ��$�!�� ���" **= )*�$.$ *�*.� �/��!�� ����U �B�* )*��.  
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N �� ����U �B�*+��!e�.B�� �.��� %& m�$��#� �D� �������� ��$�!��*�D�� �� ��=� .  
  C� F� W������!�'�  
! ��4 +��� F"�� ��B
!'� �D�& *B���� %��� �����!�� ���P��� ��= +��!�� F����

����= ��$�
��D!.  
N  �"���$ �� �/��!J����$ .   

 ��$�!�� ���" **=  
� J���� %&  �"� �/��!�� ��$ ��
�
�� +�	  
� F� W +��!�� %& )*B������
 �� �$!� +���
!D�� ��
�
 ��!  �"� / +���
!D�� ����$ J���� %&  �"� +�����9� ���& W+��!�� ����$�!��

C�& )*B������ ��$�!�� ���" **= %& +�����9� ��
�
.  
N�� +=���� ?� �/��!6��*���� .   

�! W 6��*���� ?� �/��!�� +=���� 6��*���� ?� +�����9� +=��� %�& �*����� ?� ����3�� ������ +=��
��B��*�D�� .�U @�	�4 ?� 6��*���� �������4 +!���      

 N +#� ������/� �/��!��%>�.B�� �.��� )*��.$ .   
J���� %& C����4 +#� �/��!�� %& ��
�
�� %& ��$�!�� ���" **= *�. ���! �"G� 6��  

�����4:  
���
 
��� W . �	� .W �	� W 
���W 
���   
��� W 
���  W 
���) ������ ��=(  
�����5:    

  C2 H5 OH + NaNH2               C2 H5ONa  + NH3     2CH3 OH + 2 Na                  2 CH3 O Na + H2   CH3 CH(Br) CH3 + NaOH                   CH3 CH(OH) CH3 + NaBr             CH3 CH=CH2 + H2O                H2 SO4 + CH3 CH(OH) CH3 
C2 H5 OH  + HCl                  C2 H5 Cl + H2O    

  
pqEFr8:   +�����9�W����$ N 2N+�  W+���$��$W�4  W��    
pqEFr10: *�G*�'� ، C=O،  ����
'�W*�G*�'�  W����
'� W����! +���� +��4   
�����11: 
����	� W�	� W�	� W�	� W  
�����12: '����� ���3��� WA�����$�� )*$.�� ��� W3NA������$ ����$W ��� 3NA����$��$ +���W     
%�

�14: 
���W�	� W
��� W
��� W �	�  
%�

�15:   %������ ���'�W  ���� +��� +��4W  ���� +��4 %>���W���� +�$��$   W    

  


